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:MMEMory : COPY FILE1,FILE2

VoV

1-1

:CALCulate

IEEE
1-2

:ABORt g

IEEE

*CAL?
*CLS
*ESE

:CALCulate:MARKer:X

:CALCulate:MARKer:AOFF
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& dodood
GPIB Sposes
: ::::::::EES;:::::::::: B 58553
QL coooo
O000
0 5360
D _\©| ‘
1-3
4 Visual C++

\

GpibWrite("INSTrument “SANORMAL"");
GpibWrite("*RST");

GpibTimeOut (NORMAL TIME);
GpibWrite("CONFigure:SPECtrum:CHPower") ;
GpibWrite("FREQuency:BAND RF1B");
GpibWrite("FREQuency:CENTer 1GHz");
GpibWrite("FREQuency:SPAN 1MHz");
GpibWrite("*CAL?");

GpibRead(readBuf, MAX BUF);
printf("*CAL? result = %s\n", readBuf);
GpibWrite("CHPower:BANDwidth:INTegration 300kHz");
GpibWrite("SPECtrum:AVERage ON");

Z
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SYSTEM — Remote Setup GPIB
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UTILITY
Display Brightness
Reset All to Factory Defaults
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Connection Mode..—— GPIB Port
TekVISA
1-8 Remote Setup
Remote Setup
Remote Interface (On) (Off)
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GPIB Address — GPIB
Connection Mode  GPIB Port
0 30 1
Connection Mode — (GPIB ) (TekVISA)
m  GPIB Port — GPIB
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m  TekVISA — TekVISA Ethernet LAN
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Windows XP
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Cancel - Back
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SCPI

SCPI (Standard Commands for Programmable Instruments)

SCPI

LEVel

2-1

2-2 RSA3303A

SCPI

TRIGger — —e—-—

SEQulence ‘7
I I

POLarity  SOURce

SCPI
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SCPI )

2-1 TRIGger LEVel POLarity SOURce
SCPI TRIGger

2-35

TRIGger:SEQuence:SOURce EXT 2-1
SCPI

?)

TRIGger:SEQuence:SOURce? 2-1
SCPI

RSA3300

2-2:

:DISPlay:OVlew:SGRam:X:SCALe:SPAN? 10.0E+06
:SENSe:AVERage:TYPE? RMS

*CAL?



<file_ name>

<NRf>
RSA3300
ANSI/IEEE 488.2-1987 2-3
2-3:
1 #512234XXXXX...
5 (12234)
( )
#0xxx...<LF><&EOI>
ON 1 OFF 0
MIN  MAX
2 2 #B0110
8 8 #Q57 #Q3
16 2 16 (0 9,A,B,C,D,E,F) #HAA  #H1
NR1 23 01 15 -1
NR2 2 1.2 3.141516 -6.5
NR3 2 3.1415E-9 -16.1E5
NRf 2 NR1, NR2, NR3 NR1, NR2, NR3
10
(string) 4 “Test 1, 2, 3”
1 ANSI/IEEE 488.2
2 ANSVIEEE 488.2-1992
3 NR1

8 16
4 ANSI/IEEE 488.2
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SCPI

RSA3300 ANSI/IEEE 488.2-1987
SCPI

<NRf>
OFF | ON | O | 1 | <NRf>
<NRf> 0 (OFF) 1 (ON)

MAXimum  MINimum

<NRf> MAXimum  MINimum

(100%)

:TRIGger[:SEQuence] :LEVe1:1F MAXimum

<header>? { MAXimum | MINimum }

:TRIGger[:SEQuence] :LEVe1:1F? MAXimum

100
UP DOWN
[:SENse]:FREQuency:CENTer (1= 2-414 )
UP DOWN UP DOWN

[:SENse] : FREQuency:CENTer:STEP:AUTO
[:SENse] : FREQuency:CENTer:STEP[: INCRement]



(LE, ASCII 10) ~ ASCII 127 255

SCPI
CALCulate3:MARKer:Y 50
CALC3:MARK:Y 50
2-2
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G)

) 2-3

:CALC:MARK:X 100MHz;:SENS:AVER:STAT ON;:DISP:WAV:Y:PDIV?;:READ:SPEC:CFR?
N U U U J

I I | I

100;1.2E+09

S

2-3

2-4
2 (TRIG:SEQue-
nce)

:TRIG:SEQ:MODE NORM;:TRIG:SEQ:SLOP NEG;:TRIG:SEQ:POS 50
N VAN DASN )

1 i i

:TRIG:SEQ:MODE NORM;:SLOP NEG;POS 50
N N J

T T




S

<NR3>
SI SI  Systeme International d’Unites
Standard 200.0E-3 1.2E+6
200mV 1.2MHz
2-4:
dB
dBm
DEG
Hz
PCT %
s
\
SI
2-5: Sl
A F P N u M K MA' |G T PE EX
10-18 [10-15 [10-12 [10-9 [10-6 [10-3 [10*3 [10*6 [10*® [10+12 [10+15 [10+18
Hz MA M MHz

SI
15MHz

15.0E6 1.5E7Hz 15000000 15000000Hz 15MHz
“15M”

SI

170mhz 170mHz 170MHz
250mv  250mV 250MV

2-8 RSA3303A RSA3308A 3GHz 8GHz



SCPI 3

. ) (=7

OUTPUT: FILTER:LPASS:FREQUENCY 200MHZ

output:filter:Ipass:frequency 200mhz

OUTPUT:filter:Tpass:FREQUENCY 200MHz

OUTPUT: FILTER:LPASS:FREQUENCY 200MHZ
OUTPUT: FILTER: LPASS:FREQ UENCY 200MHZ



IEEE 488.2

ANSI/IEEE 488.2

RSA3300

IEEE 488.2 *)
IEEE 488.2

IEEE 488.2

*ESE 16
*CLS

*ESR?
*IDN?

2-10 RSA3303A RSA3308A 3GHz 8GHz



CALCulate CALCulatel CALCu-
late2 CALCulate3 CALCulate4
CALCuTatel:MARKer:MAX
CALCulate2:MARKer:MAX

CALCulate<x> (%)
1
2-6:

CALCulate<x> <x>=1 2 3 4
DLINe<x> <x> =1 2

1 2
VLINe<x> <x> =1 2

1 2
MARKer<x> <x> =1 2

1 2

TRACe<x> <x> =1 2
DATA<x> 1 2
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2-7:

c<(9)>*

2-35

:INSTrument[:SELect] = 2-303

S/A

SANORMAL

SASGRAM

SARTIME

SAZRTIME

DEMOD

DEMADEM

DEMDDEM

21

DEMRFID

RFID

21

TIME

TIMCCDF

CCDF

TIMTRAN

TIMPULSE

TIMSSOURCE

21

RSA3300

rammable Instruments) 1999.0

SCPI (Standard Commands for Prog-
IEEE Std 488.2-1987

2-1
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2-8:

IEEE IEEE Std 488.2—1987

:ABORt

:CALCulate

:CALibration

:CONFigure

:DISPlay

:FETCh

:FORMat

:HCOPy

:INITiate

:INPut

:INSTrument

:MMEMory

:PROGram

:READ

:SENSe

:STATus

:SYSTem

:TRACe 1,2

:TRIGger

:UNIT
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HD:A

IEEE

:ABORt

:CALCulate

2-11: :CALCulate

IEEE 488.2

2-9: IEEE

*)

*CAL?

*CLS

*ESE(?)

ESER

*ESR?

SESR

*IDN?

*OPC(?)

*OPT?

*RST

*SRE(?)

SRER

*STB?

*TRG

*TST?

*WAI

2-10: :ABORt

:ABORt

:CALCulate<x>:DLINe<y>(?)

:CALCulate<x>:DLINe<y>:STATe(?)

:CALCulate <x>:MARKer:AOFF

:CALCulate<x>:MARKer<y>:MAXimum

:CALCulate<x>:MARKer<y>:MODE(?)

:CALCulate<x>:MARKer<y>:PEAK:HIGHer

:CALCulate<x>:MARKer<y>:PEAK:LEFT
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2-11: :CALCulate

:CALCulate<x>:MARKer<y>:PEAK:LOWer

:CALCulate<x>:MARKer<y>:PEAK:RIGHt

:CALCulate<x>:MARKer<y>:PTHReshold(?)

:CALCulate<x>:MARKer<y>:ROFF

:CALCulate<x>:MARKer<y>[:SET]:CENTer

:CALCulate<x>:MARKer<y>[:SET]:MEASurement

:CALCulate<x>:MARKer<y>[:SET]:RCURsor

:CALCulate<x>:MARKer<y>[:STATe]

:CALCulate<x>:MARKer<y>:T(?) 21

:CALCulate<x>:MARKer<y>:TOGGle

:CALCulate<x>:MARKer<y>:TRACe(?)

:CALCulate<x>:MARKer<y>:X(?)

:CALCulate<x>:MARKer<y>:Y(?)

:CALCulate<x>:VLINe<y>(?)

:CALCulate<x>:VLINe<y>:STATe(?)

:CALibration

2-12: :CALibration

:CALibration[:ALL](?)
:CALibration:AUTO(?) RF
:CALibration:DATA:DEFault
:CALibration:OFFSet:BASebanddc(?) DC
:CALibration:OFFSet:CENTer(?)
:CALibration:OFFSet:IQINput(?) 03 Q
:CALibration:RF(?) RF
:CONFigure

2-13: :CONFigure
:CONFigure:ADEMod:AM AM
:CONFigure:ADEMod:FM FM
:CONFigure:ADEMod:PM PM
:CONFigure:ADEMod:PSPectrum
:CONFigure:CCDF CCDF
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HD:A

2-13: :CONFigure

:CONFigure:DDEMod 21

:CONFigure:OVlew

:CONFigure:PULSe

:CONFigure:RFID 21

RFID

:CONFigure:SPECtrum

:CONFigure:SPECtrum:ACPower

ACPR

:CONFigure:SPECtrum:CFRequency

:CONFigure:SPECtrum:CHPower

:CONFigure:SPECtrum:CNRatio

C/N

:CONFigure:SPECtrum:EBWidth

:CONFigure:SPECtrum:OBWidth

oBW

:CONFigure:SPECtrum:SPURIious

:CONFigure:SSOurce 21

:CONFigure:TFRequency:RTIMe

:CONFigure:TFRequency:SGRam

:CONFigure:TRANsient:FVTime

:CONFigure:TRANsient:IQVTime

:CONFigure:TRANsient:PVTime

:DISPlay

2-14: :DISPlay

:DISPlay:CCDF

CCDF

:DISPlay:CCDF:LINE:GAUSsian[:STATe](?)

:DISPlay:CCDF:LINE:REFerence[:STATe](?)

:DISPlay:CCDF:LINE:REFerence:STORe

CCDF

:DISPlay:CCDF:X[:SCALe]:AUTO(?)

:DISPlay:CCDF:X[:SCALe]:MAXimum(?)

:DISPlay: CCDF:X[:SCALe]:OFFSet(?)

:DISPlay:CCDF:Y[:SCALe]:FIT

:DISPlay:CCDF:Y[:SCALe]:FULL

:DISPlay:CCDF:Y[:SCALe]:MAXimum(?)

:DISPlay:CCDF:Y[:SCALe]:MINimum(?)

:DISPlay:DDEMod 1

:DISPlay:DDEMod:CCDF:LINE:GAUSsian[:STATe](?)

CCDF

:DISPlay:DDEMod:MVIew:DSTart(?)

ASK/FSK/GFSK

:DISPlay:DDEMod:MVIew:FORMat(?)

:DISPlay:DDEMod:MVlew:RADix(?)
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2-14: :DISPlay

:DISPlay:DDEMod:MView:X[:SCALe]:OFFSet(?)

:DISPlay:DDEMod:MVlew:X[:SCALe]:RANGe(?)

:DISPlay:DDEMod:MVlew:Y[:SCALe]:FIT

:DISPlay:DDEMod:MVlew:Y[:SCALe]:FULL

:DISPlay:DDEMod:MView:Y[:SCALe]:MAXimum(?)

CCDF

:DISPlay:DDEMod:MView:Y[:SCALe]:MINimum(?)

CCDF

:DISPlay:DDEMod:MVlew:Y[:SCALe]:OFFSet(?)

:DISPlay:DDEMod:MVlew:Y[:SCALe]:RANGe(?)

:DISPlay:DDEMod:NLINearity:LINE:BFIT[:STATe](?)

AM/AM  AM/PM

:DISPlay:DDEMod:NLINearity:LINE:REFerence[:STATe](?)

AM/AM  AM/PM

:DISPlay:DDEMod:NLINearity:MASK[:STATe] (?)

AM/AM

:DISPlay:DDEMod:SVlew:DSTart(?)

ASK/FSK/GFSK

:DISPlay:DDEMod:SVlew:FORMat(?)

:DISPlay:DDEMod:SVlew:HSSHift(?)

Q 1/2

:DISPlay:DDEMod:SVIew:RADix(?)

:DISPlay:DDEMod:SView:X[:SCALe]:OFFSet(?)

:DISPlay:DDEMod:SVlew:X[:SCALe]:RANGe(?)

:DISPlay:DDEMod:SVlew:Y[:SCALe]:FIT

:DISPlay:DDEMod:SVlew:Y[:SCALe]:FULL

:DISPlay:DDEMod:SVlew:Y[:SCALe]:MAXimum(?)

CCDF

:DISPlay:DDEMod:SView:Y[:SCALe]:MINimum(?)

CCDF

:DISPlay:DDEMod:SVlew:Y[:SCALe]:OFFSet(?)

:DISPlay:DDEMod:SVlew:Y[:SCALe]:RANGe(?)

:DISPlay:OView

DEMOD / TIME

:DISPlay:OView:FORMat(?)

:DISPlay:OVlew:OTINdicator(?)

:DISPlay:OVlew:SGRam:COLor[:SCALe]:OFFSet(?)

:DISPlay:OVlew:SGRam:COLor[:SCALe]:RANGe(?)

:DISPlay:OVlew:SGRam:X[:SCALe]:OFFSet(?)

:DISPlay:OView:SGRam:X[:SCALe]:SPAN(?)

:DISPlay:OVlew:SGRam:Y[:SCALe]:OFFSet(?)

:DISPlay:OVlew:SGRam:Y[:SCALe]:PLINe(?)

:DISPlay:OView:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:OView:WAVeform:X[:SCALe]:PDIVision(?)

:DISPlay:OVlew:WAVeform:Y[:SCALe]:FIT

:DISPlay:OView:WAVeform:Y[:SCALe]:FULL

:DISPlay:OVlew:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPlay:OView:WAVeform:Y[:SCALe]:PDIVision(?)

:DISPlay:OVlew:ZOOM:COLor[:SCALe]:OFFSet(?)

:DISPlay:OView:ZOOM:COLor[:SCALe]:RANGe(?)

:DISPlay:OView:ZOOM:X[:SCALe]:OFFSet(?)

:DISPlay:OVlew:ZOOM:X[:SCALe]:SPAN(?)
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HD:A

2-14: :DISPlay

:DISPlay:OVIew:ZOOM:Y[:SCALe]:OFFSet(?)

:DISPlay:OVlew:ZOOM:Y[:SCALe]:PLINe(?)

:DISPlay:PULSe:MView|:SView

:DISPlay:PULSe:MVlew:RESult: CHPower(?)

:DISPlay:PULSe:MVIew:RESult:DCYCle(?)

:DISPlay:PULSe:MVIew:RESult:EBWidth(?)

EBW

:DISPlay:PULSe:MVlew:RESult:FREQuency(?)

:DISPlay:PULSe:MVlew:RESult:OBWidth(?)

oBW

:DISPlay:PULSe:MVlew:RESult:OORatio(?)

:DISPlay:PULSe:MVIew:RESult:PERiod(?)

:DISPlay:PULSe:MVlew:RESult:PHASe(?)

:DISPlay:PULSe:MVlew:RESult:PPOWer(?)

:DISPlay:PULSe:MVlew:RESult:RIPPle(?)

:DISPlay:PULSe:MVlew:RESult:WIDTh(?)

:DISPlay:PULSe:SView:FORMat(?)

:DISPlay:PULSe:SVlew:GUIDelines(?)

:DISPlay:PULSe:SView:RANGe(?)

:DISPlay:PULSe:SVlew:RESult(?)

:DISPlay:PULSe:SVlew:SELect(?)

:DISPlay:PULSe:SPECtrum

:DISPlay:PULSe:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPlay:PULSe:SPECtrum:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:FIT

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:FULL

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:OFFSet(?)

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:PDIVision(?)

:DISPlay:PULSe:WAVeform

:DISPlay:PULSe:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:WAVeform:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:PULSe:WAVeform:Y[:SCALe]:FIT

:DISPlay:PULSe:WAVeform:Y[:SCALe]:FULL

:DISPlay:PULSe:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPlay:PULSe:WAVeform:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:RFID:DDEMod 1

RFID

:DISPlay:RFID:DDEMod:MVIew:AREA[:PERCent](?)

:DISPlay:RFID:DDEMod:MVIew:BURSt[:NUMBer](?)

:DISPlay:RFID:DDEMod:MVlew:EDGE[:NUMBer](?)

:DISPlay:RFID:DDEMod:MVlew:ENVelope[:NUMBer](?)

:DISPlay:RFID:DDEMod:MVIew:GUIDeline[:STATe] (?)

:DISPlay:RFID:DDEMod:MViIew:X[:SCALe]:OFFSet(?)

:DISPlay:RFID:DDEMod:MVlew:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:RFID:DDEMod:MVlew:X[:SCALe]:RANGe(?)
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2-14: :DISPlay

:DISPlay:RFID:DDEMod:MVIew:Y[:SCALe]:FIT

:DISPlay:RFID:DDEMod:MViIew:Y[:SCALe]:FULL

:DISPlay:RFID:DDEMod:MViIew:Y[:SCALe]:OFFSet(?)

:DISPlay:RFID:DDEMod:MVlIew:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:RFID:DDEMod:MVIew:Y[:SCALe]:RANGe(?)

:DISPlay:RFID:DDEMod:SVIew:AREA[:PERCent](?)

:DISPlay:RFID:DDEMod:SVIew:BURSt[:NUMBer](?)

:DISPlay:RFID:DDEMod:SVIew:EDGE[:NUMBer](?)

:DISPlay:RFID:DDEMod:SVIew:ENVelope[:NUMBer] (?)

:DISPlay:RFID:DDEMod:SVIew:FORMat(?)

:DISPlay:RFID:DDEMod:SVIew:GUIDeline[:STATe](?)

:DISPlay:RFID:DDEMod:SVlew:X[:SCALe]:OFFSet(?)

:DISPlay:RFID:DDEMod:SVlew:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:RFID:DDEMod:SView:X[:SCALe]:RANGe(?)

:DISPlay:RFID:DDEMod:SVIew:Y[:SCALe]:FIT

:DISPlay:RFID:DDEMod:SVIew:Y[:SCALe]:FULL

:DISPlay:RFID:DDEMod:SVlew:Y[:SCALe]:OFFSet(?)

:DISPlay:RFID:DDEMod:SVlew:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:RFID:DDEMod:SView:Y[:SCALe]:RANGe(?)

:DISPlay:RFID:SPECtrum 1

RFID

:DISPlay:RFID:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPlay:RFID:SPECtrum:X[:SCALe]:PDIVision(?)

:DISPlay:RFID:SPECtrum:Y[:SCALe]:FIT

:DISPlay:RFID:SPECtrum:Y[:SCALe]:FULL

:DISPlay:RFID:SPECtrum:Y[:SCALe]:OFFSet(?)

:DISPlay:RFID:SPECtrum:Y[:SCALe]:PDIVision(?)

:DISPlay:RFID:WAVeform 1

RFID

:DISPlay:RFID:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:RFID:WAVeform:X[:SCALe]:PDIVision(?)

:DISPlay:RFID:WAVeform:Y[:SCALe]:FIT

:DISPlay:RFID:WAVeform:Y[:SCALe]:FULL

:DISPlay:RFID:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPlay:RFID:WAVeform:Y[:SCALe]:PDIVision(?)

:DISPlay:SPECtrum

:DISPlay:SPECtrum:BMARKker:STATe(?)

:DISPlay:SPECtrum:GRATicule:GRID(?)

:DISPlay:SPECtrum:MLINe:AMPLitude:INTerval(?)

:DISPlay:SPECtrum:MLINe:AMPLitude:OFFSet(?)

:DISPlay:SPECtrum:MLINe:AMPLitude[:STATe](?)

:DISPlay:SPECtrum:MLINe:ANNotation[:STATe](?)

:DISPlay:SPECtrum:MLINe:FREQuency:INTerval(?)

:DISPlay:SPECtrum:MLINe:FREQuency:OFFSet(?)
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HD:A

2-14: :DISPlay

:DISPlay:SPECtrum:MLINe:FREQuency[:STATe](?)

:DISPlay:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPlay:SPECtrum:X[:SCALe]:PDIVision(?)

:DISPlay:SPECtrum:Y[:SCALe]:FIT

:DISPlay:SPECtrum:Y[:SCALe]:FULL

:DISPlay:SPECtrum:Y[:SCALe]:OFFSet(?)

:DISPlay:SPECtrum:Y[:SCALe]:PDIVision(?)

:DISPlay:SSOurce:MView 1

:DISPlay:SSOurce:MVlew:X[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:MVlew:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:MVIew:X[:SCALe]:RANGe(?)

:DISPlay:SSOurce:MVlew:X[:SCALe]:STARt(?)

:DISPlay:SSOurce:MVlew:X[:SCALe]:STOP(?)

:DISPlay:SSOurce:MVlew:Y[:SCALe]:FIT

:DISPlay:SSQurce:MVlew:Y[:SCALe]:FULL

:DISPlay:SSOurce:MView:Y[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:MVlew:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:MVlew:Y[:SCALe]:RANGe(?)

:DISPlay:SSOurce:SView 1

:DISPlay:SSQurce:SVlew:COLor[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SVlew:COLor[:SCALe]:RANGe(?)

:DISPlay:SSOurce:SVlew:FORMat(?)

:DISPlay:SSOurce:SVlew:X[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SVlew:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:SVlew:X[:SCALe]:RANGe(?)

:DISPlay:SSOurce:SVIew:X[:SCALe]:STARt(?)

:DISPlay:SSOurce:SVlew:X[:SCALe]:STOP(?)

:DISPlay:SSOurce:SVlew:Y[:SCALe]:FIT

:DISPlay:SSOurce:SVlew:Y[:SCALe]:FULL

:DISPlay:SSQurce:SVlew:Y[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SVlew:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:SVlew:Y[:SCALe]:PLINe(?)

:DISPlay:SSOurce:SVlew:Y[:SCALe]:RANGe(?)

:DISPlay:SSOurce:SPECtrum 1

:DISPlay:SSQOurce:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SPECtrum:X[:SCALe]:PDIVision(?) (/div)
:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:FIT

:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:FULL
:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:OFFSet(?)
:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:PDIVision(?) (/div)
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2-14: :DISPlay
:DISPlay:SSOurce:TFRequency 1 3
:DISPlay:SSOurce:TFRequency:NGRam:COLor[:SCALe] (C/N)
:OFFSet(?)
:DISPlay:SSOurce:TFRequency:NGRam:COLor[:SCALe] (C/N)

:RANGe(?)

:DISPlay:SSOurce:TFRequency:NGRam:X[:SCALe]:STARt(?)

:DISPlay:SSOurce:TFRequency:NGRam:X[:SCALe]:STOP(?)

:DISPlay:SSOurce:TFRequency:NGRam:Y[:SCALe]
:OFFSet(?)

:DISPlay:SSOurce:TFRequency:NGRam:Y[:SCALe]:PLINe(?)

:DISPlay:SSOurce:WAVeform 1

:DISPlay:SSOurce:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:WAVeform:X[:SCALe]:PDIVision(?)

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:FIT

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:FULL

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:PDIVision(?)

:DISPlay:TFRequency

:DISPlay:TFRequency:SGRam:COLor[:SCALe]:OFFSet(?)

:DISPlay:TFRequency:SGRam:COLor[:SCALe]:RANGe(?)

:DISPlay:TFRequency:SGRam:MLINe:ANNotation[:STATe] (?)

:DISPlay:TFRequency:SGRam:MLINe:FREQuency:INTerval(?)

:DISPlay:TFRequency:SGRam:MLINe:FREQuency:OFFSet(?)

:DISPlay:TFRequency:SGRam:MLINe:FREQuency[:STATe](?)

:DISPlay:TFRequency:SGRam:MLINe: TIME:INTerval(?)

:DISPlay:TFRequency:SGRam:MLINe:TIME:OFFSet(?)

(7
:DISPlay:TFRequency:SGRam:MLINe:TIME[:STATe] (?)

:DISPlay:TFRequency:SGRam:X[:SCALe]:OFFSet(?)

:DISPlay:TFRequency:SGRam:X[:SCALe]:SPAN(?)
:DISPlay:TFRequency:SGRam:Y[:SCALe]:OFFSet(?)

:DISPlay:TFRequency:SGRam:Y[:SCALe]:PLINe(?)

:DISPlay[:VIEW]

:DISPlay[:VIEW]:BRIGhtness(?)

:DISPlay[:VIEW]:FORMat(?)

:DISPlay:WAVeform

:DISPlay:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:WAVeform:X[:SCALe]:PDIVision(?)

:DISPlay:WAVeform:Y[:SCALe]:FIT

:DISPlay:WAVeform:Y[:SCALe]:FULL

:DISPlay:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPlay:WAVeform:Y[:SCALe]:PDIVision(?)
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HD:A

:FETCh

:READ

2-15: :FETCh
:FETCh:ADEMod:AM? AM
:FETCh:ADEMod:AM:RESult? AM
:FETCh:ADEMod:FM? FM
:FETCh:ADEMod:FM:RESult? FM
:FETCh:ADEMod:PM? PM
:FETCh:ADEMod:PSPectrum?
:FETCh:CCDF? CCDF
:FETCh:DDEMod? 1
:FETCh:DISTribution:CCDF? CCDF
:FETCh:OVlew?
:FETCh:PULSe?
:FETCh:PULSe:SPECtrum?
:FETCh:PULSe:TAMPIlitude?
:FETCh:PULSe:TFRequency?
:FETCh:RFID? 1 RFID
:FETCh:RFID:ACPower? 1 ACPR
:FETCh:RFID:SPURious? 1
:FETCh:RFID:SPECtrum:ACPower? 1 ACPR
:FETCh:RFID:SPECtrum:SPURious? 1
:FETCh:SPECtrum?
:FETCh:SPECtrum:ACPower? ACPR
:FETCh:SPECtrum:CFRequency?
:FETCh:SPECtrum:CHPower?
:FETCh:SPECtrum:CNRatio? C/N
:FETCh:SPECtrum:EBWidth?
:FETCh:SPECtrum:0OBWidth? oBW
:FETCh:SPECtrum:SPURious?
:FETCh:SSOurce? 1
:FETCh:SSOurce:CNVFrequency? 1 CNvs
:FETCh:SSOurce:CNVTime? 1 C/Nvs

:FETCh:SSOurce:IPNVtime? 1

VS

:FETCh:SSOurce:RJVTime? 1

VS

:FETCh:SSOurce:SPECtrum? 1

:FETCh:SSOurce:TRANsient:FVTime? 1
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2-15: :FETCh

:FETCh:TRANSsient:FVTime?

:FETCh:TRANsient:IQVTime?

I/Q

:FETCh:TRANsient:PVTime?

1 21

:FORMat

2-16: :FORMat

:FORMat:BORDer(?)

:FORMat[:DATA](?)

:HCOPy

2-17: :HCOPy

:HCOPy:BACKground

:HCOPy:DESTination

:HCOPy[:IMMediate]

:INITiate

2-18: :INITiate

:INITiate:CONTinuous(?)

INITiate[:IMMediate]

:INITiate:RESTart
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HD:A

:INPut

2-19: :INPut

:INPut:ALEVel

:INPut:AT Tenuation(?)

:INPut:ATTenuation:AUTO(?)

:INPut:COUPIing(?) 03 1Q

:INPut:MIXer(?)

:INPut:MLEVel(?)

:INSTrument

2-20: :INSTrument

:INSTrument:CATalog?

:INSTrument[:SELect]

:MMEMory

2-21: :MMEMory

:MMEMory:COPY 1

:MMEMory:DELete

:MMEMory:LOAD:CORRection

:MMEMory:LOAD:IQT 1Q

:MMEMory:LOAD:STATe

:MMEMory:LOAD:TRACe

:MMEMory:NAME

:MMEMory:STORe:CORRection

:MMEMory:STORe:IQT Q

:MMEMory:STORe:PULSe

:MMEMory:STORe:STABle

:MMEMory:STORe:STATe

:MMEMory:STORe:TRACe
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:PROGram

2-22: :PROGram

:PROGram:CATalog?

:PROGram[:SELected]:DELete[:SELected]

:PROGram[:SELected]:EXECute

:PROGram[:SELected]:NAME(?)

:PROGram:NUMBer(?)

:PROGram:STRing(?)

:READ

:FETCh

2-23: :READ
:READ:ADEMod:AM? AM
:READ:ADEMod:AM:RESult? AM
:READ:ADEMod:FM? FM
:READ:ADEMod:FM:RESult? FM
:READ:ADEMod:PM? PM
:READ:ADEMod:PSPectrum?
:READ:CCDF? CCDF
:READ:DDEMod? 1
:READ:DISTribution:CCDF? CCDF
:READ:OView?

:READ:PULSe?

:READ:PULSe:SPECtrum?

:READ:PULSe: TAMPIlitude?

:READ:PULSe:TFRequency?

:READ:RFID:ACPower? 1 ACPR
:READ:RFID:SPURious? 1
:READ:RFID:SPECtrum:ACPower? 1 ACPR

:READ:RFID:SPECtrum:SPURious? 1

:READ:SPECtrum?

:READ:SPECtrum:ACPower? ACPR

:READ:SPECtrum:CFRequency?

:READ:SPECtrum:CHPower?
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HD:A

2-23: :READ

:READ:SPECtrum:CNRatio?

C/N

:READ:SPECtrum:EBWidth?

:READ:SPECtrum:0OBWidth?

oBW

:READ:SPECtrum:SPURious?

:READ:SSOurce? 1

:READ:SSOurce:SPECtrum? 1

:READ:SSOurce:TRANsient:FVTime? 1

:READ:TRANSsient:FVTime?

:READ:TRANSsient:IQVTime?

1/Q

:READ:TRANSsient:PVTime?
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:SENSe

2-24: :SENSe

[:SENSe]:ACPower

ACPR

[:SENSe]:ACPower:BANDwidth | :BWIDth:ACHannel(?)

[:SENSe]:ACPower:BANDwidth | :BWIDth:INTegration(?)

[:SENSe]:ACPower:CSPacing(?)

[:SENSe]:ACPower:FILTer:COEFficient(?)

[:SENSe]:ACPower:FILTer: TYPE(?)

[:SENSe]:ADEMod

[:SENSe]:ADEMod:AM:CADetection(?)

[:SENSe]:ADEMod:BLOCK(?)

[:SENSe]:ADEMod:CARRier:OFFSet(?)

FM

[:SENSe]:ADEMod:CARRier:SEARch(?)

FM

[:SENSe]:ADEMod:FM:THReshold(?)

FM

[:SENSe]:ADEMod[:IMMediate]

[:SENSe]:ADEMod:LENGth(?)

[:SENSe]:ADEMod:MODulation(?)

[:SENSe]:ADEMod:OFFSet(?)

[:SENSe]:ADEMod:PM:THReshold(?)

PM

[:SENSe]:AVERage

[:SENSe]:AVERage:CLEar

[:SENSe]:AVERage:COUNt(?)

[:SENSe]:AVERage[:STATe] (?)

[:SENSe]:AVERage:TCONtrol(?)
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2-24: :SENSe

[:SENSe]:BSIZe

[:SENSe]:BSIZe(?)

[:SENSe]:CCDF

CCDF

[:SENSe]: CCDF:BLOCK(?)

[:SENSe]:CCDF:CLEar

[:SENSe]:CCDF:RMEasurement

[:SENSe]: CCDF:THReshold(?)

[:SENSe]:CFRequency

[:SENSe]:CFRequency:CRESolution(?)

[:SENSe]:CHPower

[:SENSe]:CHPower:BANDwidth | :BWIDth:INTegration(?)

[:SENSe]:CHPower:FILTer: COEFficient(?)

[:SENSe]:CHPower:FILTer: TYPE(?)

[:SENSe]:CNRatio

C/N

[:SENSe]:CNRatio:BANDwidth | :BWIDth:INTegration(?)

[:SENSe]:CNRatio:BANDwidth | :BWIDth:NOISe(?)

[:SENSe]:CNRatio:FILTer: COEFficient(?)

[:SENSe]:CNRatio:FILTer:TYPE(?)

[:SENSe]:CNRatio:OFFSet(?)

[:SENSe]:CORRection

[:SENSe]:CORRection:DATA(?)

[:SENSe]:CORRection:DELete

[:SENSe]:CORRection:OFFSet[:MAGNitude] (?)

[:SENSe]:CORRection:OFFSet:FREQuency(?)

[:SENSe]:CORRection[:STATe](?)

[:SENSe]:CORRection:X:SPACing(?)

[:SENSe]:CORRection:Y:SPACing(?)

[:SENSe]:DDEMod 1

[:SENSe]:DDEMod:BLOCK(?)

[:SENSe]:DDEMod:CARRier:OFFSet(?)

[:SENSe]:DDEMod:CARRier:SEARch(?)

[:SENSe]:DDEMod:DECode(?)

[:SENSe]:DDEMod:FDEViation(?)

FSK/GFSK 2

[:SENSe]:DDEMod:FDEViation:AUTO(?)

[:SENSe]:DDEMod:FILTer:ALPHa(?)

(0/BT)

[:SENSe]:DDEMod:FILTer:MEASurement(?)

[:SENSe]:DDEMod:FILTer:REFerence(?)

[:SENSe]:DDEMod:FORMat(?)

[:SENSe]:DDEMod[:IMMediate]

[:SENSe]:DDEMod:LENGth(?)

[:SENSe]:DDEMod:MDEPth(?)

ASK 2

[:SENSe]:DDEMod:MDEPth:AUTO(?)
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HD:A

2-24: :SENSe

[:SENSe]:DDEMod:NLINearity:COEFficient(?)

AM/AM  AM/PM

[:SENSe]:DDEMod:NLINearity:HDIVision(?)

CCDF/PDF

[:SENSe]:DDEMod:NLINearity:LSRegion[:SET](?)

AM/AM  AM/PM

[:SENSe]:DDEMod:NLINearity:LSRegion:UNIT(?)

AM/AM  AM/PM

[:SENSe]:DDEMod:OFFSet(?)

[:SENSe]:DDEMod:PRESet(?)

[:SENSe]:DDEMod:SRATe(?)

[:SENSe]:EBWidth

EBW

[:SENSe]:EBWidth:XDB(?)

[:SENSe]:FEED

[:SENSe]:FEED

RF 1Q

[:SENSe]:FREQuency

[:SENSe]:FREQuency:BAND?

[:SENSe]:FREQuency:CENTer(?)

[:SENSe]:FREQuency:CENTer:STEP:AUTO(?)

[:SENSe]:FREQuency:CENTer:STEP[:INCRement](?)

[:SENSe]:FREQuency:CHANnel(?)

[:SENSe]:FREQuency:CTABIle:CATalog?

[:SENSe]:FREQuency:CTABIe[:SELect](?)

[:SENSe]:FREQuency:SPAN(?)

[:SENSe]:FREQuency:STARt(?)

[:SENSe]:FREQuency:STOP(?)

[:SENSe]:0BWidth

oBW

[:SENSe]:0BWidth:PERCent(?)

[:SENSe]:PULSe

[:SENSe]:PULSe:BLOCK(?)

[:SENSe]:PULSe:CHPower:BANDwidth | :BWIDth:INTegration
?)

[:SENSe]:PULSe:CRESolution(?)

[:SENSe]:PULSe:EBWidth:XDB(?)

EBW

[:SENSe]:PULSe:FFT:COEFficient(?)

FFT

[:SENSe]:PULSe:FFT:WINDow[: TYPE](?)

FFT

[:SENSe]:PULse:FILTer:BANDwidth | :BWIDth(?)

[:SENSe]:PULSe:FILTer: COEFficient(?)

o/BT

[:SENSe]:PULSe:FILTer:MEASurement(?)

[:SENSe]:PULSe:FREQuency:OFFSet(?)

[:SENSe]:PULSe:FREQuency:RECovery(?)

[:SENSe]:PULSe[:IMMediate]

[:SENSe]:PULSe:OBWidth:PERCent(?)

oBW

[:SENSe]:PULSe:PTOFfset(?)

[:SENSe]:PULSe:THReshold(?)
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2-24: :SENSe

[:SENSe]:RFID 1 RFID

[:SENSe]:RFID:ACPower:BANDwidth | :BWIDth:ACHannel(?) | ACPR

[:SENSe]:RFID:ACPower:BANDwidth | :BWIDth:INTegration(?) | ACPR

[:SENSe]:RFID:ACPower:CSPacing(?) ACPR
[:SENSe]:RFID:ACPower:FILTer: COEFficient(?) ACPR
[:SENSe]:RFID:ACPower:FILTer:-TYPE(?) ACPR
[:SENSe]:RFID:BLOCK(?)

[:SENSe]:RFID:CARRier:BANDwidth | :BWIDth:INTegration(?) EIRP
[:SENSe]:RFID:CARRier:COUNter[:RESolution](?)
[:SENSe]:RFID:CARRier:OFFSet(?) EIRP
[:SENSe]:RFID:CARRier:PRATIio[:SET](?) OoBW
[:SENSe]:RFID:CARRier:PRATio:UNIT(?) oBW
[:SENSe]:RFID[:IMMediate] RFID

[:SENSe]:RFID:LENGth(?)

[:SENSe]:RFID:MEASurement(?)

[:SENSe]:RFID:MODulation:ADVanced:FILTer(?)

[:SENSe]:RFID:MODulation:ADVanced:PREamble(?)

[:SENSe]:RFID:MODulation:ADVanced:SBANd(?)

[:SENSe]:RFID:MODulation:BRATe:AUTO(?)

[:SENSe]:RFID:MODulation:BRATe[:SET](?)

[:SENSe]:RFID:MODulation:DECode(?)

[:SENSe]:RFID:MODulation:FORMat(?)

[:SENSe]:RFID:MODulation:INTerpolate(?)

[:SENSe]:RFID:MODulation:LINK(?)

[:SENSe]:RFID:MODulation:SERRor[:WIDTh] (?)

[:SENSe]:RFID:MODulation:STANdard(?)

[:SENSe]:RFID:MODulation:TARI:AUTO(?) Tari

[:SENSe]:RFID:MODulation:TARI[:SET](?) Tari

[:SENSe]:RFID:MODulation[: THReshold]:LOWer(?)

[:SENSe]:RFID:MODulation[: THReshold]:HIGHer(?)

[:SENSe]:RFID:OFFSet(?)

[:SENSe]:RFID:SPURious[: THReshold]:EXCursion(?)

[:SENSe]:RFID:SPURious[:THReshold]:IGNore(?)

[:SENSe]:RFID:SPURious[: THReshold]:SIGNal(?)

[:SENSe]:RFID:SPURious[: THReshold]:SPURious(?)

[:SENSe]:RFID:ZOOM:FREQuency:CENTer(?)

[:SENSe]:RFID:ZO0OM:FREQuency:WIDTh(?)

[:SENSe]:ROSCillator

[:SENSe]:ROSCillator:SOURce(?)
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HD:A

2-24: :SENSe

[:SENSe]:SPECtrum

[:SENSe]:SPEctrum:AVERage:CLEar

[:SENSe]:SPEctrum:AVERage:COUNt(?)

[:SENSe]:SPEctrum:AVERage[:STATe](?)

[:SENSe]:SPEctrum:AVERage:TYPE(?)

[:SENSe]:SPECtrum:BANDwidth | :BWIDth[:RESolution] (?)

[:SENSe]:SPECtrum:BANDwidth | :BWIDth[:RESolution]:AUTO
(?)

[:SENSe]:SPECtrum:BANDwidth | :BWIDth:STATe(?)

[:SENSe]:SPECtrum:DETector[:FUNCtion](?)

[:SENSe]:SPECtrum:FILTer:COEFficient(?)

RBW

[:SENSe]:SPECtrum:FILTer:TYPE(?)

RBW

[:SENSe]:SPECtrum:FFT:ERESolution(?)

(Extended Res.)

[:SENSe]:SPECtrum:FFT:LENGth(?)

FFT

[:SENSe]:SPECtrum:FFT:STARLt(?)

FFT

[:SENSe]:SPECtrum:FFT:WINDow[: TYPE](?)

FFT

[:SENSe]:SPECtrum:FRAMe(?)

[:SENSe]:SPECtrum:MEASurement(?)

[:SENSe]:SPECtrum:ZOOM:BLOCK(?)

[:SENSe]:SPECtrum:ZOOM:FREQuency:CENTer(?)

[:SENSe]:SPECtrum:ZOOM:FREQuency:WIDTh(?)

[:SENSe]:SPECtrum:ZOOM:LENGth(?)

[:SENSe]:SPECtrum:ZO0M:OFFSet(?)

[:SENSe]:SPURious

[:SENSe]:SPURIious[:THReshold]:EXCursion(?)

[:SENSe]:SPURIious[:THReshold]:IGNore(?)

[:SENSe]:SPURious[: THReshold]:SIGNal(?)

[:SENSe]:SPURIous[:THReshold]:SPURious(?)

[:SENSe]:SSOurce 1

[:SENSe]:SSOurce:BLOCK(?)

[:SENSe]:SSOurce:CARRier:BANDwidth | :BWIDth:INTegration
(?)

[:SENSe]:SSOurce:CARRier[:THReshold](?)

[:SENSe]:SSOurce:CARRier:TRACKing[:STATe](?)

[:SENSe]:SSOurce:CNRatio:FFT:LENGth(?)

FFT

[:SENSe]:SSOurce:CNRatio:OFFSet(?)

C/N

[:SENSe]:SSOurce:CNRatio:SBANd(?)

[:SENSe]:SSOurce:CNRatio[: THReshold] (?)

[:SENSe]:SSOurce:FVTime:SMOothing(?)

[:SENSe]:SSOurce:FVTime[: THReshold](?)

[:SENSe]:SSOurce[:IMMediate]

[:SENSe]:SSOurce:LENGth(?)

[:SENSe]:SSOurce:MEASurement(?)
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2-24: :SENSe

[:SENSe]:SSOurce:OFFSet(?)

[:SENSe]:SSOurce:PNOise:MPJitter[: THReshold](?)

[:SENSe]:SSOurce:PNOise:RJITter:OFFSet:STARt(?)

[:SENSe]:SSOurce:PNOise:RJITter:OFFSet:STOP(?)

[:SENSe]:SSOurce:PNOise:RJITter[: THReshold] (?

[:SENSe]:SSOurce:PNOise:OFFSet:MAXimum(?)

[:SENSe]:SSOurce:PNOise:OFFSet:MINimum(?)

[:SENSe]:SSOurce:SPURIious:IGNore(?)

[:SENSe]:SSOurce:SPURIious:SFlLter[:STATe] (?)

[:SENSe]:SSOurce:SPURious[: THReshold]:EXCursion(?)

[:SENSe]:SSOurce:SPURious[: THReshold]:SPURious(?)

[:SENSe]:TRANsient

[:SENSe]: TRANsient:BLOCK(?)

[:SENSe]:TRANsient[:IMMediate]

[:SENSe]: TRANsient:ITEM(?)

[:SENSe]: TRANsient:LENGth(?)

[:SENSe]: TRANsient:OFFSet(?)

1 21
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HD:A

:STATus

2-25: :STATus
:STATus:OPERation:CONDition? OCR
:STATus:OPERation:ENABIe(?) OENR
:STATus:OPERation[:EVENt]? OEVR
:STATus:OPERation:NTRansition(?)
:STATus:OPERation:PTRansition(?)
:STATus:PRESet
:STATus:QUEStionable:CONDition? QCR
:STATus:QUEStionable:ENABIe(?) QENR
:STATus:QUEStionable[:EVENt]? QER

:STATus:QUEStionable:NTRansition(?)

:STATus:QUEStionable:PTRansition(?)

:SYSTem

2-26: :SYSTem

:SYSTem:DATE(?)

:SYSTem:ERRor:ALL?

:SYSTem:ERRor:CODE:ALL?

:SYSTem:ERRor:CODE[:NEXT]?

:SYSTem:ERRor:COUNt?

:SYSTem:ERRor[:NEXT]?

:SYSTem:KLOCK(?)

:SYSTem:OPTions?

:SYSTem:PRESet

:SYSTem:TIME(?)

:SYSTem:VERSion?

SCPI
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:TRACe

1,2

2-27: :TRACe

:TRACe<x>|DATA<X>:MODE(?)

:TRACe<x> | DATA<X>:DDETector(?)

:TRACe<x> | DATA<X>:AVERage:CLEar

:TRACe<x> | DATA<X>:AVERage:COUN{(?)

:TRACe2| DATA2:MODE(?) 21

:TRIGger

2-28: :TRIGger

:TRIGger[:SEQuence]:LEVel:EXTernal(?)
S/N B020000

‘TRIGger[:SEQuence]:LEVel:IF(?)
S/N B020000 J300100

:TRIGger[:SEQuence]:LEVel:IQFRequency(?)
02

:TRIGger[:SEQuence]:LEVel:IQTime(?)

:TRIGger[:SEQuence]:MODE(?)

:TRIGger[:SEQuence]:MPOSition?

:TRIGger[:SEQuence]:OPOSition?

:TRIGger[:SEQuence]:POSition(?)

“TRIGger[:SEQuence]:SAVE:COUNt[:STATe] (?)

:TRIGger[:SEQuence]:SAVE:COUNt:MAXimum(?)

:TRIGger[:SEQuence]:SAVE[:STATe](?)

:TRIGger[:SEQuence]:SLOPe(?)

:TRIGger[:SEQuence]:SOURce(?)

:UNIT

2-29: :UNIT

:UNITANGLe(?)
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IEEE

IEEE

*CAL?
*CLS
*ESE
*ESR?
*IDN?
*0PC
*QPT?
*RST
*SRE
*STB?
*TRG
*TST?
*WAI

<value>

<value>

2-35



*CAL

RF

DC 05

:CALibration[:ALL]?

*CAL?

<NR1>

3-19

*CAL?

:CALibration[:ALL]
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IEEE

*CLS

3-1
*CLS
*CLS
*ESE, *ESR, *SRE, *STB?
*
ESE(?)
ESER (Event
Status Enable Register)
3-1

*ESE <value>

*ESE?

<value>::=<NR1> — 0 255
ESER

ESER 145 2 10010001
ESER PON EXE OPC

*ESE 145

*ESE?

184

ESER 10111000

*CLS, *ESR, *SRE, *STB?
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*ESR

2-38

Event Status Register) SESR
3-1
*ESR?
<NR1> — SESR 0 255 10
*ESR?
213
SESR 2 11010101

*CLS, *ESE?, *SRE, *STB?

RSA3303A RSA3308A 3GHz 8GHz

SESR (Standard



IEEE

*IDN

*IDN?

TEKTRONIX,RSA330XA,<serial_number>,<firmware version>

TEKTRONIX —

RSA330XA — RSA3303A RSA3308A
<serial_number> —

<firmware_version> —

*IDN?

TEKTRONIX,RSA3308A,J300101,1.20

*OPC(?)

*0PC

*QPC?
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*OPT
*0PT?
*OPT?
02,03,21
02 03 21
*RST
*CLS
*RST

m  :INSTrument[:SELect]

m GPIB

*RST

*RST

*CLS, : INSTrument[:SELect], :SYSTem:PRESet

2-40 RSA3303A RSA3308A 3GHz 8GHz

:SYSTem:PRESet



IEEE

*SRE(?)

Request Enable Register)

*SRE <value>

*SRE?

<value>::=<NR1> — SRER

SRER

SRER 2 00110000
*SRE 48
*SRE?

SRER 2 00100000

*CLS, *ESE, *ESR?, *STB?

3-1

0 255

32

SRER (Service
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*STB

*TRG

2-42

Register) MSS (Master Summary Status)
3-1
*STB?
<NR1> —SBR 2 10
*STB?
96
SBR 2 0110 0000

*CLS, *ESE, *ESR?, *SRE

:INITiate[:IMMediate]

*TRG

*TRG

:INITiate[:IMMediate]

RSA3303A RSA3308A 3GHz 8GHz
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IEEE

*TST

*TST
*TST?
<NR1>
0
*CAL?, CALibration[:ALL]
*WAI
3-17
*WAI
*WAI
*0PC
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:ABORt

:ABORt

:ABORt
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:ABORt

:ABORt :INITiate:CONTinuous = 2-292

:INITiate:CONTinuous OFF

:INITiate:CONTinuous OFF

:ABORt

:ABORt

:INITiate:CONTinuous
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:CALCulate

:CALCulate
:CALCulate<x> 2-5
:CALCulatel 1
:CALCulate? 2
:CALCulate3 3
:CALCulated 4
1
1
:DISPTay[:VIEW] : FORMat
3 4
4
1 3
1
1
4
2 2
2-5
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:CALCulate<x>
:DLINe<y> <numeric_value>
:STATe <boolean>
:MARKer<y>
:AOFF
:MAXimum
:MODE POSition | DELTa
: PEAK
(LEFT
:RIGHt
:HIGHer
:LOWer
:PTHReshold <numeric_value>
:ROFF
[:SET]
:CENTer
:MEASurement
:RCURsor
[:STATe] <boolean>
:T <numeric_value>
:TOGGTe
:TRACe MAIN | SUB
X <numeric_value>
.Y <numeric_value>
:VLINe<y> <numeric_value>
:STATe <boolean>
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:CALCulate

:CALCulate<x>:DLINe<y>(?)

:CALCulate<x>:DLINe<y> <value>

:CALCulate<x>:DLINe<y>?

<value>::=<NRf> —
—200 +100 dBm

SANORMAL, SASGRAM, SARTIME

1 —20dBm

:CALCulatel:DLINel -20

:CALCulate<x>:DLINe<y>:STATe

:CALCulate<x>:DLINe<y>:STATe(?)

:CALCulate<x>:DLINe<y>:STATe { OFF | ON | O | 1 }

:CALCulate<x>:DLINe<y>:STATe?

OFF 0—
ON 1—

SANORMAL, SASGRAM, SARTIME

:CALCulatel:DLINe2:STATe 1

2-49



:CALCulate<x>:MARKer<y>:AOFF

:CALCulate<x>:MARKer<y>:AQFF

1

:CALCulatel:MARKer:AOFF

:CALCulate<x>:MARKer<y>:MAXimum

:CALCulate<x>:MARKer<y>:MAXimum

1

:CALCulatel:MARKerl:MAXimum
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:CALCulate

:CALCulate<x>:MARKer<y>:MODE(?)

:CALCulate<x>:MARKer<y>:MODE { POSition | DELTa }

:CALCulate<x>:MARKer<y>:MODE?
POSition —

<y> 1 2
DELTa —

<y>

1

:CALCuTatel:MARKerl1:MODE DELTa

:CALCulate<x>:MARKer<y>:PEAK:HIGHer

:CALCulate<x>:MARKer<y>:PEAK:HIGHer

“No Peak Found Error (202)”

1 1

:CALCulatel:MARKerl:PEAK:HIGHer
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:CALCulate<x>:MARKer<y>:PEAK:LEFT

:CALCulate<x>:MARKer<y>:PEAK:LEFT

“No Peak Found Error (202)”

1

:CALCulatel:MARKerl:PEAK:LEFT

:CALCulate<x>:MARKer<y>:PEAK:LOWer

:CALCulate<x>:MARKer<y>:PEAK:LOWer

“No Peak Found Error (202)”

1 1

:CALCuTatel:MARKerl:PEAK:LOWer
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:CALCulate

:CALCulate<x>:MARKer<y>:PEAK:RIGHt

:CALCuTate<x>:MARKer<y>:PEAK:RIGHt

“No Peak Found Error (202)”

1

:CALCulatel:MARKerl:PEAK:RIGHt

:CALCulate<x>:MARKer<y>:PTHReshold(?)

:CALCulate<x>:MARKer<y>:PTHReshold <value>

:CALCulate<x>:MARKer<y>:PTHReshold?

<value>::=<NRf> —
1% 20%

1 1 10kHz

:CALCulatel:MARKerl:PTHReshold 10kHz
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:CALCulate<x>:MARKer<y>:ROFF

:CALCulate<x>:MARKer<y>:ROFF

1

:CALCulatel:MARKerl:ROFF

:CALCulate<x>:MARKer<y>[:SET]:CENTer

:CALCulate<x>:MARKer<y>[:SET] :CENTer

SANORMAL, SASGRAM

1

:CALCulatel:MARKerl:SET:CENTer
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:CALCulate

:CALCulate<x>:MARKer<y>[:SET]:-MEASurement

:CALCulate<x>:MARKer<y>:MODE
= 2-51

:CALCuTate<x>:MARKer<y>[:SET] :MEASurement

DEMADEM, TIMCCDF, TIMTRAN

1

:CALCulatel:MARKerl:SET:MEASurement

:CALCulate<x>:MARKer<y>:MODE

:CALCulate<x>:MARKer<y>[:SET]:RCURsor

:CALCulate<x>:MARKer<y>[:SET] :RCURsor

1

:CALCulatel:MARKerl:SET:RCURsor

:CALCulate<x>:MARKer<y>:ROFF
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:CALCulate<x>:MARKer<y>[:STATe](?)

:CALCulate<x>:MARKer<y>[:STATe] { OFF | ON | O | 1 }
:CALCulate<x>:MARKer<y>[:STATe]?
OFF 0—

ON 1—

:CALCulate<x>:MARKer<y>:MODE

:CALCulatel:MARKerl:STATe ON

:CALCulate<x>:MARKer<y>:MODE
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:CALCulate

:CALCulate<x>:MARKer<y>:T(?) 21

:CALCulate<x>:MARKer<y>:T <time>

:CALCulate<x>:MARKer<y>:T?

<time>::=<NRf> —

DEMDDEM

4 1 —1.5ms

:CALCulate4:MARKerl:T -1.5ms

:CALCulate<x>:MARKer<y>:TOGGle

:CALCulate<x>:MARKer<y>:TOGG1e

1 1

:CALCuTatel:MARKerl:TOGGTe
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:CALCulate<x>:MARKer<y>:TRACe(?)

:CALCulate<x>:MARKer<y>:TRACe { MAIN | SUB }

:CALCulate<x>:MARKer<y>:TRACe?

MAIN — 1

SUB — 2

1 2

:CALCulatel:MARKerl:TRACe SUB
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:CALCulate

:CALCulate<x>:MARKer<y>:X(?)

:CALCulate<x>:MARKer<y>:X <param>

:CALCulate<x>:MARKer<y>:X?

<param>::=<NRf> —

]
]
:CALCulate<x>:MARKer<y>:MODE
= 2-51
D D-1
1 1 800MHz

:CALCulatel:MARKerl:X 800MHz

:CALCulate<x>:MARKer<y>:MODE
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:CALCulate<x>:MARKer<y>:Y(?)

DEMOD / TIME
Real Time S/A
“Execution Er-
ror” (—200)

:CALCulate<x>:MARKer<y>:Y <param>

:CALCulate<x>:MARKer<y>:Y?

<param>::=<NRf> —

:CALCulate<x>:MARKer<y>:MODE
i 2-51

D D-1

SARTIME, DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN

:CALCulatel:MARKerl:Y -20

2 :CALCulate2:MARKerl:Y?

-34.28

1 —34.28dBm
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:CALCulate

:CALCulate<x>:VLINe<y>(?)

:CALCulate<x>:VLINe<y> <value>

:CALCulate<x>:VLINe<y>?

<value>::=<NRf> —
OHz 3GHz RSA3303A 8GHz RSA3308A

SANORMAL, SASGRAM, SARTIME

1 800MHz

:CALCuTatel:VLINel 800MHz

:CALCulate<x>:VLINe<y>:STATe

:CALCulate<x>:VLINe<y>:STATe(?)

:CALCulate<x>:VLINe<y>:STATe { OFF | ON | O | 1 }

:CALCulate<x>:VLINe<y>:STATe?

OFF 0—

ON 1—

SANORMAL, SASGRAM, SARTIME

:CALCulatel:VLINel:STATe ON
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:CALibration

:CALibration

:CALibration
[:ALL]
:AUTO
:DATA
:DEFault
:0FFSet
:BASebanddc
:CENTer
:IQINput 03
:RF
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:CALibration[:ALL](?)
:CALibration[:ALL] 3
RF

DC 05

:CALibration[:ALL]?
*CAL?

:CALibration[:ALL]

:CALibration[:ALL]?

<NR1>

3-19

:CALibration:ALL

*CAL?
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:CALibration

:CALibration:AUTO(?)
RF

:CALibration:AUTO { OFF | ON | 0 | 1}

:CALibration:AUTO?

OFF 0—RF
:CALibration:RF

ON 1—RF

RF

:CALibration:AUTO ON

:CALibration:RF

:CALibration:DATA:DEFault

:CALibration:DATA:DEFault

:CALibration:DATA:DEFault
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:CALibration:OFFSet:BASebanddc(?)

DC

(DC  20MHz)

+ 2 = 17.5MHz

:CALibration:0FFSet:BASebanddc

:CALibration:0FFSet:BASebanddc?

<NR1>

3-19

DC

:CALibration:0FFSet:BASebanddc
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:CALibration

:CALibration:OFFSet:CENTer(?)

:CALibration:0FFSet:CENTer

:CALibration:0FFSet:CENTer?

<NR1>

3-19

:CALibration:0FFSet:CENTer
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:CALibration:OFFSet:IQINput(?) 03

1(0)

IQ /Q /Q
/Q

[:SENSe] : FEED IQ

:CALibration:0FFSet:IQINput

:CALibration:0FFSet:IQINput?

<NR1>

3-19

IQ

:CALibration:0FFSet:IQINput

[:SENSe] : FEED
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:CALibration

:CALibration:RF(?)

RF

:CALibration:RF

:CALibration:RF?

<NR1>

3-19

RF

:CALibration:RF

:CALibration:AUTO
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-/ |
:CONFigure

:CONFigure

:CONFigure
:ADEMod
:AM
:FM
:PM
:PSPectrum
:CCDF
:DDEMod 21
:0VIew
:PULSe
:RFID 21
:SPECtrum
:ACPower
:CFRequency
:CHPower
:CNRatio
:EBWidth
:0BWidth
:SPURious
:SSOurce 21
:TFRequency
:RTIMe
:SGRam
:TRANsient
:FVTime
:IQVTime
:PVTime

:CONFigure
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:CONFigure:ADEMod:AM

AM

DEMOD — Analog Demod
- AM Demod

:CONFigure:ADEMod:AM

DEMADEM

AM

:CONFigure:ADEMod: AM

:INSTrument[:SELect]

:CONFigure:ADEMod:FM

FM

DEMOD — Analog Demod
— FM Demod

:CONFigure:ADEMod: FM

DEMADEM

FM

:CONFigure:ADEMod: FM

:INSTrument[:SELect]
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:CONFigure

:CONFigure:ADEMod:PM

PM

DEMOD — Analog Demod
- PM Demod

:CONFigure:ADEMod: PM

DEMADEM

PM

:CONFigure:ADEMod:PM

:INSTrument[:SELect]

:CONFigure:ADEMod:PSPectrum

DEMOD — Analog Demod

— Pulse Spectrum

:CONFigure:ADEMod:PSPectrum

DEMADEM

:CONFigure:ADEMod:PSPectrum

:INSTrument[:SELect]

- PRESET

- PRESET
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:CONFigure:CCDF

CCDF

TIME - CCDF

:CONFigure:CCDF

TIMCCDF

CCDF

:CONFigure:CCDF

:INSTrument[:SELect]

:CONFigure:DDEMod 21

DEMOD - Digital Demod

- 1Q/Frequency versus Time

:CONFigure:DDEMod

DEMDDEM

:CONFigure:DDEMod

:INSTrument[:SELect]

- PRESET - CCDF

- PRESET
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:CONFigure

:CONFigure:OView

DEMOD TIME

MEASURE — Measurement Off

:FETCh:OVIew? :READ:OVIew?

:CONFigure:0VIiew

DEMADEM, TIMCCDF, TIMTRAN

DEMOD/TIME

:CONFigure:0VIew

:FETCh:0VIew?, :READ:0VIew?, : INSTrument[:SELect]

:CONFigure:PULSe

TIME — Pulse Measurements - PRESET

:CONFigure:PULSe

TIMPULSE

:CONFigure:PULSe

:INSTrument[:SELect]
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:CONFigure:RFID 21

RFID

DEMOD - Standard... - RFID
- PRESET

:CONFigure:RFID

DEMRFID

RFID

:CONFigure:RFID

:INSTrument[:SELect]

:CONFigure:SPECtrum

S/A - { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET — Measurement Off

:CONFigure:SPECtrum

SANORMAL, SASGRAM, SARTIME

:CONFigure:SPECtrum

:INSTrument[:SELect]
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:CONFigure

:CONFigure:SPECtrum:ACPower

ACPR

S/A — { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET - ACPR

:CONFigure:SPECtrum:ACPower

SANORMAL, SASGRAM, SARTIME

ACPR

:CONFigure:SPECtrum:ACPower

:INSTrument[:SELect]

:CONFigure:SPECtrum:CFRequency

S/A — { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET - Carrier Frequency

:CONFigure:SPECtrum:CFRequency

SANORMAL, SASGRAM, SARTIME

:CONFigure:SPECtrum:CFRequency

:INSTrument[:SELect]
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:CONFigure:SPECtrum:CHPower

S/A - { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET — Channel Power

:CONFigure:SPECtrum:CHPower

SANORMAL, SASGRAM, SARTIME

:CONFigure:SPECtrum:CHPower

:INSTrument[:SELect]

:CONFigure:SPECtrum:CNRatio

C/N

S/A - { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET - C/N

:CONFigure:SPECtrum:CNRatio

SANORMAL, SASGRAM, SARTIME

C/N

:CONFigure:SPECtrum:CNRatio

:INSTrument[:SELect]
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:CONFigure

:CONFigure:SPECtrum:EBWidth

EBW

S/A — { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET - EBW

:CONFigure:SPECtrum:EBWidth

SANORMAL, SASGRAM, SARTIME

EBW

:CONFigure:SPECtrum:EBWidth

:INSTrument[:SELect]

:CONFigure:SPECtrum:0OBWidth

OBW

S/A — { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET - OBW

:CONFigure:SPECtrum:0BWidth

SANORMAL, SASGRAM, SARTIME, SADL3G, SAUL3G

OBW

:CONFigure:SPECtrum:0BWidth

:INSTrument[:SELect]
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:CONFigure:SPECtrum:SPURious

S/A - { Spectrum Analyzer | S/A with Spectrogram | Real Time S/A }
- PRESET — Spurious

:CONFigure:SPECtrum:SPURious

SANORMAL, SASGRAM, SARTIME

:CONFigure:SPECtrum:SPURious

:INSTrument[:SELect]

:CONFigure:SSOurce 21

TIME — Signal Source Analysis - PRESET

:CONFigure:SSOurce

TIMSSOURCE

:CONFigure:SSQurce

:INSTrument[:SELect]
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:CONFigure

:CONFigure:TFRequency:RTIMe

S/A — Real Time S/A

:CONFigure:TFRequency:RTIMe

SARTIME

:CONFigure:TFRequency:RTIMe

:INSTrument[:SELect]

:CONFigure:TFRequency:SGRam

S/A — S/A with Spectrogram

:CONFigure:TFRequency:SGRam

SASGRAM

:CONFigure:TFRequency:SGRam

:INSTrument[:SELect]

- PRESET

- PRESET
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:CONFigure:TRANsient:FVTime

TIME - Transient - PRESET

— Frequency versus Time

:CONFigure:TRANsient:FVTime

TIMTRAN

:CONFigure:TRANsient:FVTime

:INSTrument[:SELect]

:CONFigure:TRANsient:IQVTime

1Q

TIME — Transient - PRESET

— IQ versus Time

:CONFigure:TRANsient:IQVTime

TIMTRAN

IQ

:CONFigure:TRANsient:IQVTime

:INSTrument[:SELect]
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:CONFigure

:CONFigure:TRANsient:PVTime

TIME — Transient - PRESET

- Power versus Time

:CONFigure:TRANsient:PVTime

TIMTRAN

:CONFigure:TRANsient:PVTime

:INSTrument[:SELect]
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DEMDDEM

CCDF 0.1%

:DISPTay:DDEMod:SVIew:Y:SCALe:MINimum O0.1lpct

:DISPlay:DDEMod:SVIew:Y[:SCALe] :MAXimum
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:DISPlay

:DISPlay:DDEMod:SVlew:Y[:SCALe]:OFFSet(?)

:DISPlay:DDEMod:SVIew: FORMat
CONSTe VECTor IEYE QEYE TEYE STABle AMPM DAMPm
CCDF

:DISPlay:DDEMod:SVIew:FORMat AMAM

:DISPlay:DDEMod:SVIew:Y[:SCALe] :OFFSet <value>

:DISPTay:DDEMod:SVIew:Y[:SCALe] :OFFSet?

<value>::=<NRf> —

DEMDDEM

—100dBm

:DISPTay:DDEMod:SVIew:Y:SCALe:0FFSet -100

:DISPTay:DDEMod:SVIew:FORMat
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:DISPlay:DDEMod:SView:Y[:SCALe]:RANGe(?)

:DISPlay:DDEMod:SVIew: FORMat
CONSTe VECTor IEYE QEYE TEYE STABle AMAM DAMam
CCDF

:DISPTay:DDEMod:SVIew:Y[:SCALe] :RANGe <value>

:DISPlay:DDEMod:SVIew:Y[:SCALe] :RANGe?

<value>::=<NRf> —

DEMDDEM

100dB

:DISPTay:DDEMod:SVIew:Y:SCALe:RANGe 100

:DISPlay:DDEMod:SVIew:FORMat
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:DISPlay

:DISPlay:OView

:DISPTay:0VIew

DEMOD TIME

:DISPlay:OVIew:ZOOM :INSTrument[:SELect] SAZR-
TIME DEMRFID RFID
21
:DISPlay
:0VIew
:FORMat WAVeform | SGRam
:0TINdicator <boolean>
:SGRam
:COLor
[:SCALe]
:0FFSet <amplitude>
:RANge <relative_amplitude>
:X
[:SCALe]
:0FFSet <frequency>
:SPAN <frequency>
2y
[:SCALe]
:0FFSet <frame_count>
:PLINe <frame_count>
:WAVeform
:X
[:SCALe]
:0FFSet <time>
:PDIVision <time>
Y
[:SCALe]
SFIT
:FULL
:0FFSet <amplitude>
:PDIVision <amplitude>
:Z0OM
:COLor
[:SCALe]
:0FFSet <amplitude>
:RANge <relative_amplitude>
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2-122

:SGRam:COLor[:SCALe] :OFFSet ——> - |- - |-

X
[:SCALe]
:0FFSet <frequency>
:SPAN <frequency>
Y
[:SCALe]
:0FFSet <frame_count>
:PLINe <frame_count>
/ :FORMat
0 / VS
dBm
:WAVeform:Y[:SCALe] :PDIVision ég
Jdiv
-100
:WAVeform: Y [:SCALe] :0FFSet —» | B —
Start: -51.2 ms Scale: 5.12 ms/div

T ~>‘ L :WAVeform:X[:SCALe] :PDIVision

:WAVeform:X[:SCALe] :OFFSet

:FORMat

:SGRam:Y[:SCALe] : PLINe

- -
:SGRam:COLor[:SCALe] : RANGe

:SGRam:Y[:SCALe] :OFFSet —L»-| frame

Center: 800 MHz * Span: 100 kHz

T‘— :SGRam: X[:SCALe] : SPAN 4>‘
:SGRam: X[:SCALe] : OFFSet

:DISPlay:OView

2-10 :DISPlay:OView
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:DISPlay

:DISPlay:OVlew:FORMat(?)

:DISPTay:0VIew:FORMat { WAVeform | SGRam }

:DISPTay:0VIew:FORMat?

WAVeform — VS.

SGRam —

DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

:DISPTay:0VIew:FORMat SGRam

:DISPlay:OView:OTINdicator(?)

((‘O?’)
:DISP1ay:0VIew:0TINdicator { OFF | ON | O | 1 }

:DISPTay:0VIew:0TINdicator?

OFF 0—

ON 1—

DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

:DISPTay:0VIew:0TINdicator ON
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:DISPlay:OView:SGRam:COLor[:SCALe]:OFFSet(?)

:DISPlay:0VIew:SGRam:COLor[:SCALe] :OFFSet <ampl>

:DISPTay:0VIew:SGRam:COLor[:SCALe] :OFFSet?
<ampl>::=<NRf> — —200 +100 dBm
DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

—100dBm

:DISPTay:0VIew:SGRam:COLor:SCALe:0FFSet -100

:DISPlay:OVlew:SGRam:COLor[:SCALe]:RANGe(?)

:DISPlay:0VIew:SGRam:COLor[:SCALe] :RANGe <rel ampl>

:DISPlay:0VIew:SGRam:COLor[:SCALe] :RANGe?

<rel_ampl>::={ 10 | 20 | 50 | 100 } —
[dB]

DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

100dB

:DISPTay:0VIew:SGRam:COLor:SCALe:RANGe 100
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:DISPlay

:DISPlay:OVlew:SGRam:X[:SCALe]:OFFSet(?)

:DISPTay:0VIew:SGRam:X[:SCALe] :OFFSet <freg>

:DISPlay:0VIew:SGRam:X[:SCALe] :OFFSet?
<freg>::=<NRf> —

2-86
DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

100MHz

:DISPlay:0VIew:SGRam:X:SCALe:0FFSet 100MHz

:DISPlay:OVlew:SGRam:X[:SCALe]:SPAN(?)

:DISPTay:0VIew:SGRam:X[:SCALe] :SPAN <freg>

:DISPlay:0VIew:SGRam:X[:SCALe] : SPAN?
<freg>::=<NRf> —

2-86
DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

100kHz

:DISPTay:0VIew:SGRam:X:SCALe:SPAN 100kHz
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:DISPlay:OVlew:SGRam:Y[:SCALe]:OFFSet(?)

:DISPlay:0VIew:SGRam:Y[:SCALe] :0FFSet <value>

:DISPlay:0VIew:SGRam:Y[:SCALe] :OFFSet?
<value>::=<NR1> — —-63999 0
DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

—100

:DISPTay:0VIew:SGRam:Y:SCALe:0FFSet -100

:DISPlay:OVlew:SGRam:Y[:SCALe]:PLINe(?)

:DISPlay:0VIew:SGRam:Y[:SCALe] :PLINe <value>

:DISPlay:0VIew:SGRam:Y[:SCALe] :PLINe?
<value>::=<NR1> — 1 1024

DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

:DISPTay:0VIew:SGRam:Y:SCALe:PLINe 5
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:DISPlay

:DISPlay:0Vlew:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:0VIew:WAVeform:X[:SCALe] :0FFSet <time>

:DISPlay:0VIew:WAVeform:X[:SCALe] :0FFSet?

<time>::=<NRf> — —32000 Os
2-86

DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

—100pas

:DISPT1ay:0VIew:WAVeform:X:SCALe:0FFSet -100us

:DISPlay:0Vlew:WAVeform:X[:SCALe]:PDIVision(?)

(/div)
:DISPlay:0VIew:WAVeform:X[:SCALe] :PDIVision <time>
:DISPlay:0VIew:WAVeform:X[:SCALe] :PDIVision?
<time>::=<NRf> — 1 0 3200 s/div

2-86

DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

10us/div

:DISPTay:0VIew:WAVeform:X:SCALe:PDIVision 10.0E-6
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:DISPlay:OView:WAVeform:Y[:SCALe]:FIT

:DISPlay:0VIew:WAVeform:Y[:SCALe] :FIT

DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

:DISPTay:0VIew:WAVeform:Y:SCALe:FIT

:DISPlay:OView:WAVeform:Y[:SCALe]:FULL

:DISPTay:0VIew:WAVeform:Y[:SCALe] :FULL

DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

:DISPlay:0VIew:WAVeform:Y:SCALe:FULL
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:DISPlay

:DISPlay:OVlew:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPTay:0VIew:WAVeform:Y[:SCALe] :0FFSet <ampl>

:DISPlay:0VIew:WAVeform:Y[:SCALe] :0FFSet?
<ampl>::=<NRf> —
DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

—100dBm

:DISPTay:0VIew:WAVeform:Y:SCALe:0FFSet -100

:DISPlay:0Vlew:WAVeform:Y[:SCALe]:PDIVision(?)

:DISPlay:0VIew:WAVeform:Y[:SCALe] :PDIVision <ampl>

:DISPlay:0VIew:WAVeform:Y[:SCALe] :PDIVision?
<ampl>::=<NRf> — 1
DEMADEM, DEMDDEM,TIMCCDF, TIMTRAN, TIMPULSE

10dB/div

:DISPTay:0VIew:WAVeform:Y:SCALe:PDIVision 10

—200 0dBm

(/div)

0 30 dB/div
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:DISPlay:0View:ZOOM:COLor[:SCALe]:OFFSet(?)

:DISPlay:0VIew:Z00OM:COLor[:SCALe] :OFFSet <ampl>

:DISPTay:0VIew:Z0OOM:COLor[:SCALe] :OFFSet?

<ampl>::=<NRf>—
—200 +100 dBm

SAZRTIME, DEMRFID

—100dBm

:DISPTay:0VIew:Z00OM:COLor:SCALe:0FFSet -100

:DISPlay:0Vlew:ZOOM:COLor[:SCALe]:RANGe(?)

:DISPTay:0VIew:ZOOM:COLor[:SCALe] :RANGe <rel ampl>

:DISPlay:0VIew:Z0OM:COLor[:SCALe] :RANGe?

<rel_ampl>::={ 10 | 20 | 50 | 100 } [dB]

SAZRTIME, DEMRFID

100dB

:DISPTay:0VIew:Z00M:COLor:SCALe:RANGe 100
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:DISPlay

:DISPlay:0Vlew:ZOOM:X[:SCALe]:OFFSet(?)

:DISPTay:0VIew:ZOOM:X[:SCALe] :OFFSet <freg>

:DISPTay:0VIew:ZOOM:X[:SCALe] :OFFSet?
<freg>::=<NRf>—

2-86
SAZRTIME, DEMRFID

100MHz

:DISPlay:0VIew:Z0OM:X:SCALe:0FFSet 100MHz

:DISPlay:0Vlew:ZOOM:X[:SCALe]:SPAN(?)

:DISPTay:0VIew:ZOOM:X[:SCALe] :SPAN <freg>

:DISPTay:0VIew:ZOOM:X[:SCALe] : SPAN?
<freg>::=<NRf>—

2-86
SAZRTIME, DEMRFID

100kHz

:DISPTay:0VIew:Z00M:X:SCALe:SPAN 100kHz
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:DISPlay:0Vlew:ZOOM:Y[:SCALe]:OFFSet(?)

:DISPlay:0VIew:Z0OM:Y[:SCALe] :0FFSet <value>

:DISPTay:0VIew:ZOOM:Y[:SCALe] :OFFSet?

<value>::=<NR1> —
—-63999 0

SAZRTIME, DEMRFID

—100

:DISPTay:0VIew:Z0OM:Y:SCALe:0FFSet -100

:DISPlay:OVlew:ZOOM:Y[:SCALe]:PLINe(?)

:DISPlay:0VIew:ZOOM:Y[:SCALe] :PLINe <value>

:DISPlay:0VIew:ZOOM:Y[:SCALe] :PLINe?

<value>::=<NR1>—
1 1024

SAZRTIME, DEMRFID

:DISPTay:0VIew:Z0OM:Y:SCALe:PLINe 5
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:DISPlay

:DISPlay:PULSe:MView|:SView

:DISPTay:PULSe:MVIew|:SVIew

:INSTrument[:SELect]

TIMPULSE
:DISPlay
:PULSe
:MVIew

:RESult
:CHPower <boolean>
:DCYCle <boolean>
:EBWidth <boolean>
: FREQuency <boolean>
:0BWidth <boolean>
:00Ratio <boolean>
:PERiod <boolean>
:PHASe <boolean>
:PPOWer <boolean>
:RIPP1e <boolean>
:WIDTh <boolean>

:SVIew
:FORMat WIDTh | PPOWer | OORatio | RIPPle
| PERIiod | DCYCle | PHASe | CHPower
| OBWidth | EBWidth | FREQuency

:RANGe ADAPtive | MAXimum

:RESult SINGTe | ALL

:SELect <numeric_value>
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:DISPlay:PULSe:MView:RESult:CHPower(?)

:DISPlay:PULSe:MVIew:RESult:CHPower { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:CHPower?

OFF 0—

ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:CHPower ON

:DISPlay:PULSe:MVlew:RESult:DCYCle(?)

:DISPlay:PULSe:MVIew:RESult:DCYCle { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:DCYCle?

OFF 0—
ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:DCYCle ON
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:DISPlay

:DISPlay:PULSe:MView:RESult:EBWidth(?)

EBW

:DISPlay:PULSe:MVIew:RESult:EBWidth { 0 | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:EBWidth?

OFF 0 — EBW
ON 1 —EBW
TIMPULSE

EBW

:DISPTay:PULSe:MVIew:RESult:EBWidth ON

:DISPlay:PULSe:MVlew:RESult:FREQuency(?)

:DISPlay:PULSe:MVIew:RESult:FREQuency { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:FREQuency?

OFF 0—

ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:FREQuency ON
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:DISPlay:PULSe:MView:RESult:0BWidth(?)

OBW

:DISPlay:PULSe:MVIew:RESult:0BWidth { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:0BWidth?

OFF 0 — OBW
ON 1— OBW
TIMPULSE

OBW

:DISPTay:PULSe:MVIew:RESult:0BWidth ON

:DISPlay:PULSe:MVlew:RESult:0ORatio(?)

:DISPlay:PULSe:MVIew:RESult:00Ratio { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:00Ratio?

OFF 0—
ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:00Ratio ON
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:DISPlay

:DISPlay:PULSe:MVlew:RESult:PERiod(?)

:DISPlay:PULSe:MVIew:RESult:PERiod { 0 | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:PERi0d?

OFF 0—

ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:PERiod ON

:DISPlay:PULSe:MView:RESult:PHASe(?)

:DISPlay:PULSe:MVIew:RESult:PHASe { 0 | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:PHASe?

OFF 0—

ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:PHASe ON
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:DISPlay:PULSe:MView:RESult:PPOWer(?)

:DISPlay:PULSe:MVIew:RESult:PPOWer { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:PPOWer?

OFF 0—

ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:PPOWer ON

:DISPlay:PULSe:MView:RESult:RIPPle(?)

:DISPlay:PULSe:MVIew:RESult:RIPPle { O | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:RIPP1e?

OFF 0—
ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:RIPPTe ON
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:DISPlay

:DISPlay:PULSe:MView:RESult:WIDTh(?)

:DISPlay:PULSe:MVIew:RESult:WIDTh { 0 | 1 | OFF | ON }

:DISPTay:PULSe:MVIew:RESult:WIDTh?

OFF 0—
ON 1—

TIMPULSE

:DISPTay:PULSe:MVIew:RESult:WIDTh ON
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:DISPlay:PULSe:SVlew:FORMat(?)

:DISPTay:PULSe:SVIew:FORMat { WIDTh | PPOWer | OORatio | RIPPle | PERIiod
| DCYCle | PHASe | CHPower | OBWidth | EBWidth | FREQuency }

:DISPTay:PULSe:SVIew:FORMat?

2-33:

WIDTh
PPOWer
OORatio
RIPPle
PERiod
DCYCle
PHASe
CHPower
OBWidth oBW
EBWidth EBW
FREQuency

TIMPULSE

:DISPTay:PULSe:SVIew:FORMat WIDTh
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:DISPlay

:DISPlay:PULSe:SView:GUIDelines(?)

:DISPTay:PULSe:SVIew:GUIDelines { O | 1 | OFF | ON }

:DISPTay:PULSe:SVIew:GUIDelines?

OFF 0—

ON 1 —

TIMPULSE

:DISPTay:PULSe:SVIew:GUIDelines ON

:DISPlay:PULSe:SVlew:RANGe(?)

:DISPTay:PULSe:SVIew:RANGe { ADAPtive | MAXimum }

:DISPTay:PULSe:SVIew:RANGe?

ADAPtive — 1

MAXimum —

TIMPULSE

:DISPTay:PULSe:SVIew:RANGe ADAPtive
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:DISPlay:PULSe:SView:RESult(?)

:DISPTay:PULSe:SVIew:RESult { SINGle | ALL }

:DISPlay:PULSe:SVIew:RESult?

SINGle —1
:DISPlay:PULSe:SVIew:SELect

ALL —

TIMPULSE

:DISPTay:PULSe:SVIew:RESult SINGle

:DISPTay:PULSe:SVIew:SELect

:DISPlay:PULSe:SVlew:SELect(?)

:DISPlay:PULSe:SVIew:RESult SINGle

:DISPTay:PULSe:SVIew:SELect <number>

:DISPTay:PULSe:SVIew:SELect?

<number>::=<NR1> —
0

TIMPULSE

#-125

:DISPTay:PULSe:SVIew:RESult -125

:DISPTay:PULSe:SVIew:RESult
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:DISPlay

:DISPlay:PULSe:SPECtrum

:DISPTay:PULSe:SPECtrum
:FORMat

m CHPower

m OBWidth OBW

m EBWidth EBW

:DISplay:PULSe:SVIew

:INSTrument[:SELect]

TIMPULSE
:DISPlay
:PULSe
:SPECtrum
:X
[:SCALe]
:0FFSet
:PDIVision
Y
[:SCALe]
:FIT
:FULL
:0FFSet
:PDIVision

<numeric_value>
<numeric_value>

<numeric_value>
<numeric_value>
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:Y[:SCALe] :PDIVision A

2-144

0
dBm

10
dB/

-100
:Y[:SCALe] :0FFSet —= | dBm

Center: 800 MHz

Span: 100 kHz

T -

:X[:SCALe] :OFFSet :X[:SCALe] :PDIVision

:DISPlay:PULSe:SPECtrum

2-11 :DISPlay:PULSe:SPECtrum
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:DISPlay

:DISPlay:PULSe:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPTay:PULSe:SPECtrum:X[:SCALe] :0FFSet <freg>

:DISPlay:PULSe:SPECtrum:X[:SCALe] :OFFSet?
<freg>::=<NRf> —

2-86
TIMPULSE

100MHz

:DISPlay:PULSe:SPECtrum:X:SCALe:0FFSet 100MHz

:DISPlay:PULSe:SPECtrum:X[:SCALe]:PDIVision(?)

(/div)
:DISPlay:PULSe:SPECtrum:X[:SCALe] :PDIVision <freg>

:DISPlay:PULSe:SPECtrum:X[:SCALe] :PDIVision?
<freg>::=<NRf> — 1

2-86
TIMPULSE

100kHz/div

:DISPTay:PULSe:SPECtrum:X:SCALe:PDIVision 100.0E+3
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:DISPlay:PULSe:SPECtrum:Y[:SCALe]:FIT

:DISPlay:PULSe:SPECtrum:Y[:SCALe] :FIT

TIMPULSE

:DISPTay:PULSe:SPECtrum:Y:SCALe:FIT

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:FULL

:DISPTay:PULSe:SPECtrum:Y[:SCALe] : FULL

TIMPULSE

:DISPTay:PULSe:SPECtrum:Y:SCALe:FULL
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:DISPlay

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:OFFSet(?)

:DISPlay:PULSe:SPECtrum:Y[:SCALe] :0FFSet <ampl>

:DISPlay:PULSe:SPECtrum:Y[:SCALe] :OFFSet?
<amp1>::=<NRf> — —200 0dBm
TIMPULSE

—100dBm

:DISPlay:PULSe:SPECtrum:Y:SCALe:0FFSet -100

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:PULSe:SPECtrum:Y[:SCALe] :PDIVision <ampl>

:DISPlay:PULSe:SPECtrum:Y[:SCALe]:PDIVision?
<ampl1>::=<NRf> — 1 0 10 dB/div
TIMPULSE

1 10dB

:DISPTay:PULSe:SPECtrum:Y:SCALe:PDIVision 10
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:DISPlayPULSe:WAVeform

2-148

:DISPTay:PULSe:WAVeform

WIDTh
PPOWer
OORatio
RIPPle
PERiod
DCYCle
PHASe

FREQuency

:DISplay:PULSe:SVIew:FORMat

TIMPULSE

:INSTrument[:SELect]

RSA3303A

:DISP1ay

:PULSe
:WAVeform
X

[:SCALe]

[:SCALe]

RSA3308A

<numeric_value>
<numeric_value>

<numeric_value>

<numeric_value>

3GHz 8GHz



:DISPlay

:DISPlay:PULSe:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:PULSe:WAVeform:X[:SCALe] :0FFSet <time>

:DISPlay:PULSe:WAVeform:X[:SCALe] :OFFSet?

<time>::=<NRf> — —32000 Os
2-86

TIMPULSE

—100us

:DISPT1ay:PULSe:WAVeform:X:SCALe:0FFSet -100us

:DISPlay:PULSe:WAVeform:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:WAVeform:X[:SCALe] :PDIVision <time>

:DISPlay:WAVeform:X[:SCALe] :PDIVision?

<time>::=<NRf> — 1 0 3200 s/div
2-86

TIMPULSE

10ps/div

:DISPT1ay:WAVeform:X:SCALe:PDIVision 10us
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:DISPlay:PULSe:WAVeform:Y[:SCALe]:FIT

:DISPTay:PULSe:WAVeform:Y[:SCALe] :FIT

TIMPULSE

:DISPTay:PULSe:WAVeform:Y:SCALe:FIT

:DISPlay:PULSe:WAVeform:Y[:SCALe]:FULL

:DISPTay:PULSe:WAVeform:Y[:SCALe] : FULL

TIMPULSE

:DISPTlay:PULSe:WAVeform:Y:SCALe: FULL
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:DISPlay

:DISPlay:PULSe:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPTay:PULSe:WAVeform:Y[:SCALe] :0FFSet <ampl>

:DISPlay:PULSe:WAVeform:Y[:SCALe] :OFFSet?

<ampl1>::=<NRf> —
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SARTIME

:DISPlay:SPECtrum:MLINe:AMPLitude:0FFSet -10
—10dBm
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:DISPlay:SPECtrum:MLINe:AMPLitude[:STATe](?)

:DISPTay:SPECtrum:MLINe:AMPLitude[:STATe] { OFF | ON | O | 1 }

:DISPTay:SPECtrum:MLINe:AMPLitude[:STATe]?

OFF 0—

ON 1—

SARTIME

:DISPTay:SPECtrum:MLINe:AMPLitude:STATe ON

:DISPlay:SPECtrum:MLINe:ANNotation[:STATe](?)

:DISPlay:SPECtrum:MLINe:ANNotation[:STATe] { OFF | ON | 0 | 1 }

:DISPTay:SPECtrum:MLINe:ANNotation[:STATe]?

OFF 0—
ON 1—

SARTIME

:DISPTay:SPECtrum:MLINe:ANNotation:STATe ON
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:DISPlay

:DISPlay:SPECtrum:MLINe:FREQuency:INTerval(?)

:DISPlay:SPECtrum:MLINe:FREQuency:INTerval <value>

:DISPlay:SPECtrum:MLINe:FREQuency:INTerval?

<value>::=<NRf> —
0 [Hz]

SARTIME

:DISPTay:SPECtrum:MLINe:FREQuency:INTerval 1MHz
1MHz

:DISPlay:SPECtrum:MLINe:FREQuency:OFFSet(?)

:DISPTay:SPECtrum:MLINe:FREQuency:0FFSet <value>

:DISPlay:SPECtrum:MLINe:FREQuency:0FFSet?

<value>::=<NRf> —

+ /2 [Hz]

SARTIME

:DISPTay:SPECtrum:MLINe:FREQuency:0FFSet 2GHz
2GHz
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:DISPlay:SPECtrum:MLINe:FREQuency[:STATe](?)

:DISPTay:SPECtrum:MLINe:FREQuency[:STATe] { OFF | ON | O | 1 }

:DISPlay:SPECtrum:MLINe: FREQuency[:STATe]?

OFF 0—
ON 1—

SARTIME

:DISPTay:SPECtrum:MLINe: FREQuency:STATe ON
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:DISPlay

:DISPlay:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPTay:SPECtrum:X[:SCALe] :0FFSet <freg>

:DISPlay:SPECtrum:X[:SCALe] :OFFSet?

<freg>::=<NRf> —
2-86

100MHz

:DISPlay:SPECtrum:X:SCALe:0FFSet 100MHz

:DISPlay:SPECtrum:X[:SCALe]:PDIVision(?)
(/div)

:DISPlay:SPECtrum:X[:SCALe] :PDIVision <freg>

:DISPlay:SPECtrum:X[:SCALe] :PDIVision?

<freg>::=<NRf> — 1
2-86

100kHz/div

:DISPTay:SPECtrum:X:SCALe:PDIVision 100.0E+3
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:DISPlay:SPECtrum:Y[:SCALe]:FIT

:DISPlay:SPECtrum:Y[:SCALe] :FIT

:DISPTay:SPECtrum:Y:SCALe:FIT

:DISPlay:SPECtrum:Y[:SCALe]:FULL

:DISPTay:SPECtrum:Y[:SCALe] : FULL

:DISPTay:SPECtrum:Y:SCALe:FULL
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:DISPlay

:DISPlay:SPECtrum:Y[:SCALe]:OFFSet(?)

:DISPTay:SPECtrum:Y[:SCALe] :0FFSet <ampl>

:DISPlay:SPECtrum:Y[:SCALe] :OFFSet?

<amp1>::=<NRf> — —200 0dBm

—100dBm

:DISPTay:SPECtrum:Y:SCALe:0FFSet -100

-DISPlay:SPECtrum:Y[:SCALe]:PDIVision(?)
(/div)

:DISPlay:SPECtrum:Y[:SCALe] :PDIVision <ampl>

:DISPlay:SPECtrum:Y[:SCALe] :PDIVision?

<amp1>::=<NRf> — 1
0 10 dB/div

1 10dB

:DISPTay:SPECtrum:Y:SCALe:PDIVision 10
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:DISPlay:SSOurce:MView

:DISPTay:SSOurce:MVIew

21

TIMSSOURCE

:INSTrument[:SELect]

:DISPTay
:SSOurce
:MVIew
:X
[:SCALe]

:0FFSet
:PDIVision
:RANGe
:STARt
:STOP

[:SCALe]
(FIT
:FULL
:0FFSet
:PDIVision
:RANGe

<numeric_value>
<numeric_value>
<numeric_value>
<numeric_value>

<numeric_value>

<numeric_value>
<numeric_value>

<numeric_value>
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:DISPlay

:DISPlay:SSOurce:MView:X[:SCALe]:OFFSet(?)

[:SENSe]:SSOurce:MEASurement
RTSPurious

:DISPlay:SSOurce:MVIew:X[:SCALe] :0FFSet <value>

:DISPlay:SSOurce:MVIew:X[:SCALe] :OFFSet?

<value>::=<NRf> —
2-86

TIMSSOURCE

:DISPlay:SSOurce:MVIew:X:SCALe:0FFSet 950MHz

[:SENSe] : SSOurce:MEASurement

SPURIious

FVTime

950MHz

VS
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:DISPlay:SSOurce:MView:X[:SCALe]:PDIVision(?)

[:SENSe]:SSOurce: MEASurement
RTSPurious

:DISPTay:SSOurce:MVIew:X[:SCALe] :PDIVision <value>

:DISPlay:SSOurce:MVIew:X[:SCALe] :PDIVision?

<freg>::=<NRf> — 1
2-86

TIMSSOURCE

Tus/div

:DISPTay:SSOurce:MVIew:X:SCALe:PDIVision 1lus

[:SENSe] :SSOurce:MEASurement
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(/div)

SPURIious
FVTime

VS



:DISPlay

:DISPlay:SSOurce:MView:X[:SCALe]:RANGe(?)

[:SENSe]:SSOurce:MEASurement
RTSPurious

:DISPlay:SSOurce:MVIew:X[:SCALe] :RANGe <value>

:DISPlay:SSOurce:MVIew:X[:SCALe] :RANGe?

<value>::=<NRf> —
2-86

TIMSSOURCE

:DISPlay:SSOurce:MVIew:X:SCALe:RANGe 10MHz

[:SENSe] :SSOurce:MEASurement

SPURIious
FVTime

VS

10MHz
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:DISPlay:SSOurce:MView:X[:SCALe]:STAR(?)

[:SENSe]:SSOurce:MEASurement PNOise
RTPNoise

:DISPTay:SSOurce:MVIew:X[:SCALe] :STARt <value>

:DISPTay:SSOurce:MVIew:X[:SCALe] : STARt?
<value>::=<NRf> —

2-86
TIMSSOURCE

1kHz

:DISPTay:SSOurce:MVIew:X:SCALe:STARt 1kHz

[:SENSe] :SSOurce:MEASurement

:DISPlay:SSOurce:MView:X[:SCALe]:STOP(?)

[:SENSe]:SSOurce:MEASurement PNOise
RTPNoise

:DISPlay:SSOurce:MVIew:X[:SCALe] :STOP <value>

:DISPlay:SSOurce:MVIew:X[:SCALe] :STOP?
<value>::=<NRf> —

2-86
TIMSSOURCE

1MHz

:DISPTay:SSOurce:MVIew:X:SCALe:STOP 1MHz

[:SENSe] :SSOurce:MEASurement
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:DISPlay

:DISPlay:SSOurce:MView:Y[:SCALe]:FIT

:DISPlay:SSOurce:MVIew:Y[:SCALe] :FIT

TIMSSOURCE

:DISPlay:SSOurce:MVIew:Y:SCALe:FIT

[:SENSe] : SSOurce:MEASurement

:DISPlay:SSOurce:MView:Y[:SCALe]:FULL

:DISPlay:SSOurce:MVIew:Y[:SCALe] : FULL

TIMSSOURCE

:DISPTay:SSOurce:MVIew:Y:SCALe:FULL

[:SENSe] : SSOurce:MEASurement
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:DISPlay:SSOurce:MView:Y[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:MVIew:Y[:SCALe] :0FFSet <value>

:DISPTay:SSOurce:MVIew:Y[:SCALe] :OFFSet?

<value>::=<NRf> —

TIMSSOURCE

—100dBc/Hz

:DISPTay:SSOurce:MVIew:Y:SCALe:0FFSet -100

[:SENSe] :SSOurce:MEASurement

:DISPlay:SSOurce:MView:Y[:SCALe]:PDIVision(?)

:DISPlay:SSOurce:MVIew:Y[:SCALe] :PDIVision <value>

:DISPTay:SSOurce:MVIew:Y[:SCALe] :PDIVision?

<value>::=<NRf> — 1

TIMSSOURCE

:DISPlay:SSOurce:MVIew:Y:SCALe:PDIVision 50kHz

[:SENSe] :SSOurce:MEASurement
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(/div)
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:DISPlay

:DISPlay:SSOurce:MView:Y[:SCALe]:RANGe(?)

:DISPlay:SSOurce:MVIew:Y[:SCALe] :RANGe <value>

:DISPlay:SSOurce:MVIew:Y[:SCALe] :RANGe?

<value>::=<NRf> —

TIMSSOURCE

100dB

:DISPTay:SSOurce:MVIew:Y:SCALe:RANGe 100

[:SENSe] :SSOurce:MEASurement
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:DISPlay:SSOurce:SView 21

:DISPTay:SSOurce:SVIiew

] (Real Time Phase Noise)
[ | (Real Time Spurious)
:INSTrument [:SELect]
TIMSSOURCE
:DISPlay:SSOurce:SVIew [:SENSe]:SSOurce:MEASurement
RTPNoise ( ) RTSPurious (
:DISPlay
:SS0urce
:SView
:COLor
[:SCALe]
:0FFSet <numeric_value>
:RANGe <numeric_value>
:FORMat SPECtrum | NGRam | RJVTime | IPNVtime
| CNVTime | CNVFrequency
X
[:SCALe]
:0FFSet <numeric_value>
:PDIVision <numeric_value>
:RANGe <numeric_value>
:STARt <numeric_value>
:STOP <numeric_value>
Y
[:SCALe]
(FIT
<FULL
:0FFSet <numeric_value>
:PDIVision <numeric_value>
:PLINe <numeric_value>
:RANGe <numeric_value>
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:DISPlay

:DISPlay:SSOurce:SView:COLor[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SVIew:FORMat NGRam

:DISPlay:SSOurce:SVIew:COLor[:SCALe] :0FFSet <value>

:DISPlay:SSOurce:SVIew:COLor[:SCALe] :OFFSet?

<value>::=<NRf> —
—230 +70 dBc/Hz

TIMSSOURCE

—100dBc/Hz

:DISPTay:SSOurce:SVIew:COLor:SCALe:0FFSet -100

:DISPTay:SSOurce:SVIew:FORMat

:DISPlay:SSOurce:SVlew:COLor[:SCALe]:RANGe(?)

C/N

:DISPlay:SSOurce:SVIew:FORMat NGRam

:DISPlay:SSOurce:SVIew:COLor[:SCALe] :RANGe <value>

:DISPlay:SSOurce:SVIew:COLor[:SCALe] :RANGe?
<rel_ampl>::={ 10 | 20 | 50 | 100 } [dB]—
TIMSSOURCE

100dB

:DISPTay:SSOurce:SVIew:COLor:SCALe:RANGe 100

:DISPlay:SSOurce:SVIew: FORMat
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:DISPlay:SSOurce:SVlew:FORMat(?)

:DISPTay:SSOurce:SVIew:FORMat { SPECtrum | NGRam | RJVTime | IPNVtime
| CNVTime | CNVFrequency }

:DISPTay:SSOurce:SVIew:FORMat?

2-35:
1
SPECtrum RTPNoise RTSPurious
NGRam RTPNoise RTSPurious
RJVTime Vs RTPNoise
IPNVtime Vs RTPNoise
CNVTime C/Nvs RTPNoise
CNVFrequency |C/Nvs RTSPurious
1 [:SENSe]:SSOurce:MEASurement
TIMSSOURCE

:DISPTay:SSOurce:SVIew:FORMat NGRam

:DISPTay:SSOurce:MVIew:FORMat
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:DISPlay

:DISPlay:SSOurce:SVlew:X[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SVIew:FORMat SPECtrum RIJVTi-
me IPNVtime CNVTime

:DISPlay:SSOurce:SVIew:X[:SCALe] :OFFSet <value>

:DISPlay:SSOurce:SVIew:X[:SCALe] :OFFSet?
<value>::=<NRf> —

2-86
TIMSSOURCE

1GHz

:DISPTay:SSOurce:SVIew:X:SCALe:0FFSet 1GHz

:DISPlay:SSOurce:SVIew: FORMat
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:DISPlay:SSOurce:SVlew:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:SVIew:FORMat SPECtrum RIJVTi-
me IPNVtime CNVTime
:DISPTay:SSOurce:SVIew:X[:SCALe] :PDIVision <value>
:DISPlay:SSOurce:SVIew:X[:SCALe] :PDIVision?
<freg>::=<NRf> — 1

2-86
TIMSSOURCE
Vs Tus/div

:DISPTay:SSOurce:SVIew:X:SCALe:PDIVision 1lus

:DISPTay:SSOurce:SVIew:FORMat
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:DISPlay

:DISPlay:SSOurce:SVlew:X[:SCALe]:RANGe(?)

:DISPlay:SSOurce:SVIew:FORMat SPECtrum RIJVTi-
me IPNVtime CNVTime

:DISPlay:SSOurce:SVIew:X[:SCALe] :RANGe <value>

:DISPlay:SSOurce:SVIew:X[:SCALe] :RANGe?

<value>::=<NRf> —
2-86

TIMSSOURCE

10MHz

:DISPlay:SSOurce:SVIew:X:SCALe:RANGe 10MHz

:DISPlay:SSOurce:SVIew: FORMat
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:DISPlay:SSOurce:SVlew:X[:SCALe]:STARt(?)

:DISPlay:SSOurce:SVIew:FORMat NGRam
VFrequency

:DISPlay:SSOurce:SVIew:X[:SCALe] :STARt <value>

:DISPlay:SSOurce:SVIew:X[:SCALe] : STARt?
<value>::=<NRf> —

2-86
TIMSSOURCE

1kHz

:DISPTay:SSOurce:SVIew:X:SCALe:STARt 1kHz

:DISPlay:SSOurce:SVIew:FORMat
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:DISPlay

:DISPlay:SSOurce:SView:X[:SCALe]:STOP(?)

:DISPlay:SSOurce:SVIew:FORMat NGRam
VFrequency

:DISPlay:SSOurce:SVIew:X[:SCALe] :STOP <value>

:DISPlay:SSOurce:SVIew:X[:SCALe] :STOP?
<value>::=<NRf> —

2-86
TIMSSOURCE

1MHz

:DISPTay:SSOurce:SVIew:X:SCALe:STOP 1MHz

:DISPlay:SSOurce:SVIew: FORMat

CN-
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:DISPlay:SSOurce:SVlew:Y[:SCALe]:FIT

:DISPlay:SSOurce:SVIew:Y[:SCALe] :FIT

TIMSSOURCE

:DISPTay:SSOurce:SVIew:Y:SCALe:FIT

:DISPTay:SSOurce:SVIew:FORMat

:DISPlay:SSOurce:SView:Y[:SCALe]:FULL

:DISPTay:SSOurce:SVIew:Y[:SCALe] : FULL

TIMSSOURCE

:DISPTay:SSOurce:SVIew:Y:SCALe:FULL

:DISPTay:SSOurce:SVIew:FORMat
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:DISPlay

:DISPlay:SSOurce:SVlew:Y[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:SVIew:Y[:SCALe] :0FFSet <value>

:DISPlay:SSOurce:SVIew:Y[:SCALe] :0OFFSet?

<value>::=<NRf> —

D D-3
TIMSSOURCE
—100dBm
:DISPTay:SSOurce:SVIew:Y:SCALe:0FFSet -100dBm
:DISPTay:SSOurce:SVIew:FORMat
:DISPlay:SSOurce:SVlew:Y[:SCALe]:PDIVision(?)
(/div)
:DISPlay:SSOurce:SVIew:FORMat SPECtrum RIJVTi-
me IPNVtime CNVTime CNVFrequency

:DISPlay:SSOurce:SVIew:Y[:SCALe] :PDIVision <value>

:DISPlay:SSOurce:SVIew:Y[:SCALe] :PDIVision?

<value>::=<NRf> — 1

TIMSSOURCE

C/Nvs 15dB/div

:DISPTay:SSOurce:SVIew:Y:SCALe:PDIVision 15

:DISPTay:SSOurce:SVIew:FORMat
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:DISPlay:SSOurce:SVlew:Y[:SCALe]:PLINe(?)

:DISPlay:SSOurce:SVIew:FORMat

:DISPlay:SSOurce:SVIew:Y[:SCALe] :PLINe <value>

:DISPlay:SSOurce:SVIew:Y[:SCALe] :PLINe?

<value>::=<NR1> —
1 1024

TIMSSOURCE

:DISPTay:SSOurce:SVIew:Y:SCALe:PLINe 5

:DISPTay:SSOurce:SVIew:FORMat
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:DISPlay

:DISPlay:SSOurce:SVlew:Y[:SCALe]:RANGe(?)

:DISPlay:SSOurce:SVIew:FORMat SPECtrum RIJVTi-
me IPNVtime CNVTime CNVFrequency

:DISPlay:SSOurce:SVIew:Y[:SCALe] :RANGe <value>

:DISPlay:SSOurce:SVIew:Y[:SCALe] :RANGe?

<value>::=<NRf> —

TIMSSOURCE

100dB

:DISPTay:SSOurce:SVIew:Y:SCALe:RANGe 100

:DISPlay:SSOurce:SVIew: FORMat
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:DISPlay:SSOurce:SPECtrum 21

:DISPTay:SSOurce:SPECtrum

[ | (Spurious)
[ ] (Real Time Spurious)
:INSTrument[:SELect]
TIMSSOURCE
:DISPlay:SSOurce:SVIew [:SENSe]:SSOurce:MEASurement
SPURious RTSPurious
:DISPlay
:SS0urce
:SPECtrum
X
[:SCALe]
:0FFSet <frequency>
:PDIVsion <frequency>
Y
[:SCALe]
:FIT
:FULL
:0FFSet <amplitude>
:PDIVsion <amplitude>
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:DISPlay

:DISPlay:SSOurce:SPECtrum:X[:SCALe]:OFFSet(?)

:DISPTay:SSOurce:SPECtrum:X[:SCALe] :OFFSet <freg>

:DISPlay:SSOurce:SPECtrum:X[:SCALe] :OFFSet?
<freg>::=<NRf> —

2-86
TIMSSOURCE

100MHz

:DISPlay:SSOurce:SPECtrum:X:SCALe:0FFSet 100MHz

:DISPlay:SSOurce:SPECtrum:X[:SCALe]:PDIVision(?)

(/div)
:DISPlay:SSOurce:SPECtrum:X[:SCALe] :PDIVision <freg>

:DISPlay:SSOurce:SPECtrum:X[:SCALe] :PDIVision?
<freg>::=<NRf> — 1

2-86
TIMSSOURCE

100kHz/div

:DISPTay:SSOurce:SPECtrum:X:SCALe:PDIVision 100.0E+3
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:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:FIT

:DISPlay:SSOurce:SPECtrum:Y[:SCALe] :FIT

TIMSSOURCE

:DISPTay:SSOurce:SPECtrum:Y:SCALe:FIT

:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:FULL

:DISPTay:SSOurce:SPECtrum:Y[:SCALe] : FULL

TIMSSOURCE

:DISPTay:SSOurce:SPECtrum:Y:SCALe:FULL
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:DISPlay

:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:OFFSet(?)

:DISPTay:SSOurce:SPECtrum:Y[:SCALe] :OFFSet <ampl>
:DISPlay:SSOurce:SPECtrum:Y[:SCALe] :OFFSet?

<amp1>::=<NRf> — —200 0dBm

TIMSSOURCE

—100dBm

:DISPTay:SSOurce:SPECtrum:Y:SCALe:0FFSet -100

:DISPlay:SSOurce:SPECtrum:Y[:SCALe]:PDIVision(?)
(/div)
:DISPlay:SSOurce:SPECtrum:Y[:SCALe] :PDIVision <ampl>

:DISPlay:SSOurce:SPECtrum:Y[:SCALe] :PDIVision?

<ampl1>::=<NRf> — 1 0 10 dB/div

TIMSSOURCE

1 10dB

:DISPTay:SSOurce:SPECtrum:Y:SCALe:PDIVision 10
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:DISPlay:SSOurce:TFRequency

DISPlay:SSOurce:TFRequency

21

:INSTrument[:SELect]

TIMSSOURCE
:DISplay:SSOurce:SVIew:FORMat NGRam (
)
:DISPTay
:5S0urce
:TFRequency
:NGRam
:COLor
[:SCALe]
:0FFSet <numeric_value>
:RANge <numeric_value>
X
[:SCALe]
:STARt <frequency>
:STOP <frequency>
Y
[:SCALe]
:0FFSet <frame_count>
:PLINe <frame_count>
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:DISPlay

:DISPlay:SSOurce:TFRequency:NGRam:COLor[:SCALe]:OFFSet(?)

C/N

:DISPTay:SSOurce:TFRequency :NGRam:COLor[:SCALe] :OFFSet <value>

:DISPTay:SSOurce:TFRequency :NGRam:COLor[:SCALe] :OFFSet?
<value>::=<NRf> — —230 70 dBc/Hz
TIMSSOURCE

—50dBc/Hz

:DISPTay:SSOurce:TFRequency:NGRam:COLor:SCALe:0FFSet -50

:DISPlay:SSOurce:TFRequency:NGRam:COLor[:SCALe]:RANGe(?)

:DISPlay:SSOurce:TFRequency:NGRam:COLor[:SCALe] :RANGe <value>

:DISPTay:SSOurce:TFRequency :NGRam:COLor[:SCALe] : RANGe?
<value>::={ 10 | 20 | 50 | 100 } [dB]—
TIMSSOURCE

100dB

:DISPTay:SSOurce:TFRequency:NGRam:COLor:SCALe:RANGe 100
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:DISPlay:SSOurce:TFRequency:NGRam:X[:SCALe]:STARt(?)

:DISPlay:SSOurce:TFRequency:NGRam:X[:SCALe] :STARt <freg>

:DISPlay:SSOurce:TFRequency:NGRam: X[ :SCALe] : STARt?

<freg>::=<NRf> — 10Hz 100MHz
2-86

TIMSSOURCE

1kHz

:DISPTay:SSOurce:TFRequency:NGRam:X:SCALe:STARt 1kHz

:DISPlay:SSOurce:TFRequency:NGRam:X[:SCALe]:STOP(?)

:DISPlay:SSOurce:TFRequency:NGRam:X[:SCALe] :STOP <freg>

:DISPlay:SSOurce:TFRequency :NGRam: X[:SCALe] : STOP?

<freg>>::=<NRf> — 10Hz 100MHz
2-86

TIMSSOURCE

1MHz

:DISPTay:SSOurce:TFRequency:NGRam:X:SCALe:STOP 1MHz
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:DISPlay

:DISPlay:SSOurce:TFRequency:NGRam:Y[:SCALe]:OFFSet(?)

C )

:DISPTay:SSOurce:TFRequency:NGRam:Y[:SCALe] :OFFSet <value>

:DISPTay:SSOurce:TFRequency :NGRam:Y[:SCALe] :OFFSet?
<value>::=<NR1> — —40960 0
TIMSSOURCE

—100

:DISPTay:SSOurce:TFRequency:NGRam:Y:SCALe:0FFSet -100

:DISPlay:SSOurce: TFRequency:NGRam:Y[:SCALe]:PLINe(?)

:DISPTay:SSOurce:TFRequency:NGRam:Y[:SCALe] :PLINe <value>

:DISPlay:SSOurce:TFRequency :NGRam:Y[:SCALe] :PLINe?

<value>::=<NR1> —
1 1024

TIMSSOURCE

5

:DISPTay:SSOurce:TFRequency:NGRam:Y:SCALe:PLINe 5
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:DISPlay:SSOurce:WAVeform

:DISPTay:SSOurce:WAVeform

21

TIMSSOURCE

:DISPlay:SSOurce:SVIew

:INSTrument[:SELect]

[:SENSe]:SSOurce:MEASurement

FVTime
:DISPTay
:SSQurce
:WAVeform
:X
[:SCALe]
:0FFSet <time>
:PDIVsion <time>
Y
[:SCALe]
:FIT
:FULL
:0FFSet <amplitude>
:PDIVsion <amplitude>
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:DISPlay

:DISPlay:SSOurce:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:SSOurce:WAVeform:X[:SCALe] :OFFSet <time>

:DISPlay:SSOurce:WAVeform:X[:SCALe] :OFFSet?
<time>::=<NRf> —

2-86
TIMSSOURCE

—100ms

:DISPT1ay:SSOurce:WAVeform:X:SCALe:0FFSet -100ms

:DISPlay:SSOurce:WAVeform:X[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:WAVeform:X[:SCALe] :PDIVision <time>

:DISPlay:SSOurce:WAVeform:X[:SCALe] :PDIVision?
<time>::=<NRf> — 1

2-86
TIMSSOURCE

10ms/div

:DISP1ay:SSOurce:WAVeform:X:SCALe:PDIVision 10ms
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:DISPlay:SSOurce:WAVeform:Y[:SCALe]:FIT

:DISPlay:SSOurce:WAVeform:Y[:SCALe] :FIT

TIMSSOURCE

:DISPTay:SSOurce:WAVeform:Y:SCALe:FIT

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:FULL

:DISPTay:SSOurce:WAVeform:Y[:SCALe] : FULL

TIMSSOURCE

:DISP1ay:SSOurce:WAVeform:Y:SCALe:FULL
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:DISPlay

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPTay:SSOurce:WAVeform:Y[:SCALe] :OFFSet <ampl>

:DISPlay:SSOurce:WAVeform:Y[:SCALe] :OFFSet?

<ampl1>::=<NRf> —

TIMSSOURCE

Vs —100kHz

:DISPTay:SSOurce:WAVeform:Y:SCALe:0FFSet -100kHz

:DISPlay:SSOurce:WAVeform:Y[:SCALe]:PDIVision(?)

(/div)

:DISPlay:SSOurce:WAVeform:Y[:SCALe] :PDIVision <ampl>

:DISPlay:SSOurce:WAVeform:Y[:SCALe] :PDIVision?

<ampl>::=<NRf> — 1

TIMSSOURCE

Vs 50kHz/div

:DISPTay:SSOurce:WAVeform:Y:SCALe:PDIVision 50kHz
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:DISPlay:TFRequency

2-220

DISPlay:TFRequency

SARTIME (Real Time S/A)

SASGRAM (S/A with Spectrogram)

:INSTrument[:SELect]

:DISPTay
:TFRequency
:SGRam
:COLor
[:SCALe]
:0FFSet <amplitude>
:RANge <relative_amplitude>
:MLINe
:ANNotation
[:STATe] <boolean>
:FREQuency
:INTerval <numeric_value>
:0FFSet <numeric_value>
[:STATe] <boolean>
:TIME
:INTerval <numeric_value>
:0FFSet <numeric_value>
[:STATe] <boolean>
:X
[:SCALe]
:0FFSet <frequency>
:SPAN <frequency>
Y
[:SCALe]
:0FFSet <frame_count>
:PLINe <frame_count>
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:DISPlay

Marker: 799,95 MHz
-93.964 dBm
_ -25.472 s -28 frame

:SGRam:Y[:SCALe] :PLINe

:SGRam:COLor[:SCALe] : RANGe
:SGRam:COLor[:SCALe] :OFFSet ———— - |- -

:SGRam:Y[:SCALe] :OFFSet ——>

&
Center: 800 MHz Span: 100 kHz

T‘ :SGRam:X[:SCALe] : SPAN |
:SGRam:X[:SCALe] : OFFSet

:DISPlay:TFRequency

2-13 :DISPlay:TFRequency
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:DISPlay:TFRequency:SGRam:COLor[:SCALe]:OFFSet(?)

:DISPlay:TFRequency:SGRam:COLor[:SCALe] :OFFSet <ampl>

:DISPlay:TFRequency:SGRam:COLor[:SCALe] :OFFSet?
<ampl>::=<NRf> — —200 0 dBm
SARTIME

—100dBm

:DISP1ay:TFRequency:SGRam:COLor:SCALe:0FFSet -100

:DISPlay:TFRequency:SGRam:COLor[:SCALe]:RANGe(?)

:DISPlay:TFRequency:SGRam:COLor[:SCALe] :RANGe <rel ampl>

:DISPlay:TFRequency:SGRam:COLor [:SCALe] : RANGe?

<rel_ampl>::={ 10 | 20 | 50 | 100 } —
[dB]

SARTIME

100dB

:DISPTay:TFRequency:SGRam:COLor:SCALe:RANGe 100
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:DISPlay

:DISPlay:TFRequency:SGRam:MLINe:ANNotation[:STATe](?)

:DISPTay:TFRequency:SGRam:MLINe:ANNotation[:STATe] { OFF | ON | O | 1 }

:DISPlay:TFRequency:SGRam:MLINe:ANNotation[:STATe]?

OFF 0—

ON 1—

SARTIME

:DISPTay:TFRequency:SGRam:MLINe:ANNotation:STATe ON

:DISPlay:TFRequency:SGRam:MLINe:FREQuency:INTerval(?)

:DISPTay:TFRequency:SGRam:MLINe:FREQuency:INTerval <value>

:DISPTay:TFRequency:SGRam:MLINe:FREQuency:INTerval?

<value>::=<NRf> —
0 [Hz]

SARTIME

:DISPTay:TFRequency:SGRam:MLINe:FREQuency:INTerval 1MHz
1MHz
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:DISPlay:TFRequency:SGRam:MLINe:FREQuency:OFFSet(?)

:DISPTay:TFRequency:SGRam:MLINe: FREQuency:0FFSet <value>

:DISPTay:TFRequency:SGRam:MLINe: FREQuency:0FFSet?

<value>::=<NRf> —

I+

/2 [Hz]

SARTIME

:DISPTay:TFRequency:SGRam:MLINe: FREQuency:0FFSet 2GHz
2GHz

:DISPlay:TFRequency:SGRam:MLINe:FREQuency[:STATe](?)

:DISPTay:TFRequency:SGRam:MLINe:FREQuency[:STATe] { OFF | ON | O | 1 }

:DISPlay:TFRequency:SGRam:MLINe: FREQuency[:STATe]?

OFF 0—
ON 1—

SARTIME

:DISPTay:TFRequency:SGRam:MLINe: FREQuency:STATe ON
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:DISPlay

:DISPlay:TFRequency:SGRam:MLINe:TIME:INTerval(?)

:DISPTay:TFRequency:SGRam:MLINe:TIME:INTerval <value>

:DISPTay:TFRequency:SGRam:MLINe:TIME: INTerval?
<value>::=<NRf> —

0Os
SARTIME

:DISPTay:TFRequency:SGRam:MLINe:TIME: INTerval 1m

1ms

:DISPlay:TFRequency:SGRam:MLINe: TIME:OFFSet(?)

:DISPTay:TFRequency:SGRam:MLINe:TIME:OFFSet <value>

:DISPTay:TFRequency:SGRam:MLINe:TIME:QFFSet?

<value>::=<NRf> —
0 0

SARTIME

:DISPTay:TFRequency:SGRam:MLINe:TIME:OFFSet -500u
—=500pas
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:DISPlay:TFRequency:SGRam:MLINe:TIME[:STATe](?)

:DISPTay:TFRequency:SGRam:MLINe: TIME[:STATe] { OFF | ON | O | 1 }

:DISPlay:TFRequency:SGRam:MLINe: TIME[:STATe]?

OFF 0—
ON 1—

SARTIME

:DISPTay:TFRequency:SGRam:MLINe:TIME:STATe ON
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:DISPlay

:DISPlay:TFRequency:SGRam:X[:SCALe]:OFFSet(?)

:DISPlay:TFRequency:SGRam:X[:SCALe] :OFFSet <freg>

:DISPTay:TFRequency:SGRam:X[:SCALe] :OFFSet?
<freg>::=<NRf> —

2-86
SARTIME

100MHz

:DISPTay:TFRequency:SGRam:X:SCALe:0FFSet 100MHz

[:SENSe] : FREQuency : BAND

:DISPlay:TFRequency:SGRam:X[:SCALe]:SPAN(?)

:DISPlay:TFRequency:SGRam:X[:SCALe] : SPAN <freg>

:DISPTay:TFRequency:SGRam:X[:SCALe] : SPAN?
<freg>>::=<NRf> —

2-86
SARTIME

10MHz

:DISPTay:TFRequency:SGRam:X:SCALe:SPAN 10MHz
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:DISPlay:TFRequency:SGRam:Y[:SCALe]:OFFSet(?)
()

:DISPlay:TFRequency:SGRam:Y[:SCALe] :OFFSet <value>

:DISPlay:TFRequency:SGRam:Y[:SCALe] :OFFSet?
<value>::=<NR1> — —-63999 0
SARTIME

—100

:DISPlay:TFRequency:SGRam:Y:SCALe:0FFSet -100

:DISPlay:TFRequency:SGRam:Y[:SCALe]:PLINe(?)

:DISPlay:TFRequency:SGRam:Y[:SCALe] :PLINe <value>

:DISPlay:TFRequency:SGRam:Y[:SCALe] : PLINe?
<value>::=<NR1> — 1 1024

SARTIME

:DISPlay:TFRequency:SGRam:Y:SCALe:PLINe 5
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:DISPlay

:DISPlay[:VIEW]

:DISPTay[:VIEW]

:DISPlay
[:VIEW]
:BRIGhtness <numeric_value>
:FORMat VIS | V3S | VA4S | VSPL | HSPL | MULTitude
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:DISPlay[:VIEW]:BRIGhtness(?)

:DISPlay[:VIEW] :BRIGhtness <value>

:DISPTay[:VIEW] :BRIGhtness?

<value>::=<NRf> — 0 1.0 1.0

(SYSTEM — Display Brightness)
0 100% 100%

1

:DISPTay:VIEW:BRIGhtness 1
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:DISPlay

:DISPlay[:VIEW]:FORMat(?)

:DISPlay[:VIEW] :FORMat { VIS | V3S | V4S | VSPL | HSPL | MULTitude }

:DISPTay[:VIEW] : FORMat?

V1S — 1
V3S — 3
V4s — 4
VSPL — 1 4
HSPL — 1 4
MULTitude —
SPL HSPL INSTrument[:SELect]
SASGRAM SARTIME
MULT{tude 3 DEM-
ADEM TIMCCDF TIMTRAN
1

:DISPlay:VIEW:FORMat V1S

1 3 1
1 4
4 4
MULTitude HSPL VSPL
2-14

:INSTrument[:SELect]
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:DISPlay:WAVeform

:DISPTay:WAVeform DEMOD ( ) TIME ( )
6
Vs. AM Vs.
I/Q Vs. FM Vvs.
Vs. PM Vs.
:INSTrument[:SELect]
DEMADEM TIMTRAN
:DISPTay
:WAVeform
:X
[:SCALe]
:0FFSet <time>
:PDIVision <time>
Y
[:SCALe]
FIT
:FULL
:0FFSet <amplitude>
:PDIVision <amplitude>

500
mv

:Y[:SCALe] :PDIVision

T A AR

-500
YT . mv
:Y[:SCALe] :OFFSet —> T8 T

Scale: 1.28 ms/

~>‘ L :X[:SCALe] :PDIVision

:X[:SCALe] :OFFSet

:DISPlay:WAVeform

2-15 :DISPlay:WAVeform
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:DISPlay

:DISPlay:WAVeform:X[:SCALe]:OFFSet(?)

:DISPlay:WAVeform:X[:SCALe] :OFFSet <time>

:DISPlay:WAVeform:X[:SCALe] :OFFSet?

<time>::=<NRf> — —32000 Os
2-86

DEMADEM, TIMTRAN

—100us

:DISPTay:WAVeform:X:SCALe:0FFSet -100us

-DISPlay:WAVeform:X[:SCALe]:PDIVision(?)
(/div)

:DISPlay:WAVeform:X[:SCALe] :PDIVision <time>

:DISPlay:WAVeform:X[:SCALe] :PDIVision?

<time>::=<NRf> — 1 0 3200 s/div
2-86

DEMADEM, TIMTRAN

10ps/div

:DISPT1ay:WAVeform:X:SCALe:PDIVision 10us
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:DISPlay:WAVeform:Y[:SCALe]:FIT

:DISPlay:WAVeform:Y[:SCALe] :FIT

DEMADEM, TIMTRAN

:DISPTay:WAVeform:Y:SCALe:FIT

:DISPlay:WAVeform:Y[:SCALe]:FULL

:DISPTay:WAVeform:Y[:SCALe] : FULL

DEMADEM, TIMTRAN

:DISPTlay:WAVeform:Y:SCALe:FULL
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:DISPlay

:DISPlay:WAVeform:Y[:SCALe]:OFFSet(?)

:DISPTay:WAVeform:Y[:SCALe] :0FFSet <ampl>

:DISPlay:WAVeform:Y[:SCALe] :OFFSet?

<ampl1>::=<NRf> —

DEMADEM, TIMTRAN

—100dBm

:DISPTlay:WAVeform:Y:SCALe:0FFSet -100

-DISPlay:WAVeform:Y[:SCALe]:PDIVision(?)
(/div)

:DISPlay:WAVeform:Y[:SCALe] :PDIVision <ampl>

:DISPlay:WAVeform:Y[:SCALe] :PDIVision?

<ampl>::=<NRf> — 1

DEMADEM, TIMTRAN

10dB/div

:DISPTay:WAVeform:Y:SCALe:PDIVision 10
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:FETCh

:FETCh

:READ = 2-321

:FETCh :INSTrument[:SELect]
= 2-303

:FETCh
:ADEMod
:AM?
:RESuTt?
tFM?
:RESuTt?
:PM?
:PSPectrum?
:CCDF?
:DDEMod 1 IQVTime | FVTime | CONSte | EVM | AEVM | PEVM
| MERRor | AMERror | PMERror
| PERRor | APERror | PPERror | RHO | SLENgth | FERRor
| 00FFset | STABle | PVTime | AMAM | AMPM | CCDF | PDF
| RMSError | FDEViation
:DISTribution:CCDF?

:0VIew?

:PULSe? ALL | WIDTh | PPOWer | OORatio | RIPPle | PERiod
| DCYCle | PHASe | CHPower | OBWidth | EBWidth
| FREQuency

:SPECtrum?
:TAMP11itude?
: TFRequency?

:RFID? 1 CARRier | PODown | BPODown
| RFENvelope | BRFenvelope
| CONSTe | EYE | STABle | PSTable

:ACPower?
:SPURious?
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:SPECtrum
:ACPower?
:SPURious?

:SPECtrum?

:ACPower?

:CFRequency?

:CHPower?

:CNRatio?

:EBWidth?

:0BWidth?

:SPURious?

:SSOurce? 1 PNOise | SPURious | RTPNoise | RTSPurious | FVTime

:CNVFrequency?

:CNVTime?

:IPNVtime?

:IPNVtime?

:RIVTime?

:SPECtrum?

:TRANsient
:FVTime?

:TRANsient

:FVTime?

:IQVTime?

:PVTime?

1 21
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:FETCh

:FETCh:ADEMod:AM?

AM

:FETCh:ADEMod : AM?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [%]
IEEE488.2 4
n 512000 1024 > 500

DEMADEM

AM
:FETCh:ADEMod : AM?
1024

#41024XXXX. . .

:INSTrument[:SELect]
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:FETCh:ADEMod:AM:RESult?

2-240

AM

:FETCh:ADEMod:AM:RESuTt?

None

<+AM>,<-AM>,<Total AM>

<+AM>: :=<NRf> — [%]

<—-AM>: :=<NRf> — [%]

<Total AM>::=<NRf> — - /2
DEMADEM

AM

:FETCh:ADEMod : AM:RESu1t?

37.34,-48.75,43.04

:INSTrument[:SELect]

RSA3303A RSA3308A 3GHz 8GHz
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:FETCh

:FETCh:ADEMod:FM?

FM

:FETCh:ADEMod: FM?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 > 500

DEMADEM

FM
:FETCh:ADEMod: FM?
1024

#41024XXXX. .«

:INSTrument[:SELect]
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:FETCh:ADEMod:FM:RESult?

2-242

FM

:FETCh:ADEMod:FM:RESu1t?

None

<+Pk_Freq_Dev>,<-Pk_Freq_Dev>,<P2P_Freq_Dev>,<P2P_Freq_Dev/2>,

<RMS_Freq_Dev>

<+Pk_Freq Dev>::=<NRf> —
<-Pk_Freq Dev>::=<NRf> —
<P2P_Freq_Dev>::=<NRf> —

<P2P_Freq_Dev/2>::=<NRf> —

<RMS_Freq_Dev>::=<NRf> —

DEMADEM

FM

RMS

:FETCh:ADEMod: FM:RESu1t?

[Hz]
[Hz]

- /2 [Hz]
[Hz]

1.13e+4,-1.55e+4,2.48e+4,1.24e+4,1.03e+4

:INSTrument[:SELect]
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:FETCh

:FETCh:ADEMod:PM?

PM

:FETCh:ADEMod: PM?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [deg]
IEEE488.2 4
n 512000 1024 > 500

DEMADEM

PM
:FETCh:ADEMod : PM?
1024

#41024XXXX. .«

:INSTrument[:SELect]
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:FETCh:ADEMod:PSPectrum?

:FETCh:ADEMod:PSPectrum?

#<Num_digit><Num_byte><Data(1l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

DEMADEM

:FETCh:ADEMod:PSPectrum?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:FETCh

:FETCh:CCDF?

CCDF

:FETCh:CCDF?

<meanpower>,<peakpower>,<cfactor>

<meanpower>: :=<NRf> —
<peakpower>::=<NRf> —
<cfactor>::=<NRf> —

TIMCCDF

CCDF

:FETCh:CCDF?

-11.16,-8.18,2.96

:INSTrument[:SELect]

[dBm]
[dBm]
[dB]
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:FETCh:DDEMod? 21

:FETCh:DDEMod? { IQVTime | FVTime | CONSte | EVM | AEVM | PEVM | MERRor

| AMERror | PMERror | PERRor | APERror | PPERror | RHO | SLENgth | FERRor
| 00FFset | STABle | PVTime | AMAM | AMPM | CCDF | PDF

| RMSError | FDEViation }

2-36:

IQVTime Q

FVTime FSK
CONSte
EVM EVM (Error Vector Magnitude)
AEVM EVM RMS

PEVM EVM

MERRor
AMERror RMS
PMERror
PERRor
APERror RMS
PPERror
RHO (0)
SLENgth
FERRor
OOFFset

[:SENSe]:DDEMod:FORMat ASK FSK GFSK

STABIle
PVTime

[:SENSe]:DDEMod:FORMat =~ ASK
AMAM AM/AM

AMPM AM/PM
CCDF CCDF
PDF PDF

RMSError RMS
[:SENSe]:DDEMod:FORMat C4FM

FDEViation

[:SENSe]:DDEMod:FORMat = C4FM
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:FETCh

:UNIT:ANGLe (degree) (radian)

IQVTime
#<Num_digit><Num_byte><Idata(l)><Qdata(l)><Idata(2)><Qdata2>...
<Idata(n)><Qdata(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Idata(n)><Qdata(n)> —1I Q [Vl
IEEE488.2 4
n 512000 1024 =500

FVTime

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 > 500

CONSte
#<Num_digit><Num_byte><Ip(1)><Qp(1)>...<Ip(n)><Qp(n)>

<Num_digit>— <Num_byte>

<Num_byte> —
<Ip(n)>—1
<Qp(n)>—Q
<Ip(n)> <Qp(n)> IEEE488.2 4
n 512000 1024 ><500
EVM

#<Num_digit><Num_byte><Evm(1)><Evm(2)>...<Evm(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Evm(n)> — EVM [%]
IEEE488.2 4
n 512000 1024 =500

AEVM

<aevm>::=<NRf> —EVM RMS [%]
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PEVM
<pevm>,<symb>
<pevm>: :=<NRf> — EVM [%]

<symb>::=<NR1> — EVM

MERRor
#<Num_digit><Num_byte><Merr(1)><Merr(2)>...<Merr(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Merr(n)> — [%]
IEEE488.2 4
n 512000 1024 ><500

AMERror
<amer>::=<NRf> — RMS [%]

PMERror

<pmer>,<symb>

<pmer>::=<NRf> — [%]
<symb>::=<NR1> —

PERRor
#<Num_digit><Num_byte><Perr(1)><Perr(2)>...<Perr(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Perr(n)> — [deg/rad]
IEEE488.2 4
n 512000 1024 > 500

APERror
<aper>::=<NRf> — RMS [deg/rad]

PPERror
<pper>,<symb>

<pper>::=<NRf> — [deg/rad]
<symb>::=<NRf> —

RHO
<rho>::=<NRf> — (0)
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:FETCh

SLENgth

<slen>::=<NR1> —

FERRor

<ferr>::=<NRf> —

OOFFset
<ooff>::=<NRf> —

STABle
#<Num_digit><Num_byte><Sym(1)><Sym(2)>..

<Num_digit> — <Num_byte>
<Num_byte> —
<Sym(n)>::=<NR1> —

IEEE488.2 4

n 512000 1024 > 500

PVTIme
#<Num_digit><Num_byte><Data(1)><Data(2)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Sym(n)>::=<NR1> —

IEEE488.2 4

n 512000 1024 ><500

AMAM
<Comp>,<Coeff _num>{,<Coeff>}

<Comp>::=<NRf> — 1dB [dBm]
<Coeff_Num>::=<NR1> — (1 16)

[:SENSe]:DDEMod:NLINearity: COEFficient

<Coeff>::=<NRf> —

AMPM
<Coeff num>{,<Coeff>}

<Coeff Num>::=<NR1> — (1 16)

[:SENSe|:DDEMod:NLINearity: COEFficient

<Coeff>::=<NRf> —

[Hz]

[dB]

.<Sym(n)>

...<Data(n)>

[dBm]
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CCDF
<Mean_Power_D>,<Peak_Power_D>,<Crest_Factor_D>,
<Mean_Power_R>,<Peak_Power_R>,<Crest_Factor_R>

<Mean_Power D>::=<NRf> — [dBm]

<Peak Power D>::=<NRf> — [dBm]
<Crest_Factor_D>::=<NRf> — [dB]
<Mean_Power _R>::=<NRf> — [dBm]
<Peak_Power R>::=<NRf> — [dBm]
<Crest_Factor_ R>::=<NRf> — [dB]
PDF

<Mean_Power D>,<Peak Power D>,<Mean Power R>,<Peak Power R>

<Mean_Power_D>::=<NRf> — [dBm]
<Peak Power D>::=<NRf> — [dBm]
<Mean_Power R>::=<NRf> — [dBm]
<Peak Power R>::=<NRf> — [dBm]
RMSError
<RMSError>::=<NRf> — RMS [Hz]
FDEViation
<FDeviation>::=<NRf> — [Hz]
DEMDDEM

IQ

:FETCh:DDEMod? IQVTime
1024

#41024XXXX. . .

:INSTrument[:SELect], [:SENSe] :DDEMod:FORMat, :UNIT:ANGLe

2-250 RSA3303A RSA3308A 3GHz 8GHz



:FETCh

:FETCh:DISTribution:CCDF?

CCDF CCDF
:FETCh:DISTribution:CCDF?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 10001

—1000
TIMCCDF

CCDF
:FETCh:DISTribution:CCDF?
3200

#43200XXXX. . .

:CONFigure:0VIew, : INSTrument[:SELect]
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:FETCh:OVlew?

DEMOD TIME
1024

:CONFigure:OVIew

:FETCh:0VIew?

#<Num_digit><Num_byte><MinData(1)><MaxData(1)>...<MinData(n)><MaxData(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<MinData(n)> — 1024 [dBm]
IEEE488.2 4

<MaxData(n)> — 1024 [dBm]
IEEE488.2 4
n 500

DEMADEM, TIMCCDF, TIMTRAN, TIMPULSE

1024

:FETCh:0VIew?
10240

#510240xxxX. ..

:CONFigure:0VIew, : INSTrument[:SELect]
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:FETCh

:FETCh:PULSe?

:FETCh:PULSe? { ALL | WIDTh | PPOWer | OORatio | RIPPle | PERiod | DCYCle
| PHASe | CHPower | OBWidth | EBWidth | FREQuency }

2-37:

ALL
WIDTh
PPOWer
OORatio
RIPPle
PERiod
DCYCle
PHASe
CHPower
OBWidth OBW
EBWidth EBW
FREQuency

ALL
<width>,<ppower>,<ooratio>,<ripple>,<period>,<dcycle>,<phase>,
<chp>,<obw>,<ebw>,<freq>

<width>::=<NRf> — [s]
<ppower>::=<NRf> — [W]
<ooratio>::=<NRf> — [dB]
<ripple>::=<NRf> — [W]
<period>::=<NRf> — [s]
<dcycle>::=<NRf> — [%]
<phase>::=<NRf> — [ 1]
<chp>::=<NRf> — [W]

<obw>: :=<NRf> — OBW [Hz]

<ebw>::=<NRf> — EBW [Hz]

<freg>::=<NRf> — [Hz]
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WIDTh
#<Num_digit><Num_byte><Width(1)><Width(2)>...<Width(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Width(n)> —
IEEE488.2 4
n 1000

PPOWer
#<Num_digit><Num_byte><Ppower(1)><Ppower(2)=>...<Ppower(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Power(n)> —
IEEE488.2 4
n 1000

OORatio
#<Num_digit><Num_byte><Qoratio(1l)><Ooratio(2)>...<Ooratio(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Ooratio(n)> —
IEEE488.2 4
n 1000

RIPPle
#<Num_digit><Num_byte><Ripple(l)><Ripple(2)>...<Ripple(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Ripple(n)> —
IEEE488.2 4
n 1000

PERiod
#<Num_digit><Num_byte><Period(1)><Period(2)=>...<Period(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Period(n)> —
IEEE488.2 4
n 1000
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:FETCh

DCYCle
#<Num_digit><Num_byte><Dcycle(1)><Dcycle(2)>...<Dcycle(n)>

<Num_digit>— <Num_byte>
<Num_byte> —
<Dcycle(n)> —
IEEE488.2 4
n 1000

PHASe
#<Num_digit><Num_byte><Phase(l)><Phase(2)>...<Phase(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Phase(n)> —
IEEE488.2 4
n 1000

CHPower
#<Num_digit><Num_byte><Chp(1)><Chp(2)>...<Chp(n)>

<Num_digit>— <Num_byte>
<Num_byte> —
<Chp(n)>—
IEEE488.2 4
n 1000

OBWidth
#<Num_digit><Num_byte><Obw(1)><0bw(2)>...<Obw(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<0bw(n)> — OBW
IEEE488.2 4
n 1000

EBWidth
#<Num_digit><Num_byte><Ebw(1)><Ebw(2)>...<Ebw(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Ebw(n)> — EBW
IEEE488.2 4
n 1000

2-256



FREQuency
#<Num_digit><Num_byte><Freq(1)><Freq(2)>...<Freq(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Freq(n)> —
IEEE488.2 4
n 1000

TIMPULSE

:FETCh:PULSe? WIDTh
500

#3500XXXX. ..

:INSTrument[:SELect]
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:FETCh

:FETCh:PULSe:SPECtrum?

:DISPlay:PULSe:SVIew:FORMat  CHPowr OBWidth
EBWidth

:FETCh:PULSe:SPECtrum?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 16384

TIMPULSE

:FETCh:PULSe:SPECtrum?
3200

#43200XXXX. . .

:DISPTay:PULSe:SVIew:FORMat, : INSTrument[:SELect]
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:FETCh:PULSe:TAMPlitude?

2-258

:DISPlay:PULSe:SVIew:FORMat  WIDTh
RIPPle PERiod DCYCle PHASe

:FETCh:PULSe:TAMPTitude?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit>—<Num_byte>
<Num_byte> —
<Data(n)> — [W]
IEEE488.2 4
n 262,144
—1000

TIMPULSE

:FETCh:PULSe:TAMPTitude?
3200

#43200XXXX. . .

:DISPTay:PULSe:SVIew:FORMat, : INSTrument[:SELect]
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:FETCh

:FETCh:PULSe:TFRequency?

(Frequency Deviation)

:DISPlay:PULSe:SVIew:FORMat =~ FREQuency

:FETCh:PULSe:TFRequency?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit>—<Num_byte>
<Num_byte> —
<Data(n)> — [Hz]
IEEE488.2 4
n 262,144
—1000

TIMPULSE

:FETCh:PULSe:TFRequency?
3200

#43200XXXX. . .

:DISPTay:PULSe:SVIew:FORMat, : INSTrument[:SELect]
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:FETCh:RFID? 21

RFID

:FETCh:RFID? { CARRier | PODown | BPODown | RFENvelope | BRFenvelope
| CONSTe | EYE | STABle | PSTABle }

2-38: RFID

CARRier
PODown ASCII
BPODown
RFENvelope RF ASCII
BRFenvelope RF

CONSte
EYE
STABle
PSTable

CARRier
<Cfreg>,<0bw>,<Ebw>,<Max_EIRP>

<Cfreg>::=<NRf> — [Hz]
<Obw>: :=<NRf> — [Hz]
<Ebw>::=<NRf> — [Hz]
<Max_EIRP>::=<NRf> — EIRP [dBm]
PODown

<Srate>,<Esrate>,<Count>{,<Index>,<Rise/Fall>,<Time>,<Settling>,
<Over>,<Under>,<0ffset>}

<Srate>::=<NRf> — [Hz]

<Esrate>::=<NRf> — [Hz]

<Count>::=<NR1> — 0 64
<Index>::=<NR1> —

<Rise/Fall>::=<NR1> — 0) (1)

<Time>::=<NRf> —
<Settling>::=<NRf> —

2-260 RSA3303A RSA3308A 3GHz 8GHz



:FETCh

<Over>::=<NRf> — (%)

<Under>::=<NRf> — (%)

<0ffset>::=<NRf> — (%)

<Count> 64 —1000
BPODown

#<Num_digit><Num_byte><Srate><Esrate><Count>{<Index><Rise/Fall><Time>
<Settling><Over><Under><0ffset>}

<Num_digit>— <Num_byte>
<Num_byte> —

<Srate> — [Hz]

<Esrate> — [Hz]

<Count> — 0 20000

<Index> —

<Rise/Fall> — 0) €))
<Time> —

<Settling> —

<Over> — (%)

<Under> — (%)

<0ffset> — (%)

<Count> 20000 —1000

RFENvelope

<Srate>,<Esrate>,<Count>{,<Index>,<On_Width>,<0ff Width>,<Period>,<Duty>,
<On_Ripple>,<0ff Ripple>,<Slope 1 Rise/Fall>,<Slope 1>,

<Slope_2 Rise/Fall>,<Slope_2>,<Slope 3 Rise/Fall>,<Slope_3>}

<Srate>::=<NRf> — [Hz]
<Esrate>::=<NRf> — [Hz]
<Count>::=<NR1> — 0 64

<Index>::=<NR1> —

<0n_Width>::=<NRf> —

<0ff_Width>::=<NRf> —

<Period>::=<NRf> — +

<Duty>::=<NRf> — (%)

<On_Ripple>::=<NRf> — (%)

<0ff _Ripple>::=<NRf> — (%)

<Slope 1 Rise/Fall>::=<NR1> — 1 0) €))

<Slope_1>::=<NRf> — 1
<STope_2 Rise/Fall>::=<NR1> — 2 (0) (1)

<Slope_2>::=<NRf> — 2
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<Slope_3 Rise/Fall>::=<NR1> — 3 (0) (1)
<Slope_3>::=<NRf> — 3

<Count> 64 —1000

BRFenvelope

#<Num_digit><Num_byte><Srate><Esrate><Count>{<Index><On_Width><0ff Width>
<Period><Duty><On_Ripple><0ff Ripple><Slope 1 Rise/Fall><Slope 1>
<Slope_2 Rise/Fall><Slope 2><Slope 3 Rise/Fall>,<Slope 3>}

<Num_digit> — <Num_byte>
<Num_byte> —

<Srate> — [Hz]

<Esrate> — [Hz]

<Count> — 0 65536

<Index> —

<On_Width> —

<0ff _Width> —

<Period> — +

<Duty> — (%)

<On_Ripple> — (%)

<0ff Ripple> — (%)

<Slope 1 Rise/Fall> — 1 0) 1
<Slope_1> — 1

<STope_2 Rise/Fall> — 2 0) 1)
<Slope_2>> — 2

<STope_3 Rise/Fall> — 3 (0) 1
<Slope_3> — 3

<Count> 65536 —1000

CONSte EYE

[:SENSe]:RFID:MODulation:STANdard “C0G1” “C1G1”

PIE
<Mdepth>,<Mindex>,<Ferror>,<Abrate>,<Ebrate>,<Esbrate>

<Mdepth>::=<NRf> — (%)

<Mindex>: :=<NRf> — (%)

<Ferror>::=<NRf> — [Hz]

<Abrate>::=<NR1> — Auto Bit Rate 0: Off, 1: On
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:FETCh

<Ebrate>::=<NRf> — [bps]
<Esbrate>::=<NRf> — /s
PIE

<Mdepth>,<Mindex>,<Ferror>,<Atari>,<Etdata0_s>,<Etdatal_t>,
<Etdatal s>,<Etdatal t>

<Mdepth>: :=<NRf> — (%)

<Mindex>: :=<NRf> — (%)
<Ferror>::=<NRf> — [Hz]
<Atari>::=<NR1> — Auto Tari 0: Off, 1: On
<Etdata0_S>::=<NRf> — Tari 0
<Etdata0 T>::=<NRf> — Tari 0 (Tari)
<Etdatal S>::=<NRf> — Tari 1
<Etdatal T>::=<NRf> — Tari 1 (Tari)

BPSK
<Mdepth>,<Mindex>,<Ferror>,<Abrate>,<Ebrate>,<Eshrate>,
<Sjitter>,<Foffset>
<Mdepth>::=<NRf> — (%)
<Mindex>::=<NRf> — (%)
<Ferror>::=<NRf> — [Hz]
<Abrate>::=<NR1> — Auto Bit Rate 0: Off, 1: On
<Ebrate>::=<NRf> — [bps]
<Esbrate>::=<NRf> — /s
<Sjitter>::=<NRf> — RMS
<Foffset>::=<NRf> — [Hz]

STABle

#<Num_digit><Num_byte><Sym(1)><Sym(2)>...<Sym(n)>

<Num_digit>— <Num_byte>

<Num_byte> —
<Sym(n)> —
IEEE488.2 4
2-39:
GPIB
0 0 0
1 1 1
X -1 Don’t care
P -2 Preamble
S -3 Frame Sync
N -4 Null
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PSTable
<Len>::=<NR1> —

DEMRFID

:FETCh:RFID? CARRier

985.891768E+6,45.383E+3,104.601,30

:INSTrument[:SELect], [:SENSe] :RFID:MODulation:STANdard

:FETCh:RFID:ACPower? 21

RFID ACPR

:FETCh:RFID:ACPower?

<Count>{,<0frequency>,<Upper>,<Lower>}

<Count>::=<NR1> — 0 25
<0frequency>::=<NRf> — [Hz]
<Upper>::=<NRf> — n ACPR [dBc]
<Lower>::=<NRf> — n ACPR [dBc]
DEMRFID

ACPR

:FETCh:RFID:ACPower?

2,500E+3,-38.45,-38.43,1E+6,-44.14,-44.11

:INSTrument[:SELect]
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:FETCh

:FETCh:RFID:SPURious? 21

RFID

:FETCh:RFID:SPURious?

<Snum>{,<Dfreg>,<Rdbc>}

<Snum>::=<NR1> — 20
<Dfreg>::=<NRf> — [Hz]
<Rdbc>::=<NRf> — [dBc]
DEMRFID

:FETCh:RFID:SPURious?

2,-468.75E+3,-45.62,787 .5E+3,-49.88

:INSTrument[:SELect]
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:FETCh:RFID:SPECtrum:ACPower?

2-266

RFID ACPR

:FETCh:RFID:SPECtrum:ACPower?

#<Num_digit><Num_byte><Data(l)><Data(2)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

DEMRFID

ACPR
:FETCh:RFID:SPECtrum:ACPower?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:FETCh

:FETCh:RFID:SPECtrum:SPURious? 21

RFID

:FETCh:RFID:SPECtrum:SPURious?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

DEMRFID

:FETCh:RFID:SPECtrum:SPURious?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:FETCh:SPECtrum?

S/A

:FETCh:SPECtrum?

#<Num_digit><Num_byte><Data(1l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

SANORMAL, SASGRAM, SARTIME

:FETCh:SPECtrum?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:FETCh

:FETCh:SPECtrum:ACPower?

S/A ACPR

:FETCh:SPECtrum:ACPower?

<chpower>,<acpml>,<acppl>,<acpm2>,<acpp2>,<acpm3>,<acpp3>

<chpower>::=<NRf> — [dBm]

<acpml>::=<NRf> — 1 ACPR [dB]
<acppl>::=<NRf> — 1 ACPR [dB]
<acpm2>::=<NRf> — 2 ACPR [dB]
<acpp2>::=<NRf> — 2 ACPR [dB]
<acpm3>::=<NRf> — 3 ACPR [dB]
<acpp3>::=<NRf> — 3 ACPR [dB]

[:SENSe]:ACPower
3 <acpm3>  <acpp3>

<chpower>,<acpml>,<acppl>,<acpm2>,<acpp2>

SANORMAL, SASGRAM, SARTIME

ACPR

:FETCh:SPECtrum:ACPower?

-11.38,-59.41,-59.51,-59.18,-59.31,-59.17,-59.74

:INSTrument[:SELect], [:SENSe] :ACPower
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:FETCh:SPECtrum:CFRequency?

S/A

:FETCh:SPECtrum:CFRequency?

<cfreg>::=<NRf> —

SANORMAL, SASGRAM, SARTIME

:FETCh:SPECtrum:CFRequency?

846187328.5

:INSTrument[:SELect]

:FETCh:SPECtrum:CHPower?

S/A

:FETCh:SPECtrum:CHPower?

<chpower>: :=<NRf> —

SANORMAL, SASGRAM, SARTIME

:FETCh:SPECtrum:CHPower?

-1.081

:INSTrument[:SELect]
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:FETCh

:FETCh:SPECtrum:CNRatio?

S/A C/N

:FETCh:SPECtrum:CNRatio?

<ctn>,<ctno>
<ctn>::=<NRf> — C/N [dB]
<ctno>: :=<NRf> — C/No [dB/Hz]

SANORMAL, SASGRAM, SARTIME

C/N

¢FETCh:SPECtrum:CNRatio?

75.594,125.594

:INSTrument[:SELect]
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:FETCh:SPECtrum:EBWidth?

S/A EBW

:FETCh:SPECtrum:EBWidth?

<ebw>: :=<NRf> — [Hz]
SANORMAL, SASGRAM, SARTIME

EBW

:FETCh:SPECtrum:EBWidth?

30956.26

:INSTrument[:SELect]

:FETCh:SPECtrum:0BWidth?

S/A OBW

<FETCh:SPECtrum:0BWidth?

<obw>: :=<NRf> — [Hz]
SANORMAL, SASGRAM, SARTIME

OBW

:FETCh:SPECtrum:0BWidth?

26510.163

:INSTrument[:SELect]
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:FETCh

:FETCh:SPECtrum:SPURious?

S/A

:FETCh:SPECtrum:SPURious?

<snum>{,<dfreg>,<rdb>}

<snum>::=<NR1> — 20
<dfreg>::=<NRf> — [Hz]
<rdb>::=<NRf> — [dB]

SANORMAL, SASGRAM, SARTIME

:FETCh:SPECtrum:SPURious?

3,1.2€6,-79,2.4E6,-79.59,1E6,-80.38

:INSTrument[:SELect]
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:FETCh:SSOurce? 21

:FETCh:SSOurce? { PNOise | SPURious | RTPNoise | RTSPurious | FVTime }

2-40:

PNOise
SPURious
RTPNoise
RTSPurious
FVTime

PNOise
<Cfreg>,<Cpower>,<IP Noise>,<Rj>,<Max Pj>

<Cfreg>::=<NRf> — [Hz]
<Cpower>::=<NRf> — [dBm]
<IP_Noise>::=<NRf> —

<Rj>::=<NRf> —

<Max_Pj>::=<NRf> —

SPURious
<snum>{,<dfreq>,<rdb>}

<snum>::=<NR1> — 20
<dfreg>::=<NRf> — [Hz]
<rdb>::=<NRf> — [dBc]
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:FETCh

RTPNoise
<Cfreg>,<Cpower>,<IP Noise>,<Rj>,<Max_Pj>,<Jstime>,<Jsstart>,<Jsstop>,
<PNstime>,<PNstart>,<PNSstop>

<Cfreg>::=<NRf> — [Hz]
<Cpower>::=<NRf> — [dBm]
<IP_Noise>::=<NRf> —

<Rj>::=<NRf> —

<Max_Pj>::=<NRf> —
<Jstime>::=<NRf> —
<Jsstart>::=<NRf> —
<Jsstop>::=<NRf> —
<PNstime>::=<NRf> —
<PNsstart>::=<NRf> —
<PNsstop>::=<NRf> —

RTSPurious
<Cfreq>,<Cpower>,<Snum>{,<Dfreq>,<Rdbc>}

<Cfreg>::=<NRf> — [Hz]

<Cpower>::=<NRf> — [dBm]

<Snum>::=<NR1> — 20
<Dfreg>::=<NRf> —. [Hz]
<Rdbc>: :=<NRf> — [dBc]
FVTime

<Fstime>,<Fsstart>,<Fsstop>,<TFstime>,<Tfsstart>,<Tfsstop>

<Fstime>::=<NRf> —
<Fsstart>::=<NRf> —
<Fsstop>::=<NRf> —
<TFstime>::=<NRf> —
<TFsstart>::=<NRf> —
<TFsstop>::=<NRf> —

TIMSSOURCE

:FETCh:SSOurce? PNOise

2.0E+9,-21.430,12.432E-12,8.95,217.725E-12
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:FETCh:SSOurce:CNVFrequency? 21
CNvs
[:SENSe]:SSOurce:MEASurement PNOise RTP-
Noise [:SENSe]:SSOurce:MEASurement ~ RTSPurious

2-276

:DISPlay:SSOurce:SVIew:FORMat =~ CNVFrequency
:FETCh:SSOurce:CNVFrequency? { MAIN | SUB }
MAIN — 1
SUB — 2
#<Num_digit><Num_byte><Frequency(1)><C/N(1)><Frequency(2)><C/N(2)>..

<Frequency(n)><C/N(n)>

<Num_digit> — <Num_byte>
<Num_byte> —

<Frequency(n)> — [Hz]
<C/N(n)> — C/N [dBc/Hz]
IEEE488.2 4

TIMSSOURCE

CN vs 1
:FETCh:SSOurce:CNVFrequency? MAIN
3200

#43200XXXX. . .

:DISPTay:SSOurce:SVIew:FORMat, [:SENSe] :SSOurce:MEASurement
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:FETCh

:FETCh:SSOurce:CNVTime? 21

C/N vs

[:SENSe]:SSOurce:MEASurement RTPNoise :DIS-
Play:SSOurce:SVIew:FORMat ~ CNVTime

:FETCh:SSOurce:CNVTime?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — C/N [dBc/Hz]
IEEE488.2 4

TIMSSOURCE

C/N vs
:FETCh:SSOurce:IPNVtime?
3200

#43200XXXX. . .

:DISPlay:SSOurce:SVIew:FORMat , [:SENSe] :SSOurce:MEASurement
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:FETCh:SSOurce:IPNVtime? 21

VS

[:SENSe]:SSOurce:MEASurement RTPNoise :DIS-
Play:SSOurce:SVIew:FORMat  IPNVtime

:FETCh:SSOurce: IPNVtime?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Data(n)> —

IEEE488.2 4

TIMSSOURCE

VS
:FETCh:SSOurce:IPNVtime?
3200

#43200XXXX. . .

:DISPlay:SSOurce:SVIew:FORMat, [:SENSe] :SSOurce:MEASurement
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:FETCh

:FETCh:SSOurce:RJVTime? 21

VS

[:SENSe]:SSOurce:MEASurement RTPNoise :DIS-
Play:SSOurce:SVIew:FORMat  RJVTime

:FETCh:SSOurce:RJVTime?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Data(n)> —

IEEE488.2 4

TIMSSOURCE

VS
:FETCh:SSOurce:RJIVTime?
3200

#43200XXXX. . .

:DISPlay:SSOurce:SVIew:FORMat , [:SENSe] :SSOurce:MEASurement
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:FETCh:SSOurce:SPECtrum? o1

[:SENSe]:SSOurce:MEASurement PNOise SPURious
RTSPurious

:FETCh:SSOurce:SPECtrum?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

TIMSSOURCE

:FETCh:SSOurce:SPECtrum?
3200

#43200XXXX. . .

[:SENSe] :SSOurce:MEASurement
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:FETCh

:FETCh:SSOurce:TRANsient:FVTime? o1

VS

:FETCh:SSOurce:TRANsient:FVTime?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —
<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 > 500
TIMSSOURCE

VS

:FETCh:SSOurce:TRANsient:FVTime?

3200

#43200XXXX. . .

[:SENSe] : SSOurce:MEASurement
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:FETCh:TRANSsient:FVTime?

TIME

:FETCh:TRANsient:FVTime?

#<Num_digit><Num_byte><Data(1l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 ><500

TIMTRAN

:FETCh:TRANsient:FVTime?
1024

#41024XXXX. .«

:INSTrument[:SELect]
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:FETCh

:FETCh:TRANSsient:IQVTime?

TIME 1Q

:FETCh:TRANsient:IQVTime?

#<Num_digit><Num_byte><Idata(l)><Qdata(1)><Idata(2)><Qdata2>...
<Idata(n)><Qdata(n)>

<Num_digit>— <Num_byte>

<Num_byte> —
<Idata(n)><Qdata(n)> —1I Q [V]
IEEE488.2 4
n 512000 1024 ><500
TIMTRAN
IQ

:FETCh:TRANsient:IQVTime?
1024

#41024XXXX. . .

:INSTrument[:SELect]
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:FETCh:TRANsient:PVTime?

TIME

:FETCh:TRANsient:PVTime?

#<Num_digit><Num_byte><Data(1l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 512000 1024 ><500

TIMTRAN

:FETCh:TRANsient:PVTime?
1024

#41024XXXX. .«

:INSTrument[:SELect]
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:FORMat

:FORMat

:FORMat

:BORDer
[:DATA]

NORMal | SWAPped
REAL,32 | REAL,64

2-285



:FORMat:BORDer(?)

:FORMat:BORDer { NORMal | SWAPped }

:FORMat :BORDer?

NORMal —

SWAPped —

:FORMat :BORDer SWAPped

:FORMat[:DATA](?)

:FORMat[:DATA] { REAL,32 | REAL,64 }

:FORMat [:DATA]?

REAL,32 —32
REAL, 64 — 64
32

:FORMat :DATA REAL,32
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:HCOPy

:HCOPy

:HCOPy
:BACKground BLACk | WHITe
:DESTination  PRINter | MMEMory
[:IMMediate]
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:HCOPy:BACKground(?)

:HCOPy :BACKground { BLACk | WHITe }

:HCOPy :BACKground?

BLACk —

WHITe —

:HCOPy :BACKground WHITe

:HCOPy:DESTination(?)

:HCOPy:DESTination { PRINter | MMEMory }

:HCOPy:DESTination?

PRINter —

Windows

MMEMory — :MMEMory : NAME

:HCOPy:DESTination PRINter

:HCOPy[:IMMediate], :MMEMory:NAME
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:HCOPy

:HCOPy[:IMMediate]

:HCOPy:DESTination

:HCOPy[: IMMediate]

:HCOPy: IMMediate

:HCOPy:DESTination
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:INITiate

:INITiate

:INITiate

:CONTinuous
[:IMMediate]
:RESTart

<boolean>
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:INITiate:CONTinuous(?)

:INITiate:CONTinuous { OFF | ON | O | 1 }

:INITiate:CONTinuous?

OFF 0—
:INITiate[:IMMediate]

:INITiate:CONTinuous OFF

ON 1—

:INITiate:CONTinuous OFF

:FETCh
:FETCh :INITiate[:IMMediate]

:INITiate:CONTinuous ON

:FETCh , :INITiate[:IMMediate]
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:INITiate

:INITiate[:IMMediate]

:INITiate[:IMMediate]

:INITiate:IMMediate

:INITiate:CONTinuous

:INITiate:RESTart

:INITiate[:IMMediate]
:ABORt

:INITiate:RESTart

:INITiate:RESTart

:ABORt, : INITiate[:IMMediate]
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:INPut

:INPut

:INPut
:ALEVel
:ATTenuation
:AUTO
:COUPTing
:MIXer
:MLEVel

<numeric_value>
<boolean>

AC | DC
<numeric_value>
<numeric_value>

03
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:INPut:ALEVel

:INPut:ALEVel

:INPut:ALEVel

INPut:ATTenuation(?)

:INPut:ATTenuation:AUTO OFF 0
:INPut:ATTenuation <rel ampl>
:INPut:ATTenuation?
<rel_ampl>::=<NR1> —
2-41
2-41:
RF RSA3303A RF1 RSA3308A 0 50dB 2dB
RF2, RF3 RSA3308A 0 50dB 10dB

20dB

:INPut:ATTenuation 20

:INPut:ATTenuation:AUTO
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:INPut

:INPut:ATTenuation:AUTO(?)

:INPut:ATTenuation:AUTO { OFF | ON | O | 1}

:INPut:ATTenuation:AUTO?

OFF 0—
:INPut:ATTenuation

ON 1—

:INPut:ATTenuation:AUTO ON

:INPut:ATTenuation, : INPut:MIXer

:INPut:COUPling(?) "

1Q
[:SENSe]:FEED IQ 1Q

:INPut:COUP1ing { AC | DC }

:INPut:COUP1ing?

AC— AC
DC—DC
AC

:INPut:COUP1ing AC

[:SENSe] : FEED
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INPut:MiXer(?)

:INPut:ATTenuation:AUTO

ON

:INPut :MIXer <ampl>

:INPut :MIXer?

<ampl1>::=<NR1> —

2-42:
(dBm)
RF RSA3303A RF1 RSA3308A -5, -10, —15, —20, —25
RF2, RF3 RSA3308A -5, —15, —25

—20dBm

:INPut:MIXer -20

:INPut:ATTenuation:AUTO
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:INPut

:INPut:MLEVel(?)

AMPLITUDE — Ref Level

:INPut:MLEVel <ampl>

:INPut:MLEVel?

<amp1>::=<NR1> —

2-43:
RF RSAS3303A RF1 RSA3308A -51 +30dBm 1dB
RF2, RF3 RSA3308A —-50 +30dBm 1dB
—-30 +20dBm 2dB

—10dBm

:INPut:MLEVel -10
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:INSTrument

:INSTrument

:INSTrument
:CATalog?
[:SELect]

<mode_name>
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:INSTrument:CATalog?

:INSTrument:CATalog?

<string> —

2-44:

S/A

SANORMAL

SASGRAM

SARTIME

SAZRTIME

DEMOD

DEMADEM

DEMDDEM 21

DEMRFID RFID 21

TIME

TIMCCDF CCDF

TIMTRAN

TIMPULSE

TIMSSOURCE 21

:INSTrument:CATalog?

"SANORMAL" ,"SASGRAM" , "SARTIME" , "DEMADEM","TIMCCDF", "TIMTRAN"
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:INSTrument

:INSTrument[:SELect](?)

*RST

:INITiate:CONTinuous OFF

:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME | SAZRTIME | DEMADEM
| DEMDDEM | DEMRFID | TIMCCDF | TIMTRAN | TIMPULSE | TIMSSOURCE }

:INSTrument[:SELect]?

<string> — 2-44

:INSTrument:SELect "DEMADEM"

:CONFigure, : INITiate:CONTinuous

2-303



2-304 RSA3303A RSA3308A 3GHz 8GHz



:MMEMory

:MMEMory

:MMEMory

:COPY

:DELete

:LOAD
:CORRection
L IQT
:STATe
:TRACe

:NAME

:STORe
:ACPower
:CORRection
:I1QT
:PULSe
:STABle
:STATe
:TRACe

<file_namel>,<file_name2>

<file_name>

<file_name>
<file_name>
<file_name>
<file_name>
<file_name>

<file_name>
<file_name>
<file_name>
<file_name>
<file_name>
<file_name>
<file_name>

21

21

Samplel.iqt

Windows My Documents
“C:¥My Documents¥Samplel.iqt”
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:MMEMory:COPY

:MMEMory:COPY <file_namel>,<file_name2>

<file_namel>::=<string> —

<file_name2>::=<string> —

My Documents Filel File2

:MMEMory:COPY "C:¥My Documents¥Filel","C:¥My Documents¥File2"

:MMEMory:DELete

:MMEMory:DELete <file_name>

<file_name>::=<string> —

My Documents Filel

:MMEMory :DELete "C:¥My Documents¥Filel"
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:MMEMory

:MMEMory:LOAD:CORRection

:MMEMory: LOAD:CORRection <file_name>

<file_name>::=<string> —

.Cor
SANORMAL, SASGRAM

My Documents Filel.cor

:MMEMory : LOAD:CORRection "C:¥My Documents¥Filel.cor"

:MMEMory:LOAD:IQT
1Q
:MMEMory: LOAD: IQT <file_name>

<file_name>::=<string> —

.iqt
SARTIME SAZRTIME DEMOD TIME

My Documents Datal.iqt (0]

:MMEMory:LOAD:IQT "C:¥My Documents¥Datal.iqt"
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:MMEMory:LOAD:STATe

:MMEMory:LOAD:STATe <file_name>

<file_name>::=<string> —

.cfg

My Documents Setupl.cfg

:MMEMory : LOAD:STATe "C:¥My Documents¥Setupl.cfg"

:MMEMory:LOAD:TRACe<x>

:MMEMory : LOAD: TRACe<x> <file_name>

<file_name>::=<string> —

.trc
SANORMAL, SASGRAM

My Documents Tracel.trc

:MMEMory: LOAD: TRACel "C:¥My Documents¥Tracel.trc"

:MMEMory : STORe: TRACe<x>
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:MMEMory

:MMEMory:NAME(?)

:HCOPy:DESTination

:MMEMory :NAME <file_name>

:MMEMory :NAME?

<file_name>::=<string> —

“.bmp”

My Documents Screenl.bmp

:MMEMory :NAME "C:¥My Documents¥Screenl.bmp"

:HCOPy:DESTination

:MMEMory:STORe:ACPower 21

RFID ACPR

:MMEMory:STORe:ACPower <file_name>

<file_name>::=<string> —

.CSV
DEMRFID

ACPR My Documents Resultl.csv

:MMEMory :STORe:ACPower "C:¥My Documents¥Resultl.csv"
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:MMEMory:STORe:CORRection

:MMEMory:STORe:CORRection <file_name>

<file_name>::=<string> —

.Cor
SANORMAL, SASGRAM

My Documents Samplel.cor

:MMEMory :STORe:CORRection "C:¥My Documents¥Samplel.cor"

:MMEMory:STORe:IQT

1Q
:MMEMory:STORe:IQT <file_name>

<file_name>::=<string> —

iqt
SARTIME SAZRTIME DEMOD TIME

1Q My Documents Datal.iqt

:MMEMory :STORe: IQT "C:¥My Documents¥Datal.iqt"
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:MMEMory

:MMEMory:STORe:PULSe

:MMEMory:STORe:PULSe <file_name>

<file_name>::=<string> —

.CSV
TIMPULSE

My Documents Resultl.csv

:MMEMory :STORe:PULSe "C:¥My Documents¥Resultl.csv"

:MMEMory:STORe:STABIle 21

:MMEMory:STORe:STABle <file_name>

<file_name>::=<string> —

.sym
1.
2.
3.
4. (Measurement Filter)
5. (Reference Filter)
6. (ax0)
7.

.sym

iqt .sym

Aqt
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RFID 21

NS RE N =

Auto Tari PIE A C
Auto Bit Rate PIE A C
8. Tari PIE A C

PIE A C

10.
11.
12.

2 VIEW: DEFINE 3 11 MEAS SET-
UP RSA3303A /RSA3308A

DEMDDEM, DEMRFID

My Documents Datal.sym

:MMEMory :STORe:STABle "C:¥My Documents¥Datal.sym"
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:MMEMory

:MMEMory:STORe:STATe

:MMEMory:STORe:STATe <file_name>

<file_name>::=<string> —

.cfg

My Documents Setupl.cfg

:MMEMory :STORe:STATe "C:¥My Documents¥Setupl.cfg"

:MMEMory:STORe:TRACe<x>

:MMEMory:STORe: TRACe<x> <file_name>

<file_name> —

trc
SANORMAL, SASGRAM

1 My Documents Tracel.trc

:MMEMory:STORe:TRACel "C:¥My Documents¥Tracel.trc"

:MMEMory : LOAD: TRACe<x>
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:PROGram

:PROGram

C¥Program Files¥Tektronix¥wca200a¥Python¥wca200a¥measmacro

:PROGram

:CATalog?

[:SELected]
:DELete

[:SELected]

:EXECute
:NAME

:NUMBer

:STRing

4-14

<command_name>
<macro_name>
<varname>,<nvalue>
<varname>,<nvalue>
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:PROGram:CATalog?

:PROGram:CATalog?

nn (Null)
"macro_name{,macro_name}"{,"macro_name{,macro_name"}}

macro_name

:PROGram:CATalog?

C:¥Program Files¥Tektronix¥wca200a¥Python¥wca-
200a¥measmacro¥nonregistered MacroTestl  MacroTest2

"NONREGISTERED.MACROTEST1","NONREGISTERED.MACROTEST2"

:PROGram[:SELected]:DELete[:SELected]

:PROGram[ :SELected] :NAME

:PROGram[:SELected] :DELete[:SELected]

PROGram:SELected:DELete:SELected

:PROGram[:SELected] : NAME
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:PROGram

:PROGram[:SELected]:EXECute

:PROGram[:SELected] :NAME
:PROGram[:SELected] :EXECute <command_name>

<command_name>::=<string> —

“Program Syntax error” (—285)

TEST1

:PROGram:SELected:EXECute "TEST1"

:PROGram[:SELected] : NAME

:PROGram[:SELected]:NAME(?)

:PROGram[:SELected] :NAME <macro_name>

:PROGram[:SELected] :NAME?

<macro_name>::=<string> —

“Program Syntax error” (—285)

C:¥Program Files¥Tektronix¥wca200a¥Python¥wca200a¥measmacro
¥nonregistered MacroTest1

:PROGram:SELected:NAME "NONREGISTERED.MACROTEST1"

:PROGram[:SELected] :EXECute
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:PROGram:NUMBer(?)

:PROGram:NUMBer <varname>,<nvalues>

:PROGram:NUMBer? <varname>

<varname>::=<string> —

<nvalues>::=<NRf> —

“Illegal variable name” (—283)

LOW_LIMIT 1.5
:PROGram:NUMBer "LOW_LIMIT",1.5
RESULT

:PROGram:NUMBer? "RESULT"

1.2345
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:PROGram

:PROGram:STRing(?)

:PROGram:STRing <varname>,<svalues>

:PROGram:STRing? <varname>

<varname>::=<string> —

<svalues>::=<string> —

“Illegal variable name” (—283)

ERROR_MESSAGE “Measurement Unsuccessful”

:PROGram:STRing "ERROR_MESSAGE","Measurement Unsuccessful"
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:READ

:READ

2-237 :FETCh

1. :INSTrument[:SELect]

SARTIME

:INSTrument[:SELect] "SARTIME"

:INITiate:CONTinuous OFF

:READ

:READ

:ADEMod
:AM?
:RESult?
:FM?
:RESult?
:PM?
:PSPectrum?
:CCDF?
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:DDEMod? 1 IQVTime | FVTime | CONSte | EVM | AEVM | PEVM
| MERRor | AMERror | PMERror
| PERRor | APERror | PPERror | RHO | SLENgth | FERRor
| OOFFset | STABle | PVTime | AMAM | AMPM | CCDF | PDF
| RMSError | FDEViation

:DISTribution:CCDF?

:0VIew?

:PULSe? ALL | WIDTh | PPOWer | OORatio | RIPPle | PERiod
| DCYCle | PHASe | CHPower | OBWidth | EBWidth
| FREQuency

:SPECtrum?
:TAMP11itude?
:TFRequency

:RFID1

:ACPower?
:SPURious?
:SPECtrum
:ACPower?
:SPURious?
:SPECtrum?
:ACPower?
:CFRequency?
:CHPower?
:CNRatio?
:EBWidth?
:0BWidth?
:SPURious?
:SSOurce? 1 PNOise | SPURious | FVTime
:SPECtrum?
:TRANsient
:FVTime?
:TRANsient
:FVTime?
:IQVTime?
:PVTime?

1 21
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:READ

:READ:ADEMod:AM?

AM

:READ:ADEMod : AM?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [%]
IEEE488.2 4
n 512000 1024 > 500

DEMADEM

AM
:READ:ADEMod : AM?
1024

#41024XXXX. .«

:INSTrument[:SELect]
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:READ:ADEMod:AM:RESult?

2-324

AM

:READ:ADEMod :AM:RESult?

None

<+AM>,<-AM>,<Total AM>

<+AM>::=<NRf> — [%]

<—AM>: :=<NRf> — [%]

<Total AM>::=<NRf> — - /2
DEMADEM

AM

:READ:ADEMod : AM:RESu1t?

37.34,-48.75,43.04

:INSTrument[:SELect]
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:READ

:READ:ADEMod:FM?

M

:READ:ADEMod: FM?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 > 500

DEMADEM

FM
:READ:ADEMod: FM?

1024

#41024XXXX. .«

:INSTrument[:SELect]
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:READ:ADEMod:FM:RESult?

FM
:READ:ADEMod:FM:RESult?
None

<+Pk_Freq_Dev>,<-Pk_Freq_Dev>,<P2P_Freq_Dev>,<P2P_Freq_Dev/2>,
<RMS_Freq_Dev>

<+Pk_Freq Dev>::=<NRf> — [Hz]
<-Pk_Freq_Dev>::=<NRf> — [Hz]
<P2P_Freq_Dev>::=<NRf> — - [Hz]
<P2P_Freq Dev/2>::=<NRf> — - /2 [Hz]
<RMS_Freq_Dev>::=<NRf> — RMS [Hz]

DEMADEM

FM

:READ:ADEMod: FM:RESult?

1.13e+4,-1.55e+4,2.48e+4,1.24e+4,1.03e+4

:INSTrument[:SELect]
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:READ

:READ:ADEMod:PM?

PM

:READ:ADEMod: PM?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [deg]
IEEE488.2 4
n 512000 1024 > 500

DEMADEM

PM
:READ:ADEMod : PM?

1024

#41024XXXX. .«

:INSTrument[:SELect]
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:READ:ADEMod:PSPectrum?

:READ:ADEMod : PSPectrum?

#<Num_digit><Num_byte><Data(1l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

DEMADEM

:READ:ADEMod: PSPectrum?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:READ

:READ:CCDF?

CCDF

:READ:CCDF?

<meanpower>,<peakpower>,<cfactor>

<meanpower>: :=<NRf> —
<peakpower>::=<NRf> —
<cfactor>::=<NRf> —

TIMCCDF

CCDF

:READ:CCDF?

-11.16,-8.18,2.96

:INSTrument[:SELect]

[dBm]
[dBm]
[dB]
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:READ:DDEMod? 21

:READ:DDEMod? { IQVTime | FVTime | CONSte | EVM | AEVM | PEVM | MERRor

| AMERror | PMERror | PERRor | APERror | PPERror | RHO | SLENgth | FERRor
| 00FFset | STABle | PVTime | AMAM | AMPM | CCDF | PDF

| RMSError | FDEViation }

2-45:

IQVTime Q

FVTime FSK
CONSte
EVM EVM (Error Vector Magnitude)
AEVM EVM RMS

PEVM EVM

MERRor
AMERror RMS
PMERror
PERRor
APERror RMS
PPERror
RHO (0)
SLENgth
FERRor
OOFFset

[:SENSe]:DDEMod:FORMat ASK FSK GFSK

STABIle
PVTime

[:SENSe]:DDEMod:FORMat =~ ASK
AMAM AM/AM

AMPM AM/PM
CCDF CCDF
PDF PDF

RMSError RMS
[:SENSe]:DDEMod:FORMat C4FM

FDEViation

[:SENSe]:DDEMod:FORMat = C4FM
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:READ

:UNIT:ANGLe (degree) (radian)

IQVTime
#<Num_digit><Num_byte><Idata(l)><Qdata(l)><Idata(2)><Qdata2>...
<Idata(n)><Qdata(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Idata(n)><Qdata(n)> —1I Q [Vl
IEEE488.2 4
n 512000 1024 =500

FVTime

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 > 500

CONSte
#<Num_digit><Num_byte><Ip(1)><Qp(1)>...<Ip(n)><Qp(n)>

<Num_digit>— <Num_byte>

<Num_byte> —
<Ip(n)>—1
<Qp(n)>—Q
<Ip(n)> <Qp(n)> IEEE488.2 4
n 512000 1024 ><500
EVM

#<Num_digit><Num_byte><Evm(1)><Evm(2)>...<Evm(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Evm(n)> — EVM [%]
IEEE488.2 4
n 512000 1024 =500

AEVM

<aevm>::=<NRf> —EVM RMS [%]
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PEVM
<pevm>,<symb>
<pevm>: :=<NRf> — EVM [%]

<symb>::=<NR1> — EVM

MERRor
#<Num_digit><Num_byte><Merr(1)><Merr(2)>...<Merr(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Merr(n)> — [%]
IEEE488.2 4
n 512000 1024 ><500

AMERror
<amer>::=<NRf> — RMS [%]

PMERror

<pmer>,<symb>

<pmer>::=<NRf> — [%]
<symb>::=<NR1> —

PERRor
#<Num_digit><Num_byte><Perr(1)><Perr(2)>...<Perr(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Perr(n)> — [deg/rad]
IEEE488.2 4
n 512000 1024 > 500

APERror
<aper>::=<NRf> — RMS [deg/rad]

PPERror
<pper>,<symb>

<pper>::=<NRf> — [deg/rad]
<symb>::=<NRf> —

RHO
<rho>::=<NRf> — (0)
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:READ

SLENgth

<slen>::=<NR1> —

FERRor

<ferr>::=<NRf> —

OOFFset
<ooff>::=<NRf> —

STABle
#<Num_digit><Num_byte><Sym(1)><Sym(2)>..

<Num_digit> — <Num_byte>
<Num_byte> —
<Sym(n)>::=<NR1> —

IEEE488.2 4

n 512000 1024 > 500

PVTIme
#<Num_digit><Num_byte><Data(1)><Data(2)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Sym(n)>::=<NR1> —

IEEE488.2 4

n 512000 1024 ><500

AMAM
<Comp>,<Coeff _num>{,<Coeff>}

<Comp>::=<NRf> — 1dB [dBm]
<Coeff_Num>::=<NR1> — (1 16)

[:SENSe]:DDEMod:NLINearity: COEFficient

<Coeff>::=<NRf> —

AMPM
<Coeff num>{,<Coeff>}

<Coeff Num>::=<NR1> — (1 16)

[:SENSe|:DDEMod:NLINearity: COEFficient

<Coeff>::=<NRf> —

[Hz]

[dB]

.<Sym(n)>

...<Data(n)>

[dBm]
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CCDF
<Mean_Power_D>,<Peak_Power_D>,<Crest_Factor_D>,
<Mean_Power_R>,<Peak_Power_R>,<Crest_Factor_R>

<Mean_Power D>::=<NRf> — [dBm]

<Peak Power D>::=<NRf> — [dBm]
<Crest_Factor_D>::=<NRf> — [dB]
<Mean_Power _R>::=<NRf> — [dBm]
<Peak_Power R>::=<NRf> — [dBm]
<Crest_Factor_ R>::=<NRf> — [dB]
PDF

<Mean_Power D>,<Peak Power D>,<Mean Power R>,<Peak Power R>

<Mean_Power_D>::=<NRf> — [dBm]
<Peak Power D>::=<NRf> — [dBm]
<Mean_Power R>::=<NRf> — [dBm]
<Peak Power R>::=<NRf> — [dBm]
RMSError
<RMSError>::=<NRf> — RMS [Hz]
FDEViation
<FDeviation>::=<NRf> — [Hz]
DEMDDEM

IQ

:READ:DDEMod? IQVTime
1024

#41024XXXX. . .

:INSTrument[:SELect], [:SENSe] :DDEMod:FORMat, :UNIT:ANGLe
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:READ

:READ:DISTribution:CCDF?

CCDF CCDF
:READ:DISTribution:CCDF?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 10001

—1000
TIMCCDF

CCDF
:READ:DISTribution:CCDF?
3200

#43200XXXX. .«

:CONFigure:0VIew, : INSTrument[:SELect]
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:READ:OView?

DEMOD TIME
1024

:CONFigure:OVIew

:READ:OVIew?

#<Num_digit><Num_byte><MinData(1)><MaxData(1)>...<MinData(n)><MaxData(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<MinData(n)> — 1024 [dBm]
IEEE488.2 4

<MaxData(n)> — 1024 [dBm]
IEEE488.2 4
n 500

DEMADEM, TIMCCDF, TIMTRAN, TIMPULSE

1024

:READ:0VIew?
10240

#510240xxxX. ..

:CONFigure:0VIew, : INSTrument[:SELect]
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:READ

:READ:PULSe?

:READ:PULSe? { ALL | WIDTh | PPOWer | OORatio | RIPP1e | PERjod | DCYCle
| PHASe | CHPower | OBWidth | EBWidth | FREQuency }
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ALL
WIDTh
PPOWer
OORatio
RIPPle
PERiod
DCYCle
PHASe
CHPower
OBWidth OoBW
EBWidth EBW
FREQuency

ALL
<width>,<ppower>,<ooratio>,<ripple>,<period>,<dcycle>,<phase>,
<chp>,<obw>,<ebw>,<freq>

<width>::=<NRf> — [s]
<ppower>::=<NRf> — [W]
<ooratio>::=<NRf> — [dB]
<ripple>::=<NRf> — [W]
<period>::=<NRf> — [s]
<dcycle>::=<NRf> — [%]
<phase>::=<NRf> — [ 1]
<chp>::=<NRf> — [W]

<obw>: :=<NRf> — OBW [Hz]

<ebw>::=<NRf> — EBW [Hz]

<freg>::=<NRf> — [Hz]
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WIDTh
#<Num_digit><Num_byte><Width(1)><Width(2)>...<Width(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Width(n)> —
IEEE488.2 4
n 1000

PPOWer
#<Num_digit><Num_byte><Ppower(1)><Ppower(2)=>...<Ppower(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Power(n)> —
IEEE488.2 4
n 1000

OORatio
#<Num_digit><Num_byte><Qoratio(1l)><Ooratio(2)>...<Ooratio(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Ooratio(n)> —
IEEE488.2 4
n 1000

RIPPle
#<Num_digit><Num_byte><Ripple(l)><Ripple(2)>...<Ripple(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Ripple(n)> —
IEEE488.2 4
n 1000

PERiod
#<Num_digit><Num_byte><Period(1)><Period(2)=>...<Period(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Period(n)> —
IEEE488.2 4
n 1000
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:READ

DCYCle
#<Num_digit><Num_byte><Dcycle(1)><Dcycle(2)>...<Dcycle(n)>

<Num_digit>— <Num_byte>
<Num_byte> —
<Dcycle(n)> —
IEEE488.2 4
n 1000

PHASe
#<Num_digit><Num_byte><Phase(l)><Phase(2)>...<Phase(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Phase(n)> —
IEEE488.2 4
n 1000

CHPower
#<Num_digit><Num_byte><Chp(1)><Chp(2)>...<Chp(n)>

<Num_digit>— <Num_byte>
<Num_byte> —
<Chp(n)>—
IEEE488.2 4
n 1000

OBWidth
#<Num_digit><Num_byte><Obw(1)><0bw(2)>...<Obw(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<0bw(n)> — OBW
IEEE488.2 4
n 1000

EBWidth
#<Num_digit><Num_byte><Ebw(1)><Ebw(2)>...<Ebw(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Ebw(n)> — EBW
IEEE488.2 4
n 1000
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FREQuency
#<Num_digit><Num_byte><Freq(1)><Freq(2)>...<Freq(n)>

<Num_digit> — <Num_byte>
<Num_byte> —
<Freq(n)> —
IEEE488.2 4
n 1000

TIMPULSE

:READ:PULSe? WIDTh
500

#3500XXXX. ..

:INSTrument[:SELect]
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:READ

:READ:PULSe:SPECtrum?

:DISPlay:PULSe:SVIew:FORMat  CHPowr OBWidth
EBWidth

:READ:PULSe:SPECtrum?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 16384

TIMPULSE

:READ:PULSe:SPECtrum?
3200

#43200XXXX. . .

:DISPTay:PULSe:SVIew:FORMat, : INSTrument[:SELect]
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:READ:PULSe:TAMPIlitude?

:DISPlay:PULSe:SVIew:FORMat  WIDTh PPOWer OORatio
RIPPle PERiod DCYCle PHASe

:READ:PULSe:TAMPTitude?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit>—<Num_byte>
<Num_byte> —
<Data(n)> — [W]
IEEE488.2 4
n 262,144
—1000

TIMPULSE

:READ:PULSe:TAMPTitude?
3200

#43200XXXX. . .

:DISPTay:PULSe:SVIew:FORMat, : INSTrument[:SELect]
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:READ

:READ:PULSe:TFRequency?

(Frequency Deviation)

:DISPlay:PULSe:SVIew:FORMat =~ FREQuency

:READ:PULSe:TFRequency?

#<Num_digit><Num byte><Data(l)><Data(2)>...<Data(n)>

<Num_digit>—<Num_byte>
<Num_byte> —
<Data(n)> — [Hz]
IEEE488.2 4
n 262,144
—1000

TIMPULSE

:READ:PULSe:TFRequency?
3200

#43200XXXX. . .

:DISPTay:PULSe:SVIew:FORMat, : INSTrument[:SELect]
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:READ:RFID:ACPower? 21

RFID ACPR

:READ:RFID:ACPower?

<Count>{,<0frequency>,<Upper>,<Lower>}

<Count>::=<NR1> — 0 25
<0frequency>::=<NRf> — [Hz]
<Upper>::=<NRf> — n ACPR [dBc]
<Lower>::=<NRf> — n ACPR [dBc]
DEMRFID

ACPR

:READ:RFID:ACPower?

2,500E+3,-38.45,-38.43,1E+6,-44.14,-44.11

:INSTrument[:SELect]
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:READ

:READ:RFID:SPURious? 21

RFID

:READ:RFID:SPURious?

<Snum>{,<Dfreg>,<Rdbc>}

<Snum>::=<NR1> — 20
<Dfreqg>::=<NRf> — [Hz]
<Rdbc>: :=<NRf> — [dBc]
DEMRFID

:READ:RFID:SPURious?

2,-468.75E+3,-45.62,787 .5E+3,-49.88

:INSTrument[:SELect]
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:READ:RFID:SPECtrum:ACPower?

2-346

RFID ACPR

:READ:RFID:SPECtrum:ACPower?

#<Num_digit><Num_byte><Data(l)><Data(2)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

DEMRFID

ACPR
:READ:RFID:SPECtrum:ACPower?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:READ

:READ:RFID:SPECtrum:SPURious? 21

RFID

:READ:RFID:SPECtrum:SPURious?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

DEMRFID

:READ:RFID:SPECtrum:SPURious?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:READ:SPECtrum?

S/A

:READ:SPECtrum?

#<Num_digit><Num_byte><Data(1l)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

SANORMAL, SASGRAM, SARTIME

:READ:SPECtrum?
3200

#43200XXXX. . .

:INSTrument[:SELect]
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:READ

:READ:SPECtrum:ACPower?

S/A ACPR

:READ:SPECtrum:ACPower?

<chpower>,<acpml>,<acppl>,<acpm2>,<acpp2>,<acpm3>,<acpp3>

<chpower>::=<NRf> — [dBm]

<acpml>::=<NRf> — 1 ACPR [dB]
<acppl>::=<NRf> — 1 ACPR [dB]
<acpm2>::=<NRf> — 2 ACPR [dB]
<acpp2>::=<NRf> — 2 ACPR [dB]
<acpm3>::=<NRf> — 3 ACPR [dB]
<acpp3>::=<NRf> — 3 ACPR [dB]

[:SENSe]:ACPower
3 <acpm3>  <acpp3>

<chpower>,<acpml>,<acppl>,<acpm2>,<acpp2>

SANORMAL, SASGRAM, SARTIME

ACPR

:READ:SPECtrum:ACPower?

-11.38,-59.41,-59.51,-59.18,-59.31,-59.17,-59.74

:INSTrument[:SELect], [:SENSe] :ACPower
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:READ:SPECtrum:CFRequency?

S/A

:READ:SPECtrum:CFRequency?

<cfreg>::=<NRf> —

SANORMAL, SASGRAM, SARTIME

:READ:SPECtrum:CFRequency?

846187328.5

:INSTrument[:SELect]

:READ:SPECtrum:CHPower?

S/A

:READ:SPECtrum:CHPower?

<chpower>: :=<NRf> —

SANORMAL, SASGRAM, SARTIME

:READ:SPECtrum:CHPower?

-1.081

:INSTrument[:SELect]
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:READ

:READ:SPECtrum:CNRatio?

S/A C/N

:READ:SPECtrum:CNRatio?

<ctn>,<ctno>
<ctn>::=<NRf> — C/N [dB]
<ctno>: :=<NRf> — C/No [dB/Hz]

SANORMAL, SASGRAM, SARTIME

C/N

:READ:SPECtrum:CNRatio?

75.594,125.594

:INSTrument[:SELect]
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:READ:SPECtrum:EBWidth?

S/A EBW

:READ:SPECtrum:EBWidth?

<ebw>::=<NRf> — [Hz]
SANORMAL, SASGRAM, SARTIME

EBW

:READ:SPECtrum: EBWidth?

30956.26

:INSTrument[:SELect]

:READ:SPECtrum:0OBWidth?

S/A OBW

:READ:SPECtrum:0BWidth?

<obw>::=<NRf> — [Hz]
SANORMAL, SASGRAM, SARTIME

OBW

:READ:SPECtrum:0BWidth?

26510.163

:INSTrument[:SELect]
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:READ

:READ:SPECtrum:SPURious?

S/A

:READ:SPECtrum:SPURious?

<snum>{,<dfreg>,<rdb>}

<snum>::=<NR1> — 20
<dfreg>::=<NRf> — [Hz]
<rdb>::=<NRf> — [dB]

SANORMAL, SASGRAM, SARTIME

:READ:SPECtrum:SPURious?

3,1.2€6,-79,2.4E6,-79.59,1E6,-80.38

:INSTrument[:SELect]
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:READ:SSOurce? 21

:READ:SSOurce? { PNOise | SPURious | FVTime }

2-47:

PNOQise
SPURious
FVTime

PNOQise
<Cfreq>,<Cpower>,<IP_Noise>,<Rj>,<Max_Pj>

<Cfreg>::=<NRf> — [Hz]
<Cpower>::=<NRf> — [dBm]
<IP_Noise>::=<NRf> —

<Rj>::=<NRf> —

<Max_Pj>::=<NRf> —

SPURious
<snum>{,<dfreq>,<rdb>}

<snum>::=<NR1> — 20

<dfreg>: :=<NRf> — [Hz]
<rdb>::=<NRf> — [dBc]
FVTime

<Fstime>,<Fsstart>,<Fsstop>,<TFstime>,<Tfsstart>,<Tfsstop>

<Fstime>::=<NRf> —
<Fsstart>::=<NRf> —
<Fsstop>::=<NRf> —
<TFstime>::=<NRf> —
<TFsstart>::=<NRf> —
<TFsstop>::=<NRf> —

TIMSSOURCE
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:READ

:READ:SSOurce? PNOise

2.0E+9,-21.430,12.432E-12,8.95,217.725E-12

:READ:SSOurce:SPECtrum? o1

[:SENSe]:SSOurce:MEASurement PNOise SPURious
RTSPurious

:READ:SSOurce:SPECtrum?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit>— <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 240001

TIMSSOURCE

:READ:SSOurce:SPECtrum?
3200

#43200XXXX. . .

[:SENSe] : SSOurce:MEASurement
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:READ:SSOurce:TRANsient:FVTime?

2-356

VS

:READ:SSOurce:TRANsient:FVTime?

#<Num_digit><Num_byte><Data(l)><Data(2)>

<Num_digit> — <Num_byte>

<Num_byte> —
<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 ><500
TIMSSOURCE

VS
:READ:SSOurce:TRANsient:FVTime?
3200

#43200XXXX. . .

[:SENSe] :SSOurce:MEASurement

RSA3303A RSA3308A 3GHz 8GHz
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:READ

:READ:TRANSsient:FVTime?

TIME

:READ:TRANsient:FVTime?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [Hz]
IEEE488.2 4
n 512000 1024 > 500

TIMTRAN

:READ:TRANsient:FVTime?
1024

#41024XXXX. .«

:INSTrument[:SELect]
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:READ:TRANSsient:IQVTime?

TIME 1Q

:READ:TRANsient:IQVTime?

#<Num_digit><Num_byte><Idata(l)><Qdata(1l)><Idata(2)><Qdata2>...
<Idata(n)><Qdata(n)>

<Num_digit> — <Num_byte>

<Num_byte> —
<Idata(n)><Qdata(n)> —1I Q [V]
IEEE488.2 4
n 512000 1024 ><500
TIMTRAN
1Q

:READ:TRANsient:IQVTime?

1024

#41024XXXX. .«

:INSTrument[:SELect]
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:READ

:READ:TRANSsient:PVTime?

TIME

:READ:TRANsient:PVTime?

#<Num_digit><Num_byte><Data(1)><Data(2)>...<Data(n)>

<Num_digit> — <Num_byte>

<Num_byte> —

<Data(n)> — [dBm]
IEEE488.2 4
n 512000 1024 > 500

TIMTRAN

:READ:TRANsient:PVTime?
1024

#41024XXXX. . .

:INSTrument[:SELect]
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:SENSe

:SENSe
2-48: :SENSe

[:SENSE]:ACPower ACPR p.2-362
[:SENSE]:ADEMod p.2-366
[:SENSE]:AVERage p.2-373
[:SENSE]:BSIZe p.2-376
[:SENSE]:CCDF CCDF p.2-377
[:SENSE]:CFRequency p.2-380
[:SENSE]:CHPower p.2-381
[:SENSE]:CNRatio C/N p.2-384
[:SENSE]:CORRection p.2-388
[:SENSE]:DDEMod 21 p.2-393
[:SENSE]:EBWIDth EBW p.2-410
[:SENSE]:FEED p.2-412
[:SENSE]:FREQuency p.2-413
[:SENSE]:OBWidth oBW p.2-420
[:SENSE]:PULSe p.2-422
[:SENSE]:RFID RFID 21 p.2-431
[:SENSE]:ROSCillator p.2-459
[:SENSE]:SPECtrum p.2-460
[:SENSE]:SPURious p.2-477
[:SENSE]:SSOurce 21 p.2-481
[:SENSE]: TRANSsient p.2-503
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[:SENSe]:ACPower

S/A ( ) ACPR ( )
[SENSe]
:ACPower
:BANDwidth|:BWIDth
:ACHannel <frequency>
:INTegration  <frequency>
:CSPacing <frequency>
:FILTer
:COEFficient  <numeric_value>
:TYPE RECTangle | GAUSsian | NYQuist | RNYQuist
1. S/A

:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }

2. ACPR

:CONFigure:SPECtrum:ACPower

[:SENSe] : SPECtrum:MEASurement ACPower
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:SENSe

[:SENSe]:ACPower:BANDwidth|:BWIDth:ACHannel(?)

ACPR

[:SENSe] :ACPower:BANDwidth|:BWIDth:ACHannel <value>

[:SENSe] : ACPower:BANDwidth|:BWIDth:ACHannel?
<value>::=<NRf> — ACPR

> 8 [Hz]
SANORMAL, SASGRAM, SARTIME

3.5MHz

:SENSe:ACPower:BANDwidth:ACHannel 3.5MHz

[:SENSe]:ACPower:BANDwidth|:BWIDth:INTegration(?)

ACPR

[:SENSe] :ACPower:BANDwidth| :BWIDth:INTegration <value>

[:SENSe] : ACPower:BANDwidth|:BWIDth:INTegration?
<value>::=<NRf> — ACPR

=< 8 [Hz]
SANORMAL, SASGRAM, SARTIME

ACPR 3.5MHz

:SENSe:ACPower:BANDwidth:INTegration 3.5MHz
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[:SENSe]:ACPower:CSPacing(?)

ACPR

[:SENSe] :ACPower:CSPacing <value>

[:SENSe] :ACPower:CSPacing?

<value>::=<NRf> — ACPR
< 8 [Hz]

SANORMAL, SASGRAM, SARTIME

ACPR SMHz

:SENSe:ACPower:CSPacing 5MHz

Lower3 Lower2 Lower1 Main Upper1 Upper2 Upper3
\ \ \ \ \ \

-
:BANDwidth | :BWIDth:INTegration

AAPIAIA AN A

:BANDwidth | :BWIDth:ACHannel :BANDwidth | :BWIDth:ACHannel

:CSPacing

[:SENSe]:ACPower

2-16 ACPR
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:SENSe

[:SENSe]:ACPower:FILTer:COEFficient(?)

ACPR
[:SENSe] :ACPower:FILTer:TYPE  NYQuist
RNYQuist

[:SENSe] :ACPower:FILTer:COEFficient <ratio>

[:SENSe] :ACPower:FILTer:COEFficient?
<ratio>::=<NRf> — 01
SANORMAL, SASGRAM, SARTIME

ACPR 0.5

:SENSe:ACPower:FILTer:COEFficient 0.5

[:SENSe] :ACPower:FILTer:TYPE

[:SENSe]:ACPower:FILTer:TYPE(?)
ACPR

[:SENSe] :ACPower:FILTer:TYPE { RECTangle | GAUSsian | NYQuist
| RNYQuist }

[:SENSe] :ACPower:FILTer:TYPE?
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RECTangle
GAUSsian
NYQuist
RNYQuist

SANORMAL, SASGRAM, SARTIME

ACPR

:SENSe:ACPower:FILTer:TYPE NYQuist
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[:SENSe]:ADEMod

:INSTrument[:SELect]

DEMADEM
[:SENSe]
:ADEMod
:AM
:CADetection  AVERage | MEDian
:BLOCk <numeric_value>
:CARRier
OFFSet <numeric_value>
SEARch <boolean>
:FM
:THReshold <numeric_value>
[:IMMediate]
:LENGth <numeric_value>
:MODuTation AM | FM | PM | IQVT | OFF
:0FFSet <numeric_value>
:PM
:THReshold <numeric_value>
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:SENSe

:OFFSet
:BLOCk ¢

T— LENGth —>]

O\ |

dBm

10
dB
fdiv

-100

L
dBrn

Timing:

Start: -51.2 ms Scale: 5,12 ms/div

.

[:SENSe]:ADEMod

N
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[:SENSe]:ADEMod:AM:CADetection(?)

0%

[:SENSe] : ADEMod:AM:CADetection { AVERage | MEDian }

[:SENSe] : ADEMod : AM: CADetection?

AVERage — 0%
MEDian — [( )+( )12
DEMADEM

:SENSe:ADEMod: AM: CADetection AVERage

[:SENSe]:ADEMod:BLOCK(?)

2-368

[:SENSe] : ADEMod :BLOCk <number>

[:SENSe] : ADEMod : BLOCk?

<number>::=<NR1> —
-M 0 M

DEMADEM

=5

:SENSe:ADEMod:BLOCk -5

RSA3303A RSA3308A 3GHz 8GHz

0%
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:SENSe

[:SENSe]:ADEMod:CARRier:OFFSet(?)

M

[:SENSe] :ADEMod:CARRier:0FFSet  <freg>

[:SENSe] : ADEMod:CARRier:0FFSet?

<freg>::=<NR1> —
—-30 +30 MHz

DEMADEM

10MHz

:SENSe:ADEMod:CARRier:0FFSet 10MHz

[:SENSe] : ADEMod : CARRier:SEARch

[:SENSe]:ADEMod:CARRier:SEARch(?)

M

[:SENSe] : ADEMod: CARRier:SEARch { OFF | ON | 0 | 1 }

[:SENSe] : ADEMod:CARRier:SEARch?

OFF 0—
[:SENSe] : ADEMod : CARRier:0FFSet

ON 1—

DEMADEM

:SENSe:ADEMod : CARRier:SEARch ON

[:SENSe] : ADEMod : CARRier:OFFSet
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[:SENSe]:ADEMod:FM:THReshold(?)

FM

[:SENSe] : ADEMod:FM: THReshold <value>

[:SENSe] : ADEMod: FM: THResho1d?

<value>::=<NRf> —
—100.0 0.0dB

DEMADEM

—10dB

:SENSe:ADEMod: FM: THReshold -10

[:SENSe]:ADEMod[:IMMediate]

[:SENSe] : ADEMod:MODulation
:INITiate

[:SENSe] : ADEMod[: IMMediate]

DEMADEM

:SENSe:ADEMod: IMMediate

:INITiate, [:SENSe] : ADEMod:MODulation
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:SENSe

[:SENSe]:ADEMod:LENGth(?)

2-17
[:SENSe] : ADEMod: LENGth <value>
[:SENSe] : ADEMod: LENGth?
<value>::=<NR1> —
1 1024x< 500

[:SENSe] :BSIZe

DEMADEM

1000

:SENSe:ADEMod: LENGth 1000

[:SENSe] :BSIZe

[:SENSe]:ADEMod:MODulation(?)

[:SENSe] : ADEMod:MODulation { AM | FM | PM | IQVT | OFF }

[:SENSe] : ADEMod :MODulation?

2-50:
AM AM
FM FM
PM PM
IQVT Q vs. 1Q
OFF
DEMADEM
PM

:SENSe:ADEMod:MODulation PM
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[:SENSe]:ADEMod:OFFSet(?)

2-17

[:SENSe] : ADEMod:OFFSet <value>
[:SENSe] : ADEMod: OFFSet?
<value>::=<NR1> —
0 1024 -1

[:SENSe] :BSIZe

DEMADEM

500

:SENSe:ADEMod:0FFSet 500

[:SENSe] :BSIZe

[:SENSe]:ADEMod:PM:THReshold(?)

PM

[:SENSe] : ADEMod: PM: THReshold <value>

[:SENSe] : ADEMod: PM: THResho1d?

<value>::=<NRf> —
—100.0 0.0dB

DEMADEM

—10dB

:SENSe:ADEMod:PM: THReshold -10
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:SENSe

[:SENSe]:AVERage

[:SENSe] :AVERage
)

(DEMOD

)

(TIME

DEMOD

TIME

[:SENSe]
:AVERage
:CLEar
:COUNt
[:STATE]
:TCONtrol

<numeric_value>
<boolean>
EXPonential | REPeat
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[:SENSe]:AVERage:CLEar

[:SENSe] :AVERage:CLEar

DEMADEM, TIMCCDF, TIMTRAN, TIMPULSE

:SENSe:AVERage:CLEar

[:SENSe]:AVERage:COUNt(?)

[:SENSe] :AVERage:COUNt <value>

[:SENSe] :AVERage:COUNt?

<value>::=<NR1> —
1 100000 20

DEMADEM, TIMTRAN, TIMPULSE

64

:SENSe:AVERage:COUNt 64
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:SENSe

[:SENSe]:AVERage[:STATe](?)

[:SENSe] :AVERage[:STATe] { OFF | ON | 0 | 1 }

[:SENSe] :AVERage[:STATe]?

OFF 0—

ON 1—

DEMADEM, TIMTRAN, TIMPULSE

:SENSe:AVERage:STATe ON

[:SENSe]:AVERage:TCONtrol(?)

[:SENSe] :AVERage:COUNt
TCONtrol Terminal CONtrol

[:SENSe] :AVERage:TCONtrol { EXPonential | REPeat }

[:SENSe] :AVERage:TCONtrol1?

EXPonential — RMS
[:SENSe] :AVERage: COUNt

REPeat — [:SENSe] :AVERage: COUNt

DEMADEM, TIMTRAN, TIMPULSE

:SENSe:AVERage:TCONtrol REPeat

[:SENSe] :AVERage: COUNt
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[:SENSe]:BSIZe
[:SENSe] :BSIZe 1
Real Time S/A
DEMOD TIME
[:SENSe]
:BSIZe <numeric_value>
[:SENSe]:BSIZe(?)

[:SENSe] :BSIZe <value>

[:SENSe] :BSIZe?

<value>::=<NR1> —
(:TRIGger[:SEQuence]:MODE)

2-51:
AUTO 1 16000 64000 02
NORMal 5 16000 64000 02

SARTIME, DEMADEM, DEMDDEM, TIMCCDF, TIMTRAN, TIMPULSE

:SENSe:BSIZe 8

:TRIGger[:SEQuence] :MODE
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:SENSe

[:SENSe]:CCDF

[:SENSe] : CCDF CCDF

TIMCCDF CCDF

:INSTrument[:SELect]

[:SENSe]
:CCDF
:BLOCk <numeric_value>
:CLEar
:RMEasurement
:THReshold <numeric_value>
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[:SENSe]:CCDF:BLOCK(?)
CCDF

[:SENSe] :CCDF:BLOCk <number>

[:SENSe] : CCDF:BLOCk?

<number>::=<NR1> —
-M 0 M

TIMCCDF

=5

:SENSe:CCDF:BLOCk -5

[:SENSe]:CCDF:CLEar

CCDF

[:SENSe] :CCDF:CLEar

TIMCCDF

CCDF

:SENSe:CCDF:CLEar
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:SENSe

[:SENSe]:CCDF:RMEasurement

CCDF
[:SENSe]:CCDF:CLEar

[:SENSe] : CCDF:RMEasurement

TIMCCDF

CCDF

:SENSe:CCDF:RMEasurement

[:SENSe] :CCDF:CLEar

[:SENSe]:CCDF:THReshold(?)

CCDF

[:SENSe] :CCDF:THReshold <value>

[:SENSe] :CCDF:THResho1d?

<value>::=<NR1> — —250 130 dBm

TIMCCDF

50dBm

:SENSe:CCDF:THReshold 50dBm
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[:SENSe]:CFRequency

[:SENSe] :CFRequency

[:SENSe]
:CFRequency
:CRESoTution <numeric_value>

1. S/A

:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }

:CONFigure:SPECtrum:CFRequency

[:SENSe] : SPECtrum:MEASurement CFRequency

[:SENSe]:CFRequency:CRESolution(?)

[:SENSe] :CFRequency:CRESoTution <value>

[:SENSe] :CFRequency:CRESolution?

<value>::=<NRf> —
(Hz) 0.001, 0.01, 0.1, 1, 10, 100, 1k, 10k, 100k, 1M

SANORMAL, SASGRAM, SARTIME

1kHz

:SENSe:CFRequency:CRESolution 1kHz
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:SENSe

[:SENSe]:CHPower

[:SENSe] :CHPower

[:SENSe]
:CHPower
:BANDwidth| :BWIDth
:INTegration <numeric_value>
:FILTer
:COEFficient <numeric_value>
:TYPE RECTangle | GAUSsian | NYQuist | RNYQuist
2
1. S/A

:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }

:CONFigure:SPECtrum:CHPower

[:SENSe] : SPECtrum:MEASurement CHPower

2-381



[:SENSe]:CHPower:BANDwidth|:BWIDth:INTegration(?)
2-18

[:SENSe] : CHPower:BANDwidth | :BWIDth: INTegration <value>

[:SENSe] : CHPower:BANDwidth | :BWIDth:INTegration?
<value>::=<NRf> —

> 8 [Hz]
SANORMAL, SASGRAM, SARTIME

2.5MHz

:SENSe:CHPower:BANDwidth:INTegration 2.5MHz

:BANDwidth | :BWIDth:INTegration

SN NN NANA-WN NIAMUNVA NN AN

[:SENSe]:CHPower

2-18
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:SENSe

[:SENSe]:CHPower:FILTer:COEFficient(?)

[:SENSe] :CHPower:FILTer:TYPE NYQuist
RNYQuist

[:SENSe] :CHPower:FILTer:COEFficient <ratio>

[:SENSe] :CHPower:FILTer:COEFficient?

<ratio>::=<NRf>—
0.0001 1 0.5

SANORMAL, SASGRAM, SARTIME

0.3

:SENSe:CHPower:FILTer:COEFficient 0.3

[:SENSe] :CHPower:FILTer:TYPE

[:SENSe]:CHPower:FILTer:TYPE(?)

[:SENSe] :CHPower:FILTer:TYPE { RECTangle | GAUSsian | NYQuist
| RNYQuist }

[:SENSe] :CHPower:FILTer:TYPE?

2-52:

RECTangle
GAUSsian
NYQuist
RNYQuist

SANORMAL, SASGRAM, SARTIME

:SENSe:CHPower:FILTer:TYPE RNYQuist
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[:SENSe]:CNRatio

[:SENSe] :CNRatio C/N ( )
[:SENSe]
:CNRatio
:BANDwidth|:BWIDth
:INTegration <frequency>
:NOISe <frequency>
:FILTer
:COEFficient <numeric_value>
:TYPE RECTangle | GAUSsian | NYQuist | RNYQuist
:0FFSet <frequency>
2
1. S/A

:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }

2. C/N

:CONFigure:SPECtrum:CNRatio

[:SENSe] : SPECtrum:MEASurement CNRatio
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:SENSe

[:SENSe]:CNRatio:BANDwidth|:BWIDth:INTegration(?)

C/N ( )
2-19

[:SENSe] :CNRatio:BANDwidth|:BWIDth:INTegration <value>

[:SENSe] :CNRatio:BANDwidth|:BWIDth:INTegration?

<value>::=<NRf> — C/N

x< 8

SANORMAL, SASGRAM, SARTIME

C/N 1MHz

[Hz]

:SENSe:CNRatio:BANDwidth:INTegration 1MHz

:BANDwidth | :BWIDth
:INTegration

VWA NAANANA NN

:BANDwidth | :BWIDth
:NOISe

:OFFSet

NWVWHIAVNANANR/Y

I
[:SENSe]:CNRatio

2-19 C/N
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[:SENSe]:CNRatio:BANDwidth|:BWIDth:NOISe(?)

C/N 2-19

[:SENSe] :CNRatio:BANDwidth|:BWIDth:NOISe <value>

[:SENSe] :CNRatio:BANDwidth|:BWIDth:NOISe?
<value>::=<NRf> — C/N

> 8 [Hz]
SANORMAL, SASGRAM, SARTIME

C/N 1.5MHz

:SENSe:CNRatio:BANDwidth:NOISe 1.5MHz

[:SENSe]:CNRatio:FILTer:COEFficient(?)

C/N
[:SENSe] :CNRatio:FILTer:TYPE NYQuist
RNYQuist

[:SENSe] :CNRatio:FILTer:COEFficient <value>

[:SENSe] :CNRatio:FILTer:COEFficient?

<value>::=<NRf> —
0.0001 1 0.5

SANORMAL, SASGRAM, SARTIME

0.3

:SENSe:CNRatio:FILTer:COEFficient 0.3

[:SENSe] :CNRatio:FILTer:TYPE
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:SENSe

[:SENSe]:CNRatio:FILTer:TYPE(?)
C/N

[:SENSe] :CNRatio:FILTer:TYPE { RECTangle | GAUSsian | NYQuist
| RNYQuist }

[:SENSe] :CNRatio:FILTer:TYPE?

2-53:

RECTangle
GAUSsian
NYQuist
RNYQuist

SANORMAL, SASGRAM, SARTIME

:SENSe:CNRatio:FILTer:TYPE RNYQuist

[:SENSe]:CNRatio:OFFSet(?)
C/N 2-19

[:SENSe] :CNRatio:0FFSet <freg>

[:SENSe] :CNRatio:0FFSet?

<freg>::=<NRf> —
- 2 + /2 [Hz]

SANORMAL, SASGRAM, SARTIME

SMHz

:SENSe:CNRatio:0FFSet 5MHz
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[:SENSe]:CORRection

[:SENSe] :CORRection

[:SENSe]:CORRection

:INSTrument[:SELect]

S/A

SANORMAL SASGRAM

[:SENSe]:CORRection[:MAGN:itude]

[:SENSe]
:CORRection
:DATA

:DELete

:0FFSet
[:MAGNitude]
:FREQency

[:STATe]

:X
:SPACing

:SPACing
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#<Num_digit><Num_byte><Freq(1)><Amp1(1)>
<Freq(2)><Amp1(2)>...<Freq(n)><Amp1(n)>

<numeric_value>
<numeric_value>

LINear | LOGarithmic

LINear | LOGarithmic

3GHz 8GHz



:SENSe

[:SENSe]:CORRection:DATA(?)

[:SENSe] :CORRection:DATA #<Num_digit><Num_byte><Freq(1)><Amp1(1)>
<Freq(2)><Amp1(2)>...<Freq(n)><Amp1(n)>

[:SENSe] : CORRection:DATA?

<Num_digit>— <Num_byte>

<Num_byte> —

<Freq(n)> — [Hz]

IEEE488.2 4

<Amp1(n)> — <Freq(n)> [dB]
IEEE488.2 4

n 3000
SANORMAL, SASGRAM

1024

:SENSe:CORRection:DATA #41024xxxX. ..

[:SENSe]:CORRection:DELete

[:SENSe] :CORRection:DELete

SANORMAL, SASGRAM

:SENSe:CORRection:DELete
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[:SENSe]:CORRection:OFFSet[:MAGNitude](?)

[:SENSe] :CORRection:0FFSet[:MAGNitude] <value>

[:SENSe] :CORRection:0FFSet[:MAGNitude]?

<value>::=<NRf> — —200 +200dB

10dB

:SENSe:CORRection:0FFSet:MAGNitude 10

[:SENSe] :CORRection:0FFSet:STATe

[:SENSe]:CORRection:OFFSet:FREQuency(?)

[:SENSe] :CORRection:0FFSet:FREQuency <value>

[:SENSe] :CORRection:0FFSet:FREQuency?
<value>::=<NRf> — —100GHz +100GHz
SANORMAL, SASGRAM

1GHz

:SENSe:CORRection:0FFSet:FREQuency 1GHz

[:SENSe] :CORRection:0FFSet:STATe
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:SENSe

[:SENSe]:CORRection[:STATe](?)

[:SENSe] :CORRection[:STATe] { OFF | ON | O | 1 }

[:SENSe] :CORRection[:STATe]?

OFF 0—
ON 1—

SANORMAL, SASGRAM

:SENSe:CORRection:STATe ON
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[:SENSe]:CORRection:X:SPACing(?)

[:SENSe] :CORRection:X:SPACing { LINear | LOGarithmic }

[:SENSe] :CORRection:X:SPACing?

LINear —

LOGarithmic —

SANORMAL, SASGRAM

:SENSe:CORRection:X:SPACing LINear

:SENSe]:CORRection:Y:SPACing(?)

[:SENSe] :CORRection:Y:SPACing { LINear | LOGarithmic }

[:SENSe] :CORRection:Y:SPACing?

LINear —
LOGarithmic —

SANORMAL, SASGRAM

:SENSe:CORRection:Y:SPACing LINear
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:SENSe

[:SENSe]:DDEMod

[ : SENSe] : DDEMod

21

DEMDDEM

:INSTrument[:SELect]

[:SENSe]
:DDEMod

:BLOCk

:CARRier
:SEARch
:0FFSet

:DECode

:FDEViation
:AUTO

:FILTer
:ALPHa

:MEASurement
:REFerence

:FORMat

[:IMMediate]
:LENGth
:MDEPth
:AUTO
:NLINearity

:COEFficient

:HDIVision

:LSRegion
[:SET]
:UNIT

:0FFSet
:PRESet

:SRATe

<numeric_value>

<boolean>
<frequency>
NRZ | MANChester | MILLer
<numeric_value>
<boolean>

<numeric_value>

OFF | RRCosine

OFF | RCOSine | GAUSsian | HSINe

BPSK | QPSK | PS8P | Q16P | Q32P | Q64P

| Q128P | Q256P | GMSK | GFSK | DQPSk | 0QPSk
| ASK | FSK | C4FM

<numeric_value>
<numeric_value>
<boolean>

<numeric_value>
<numeric_value>

<numeric_value>

RELative | ABSolute

<numeric_value>

OFF | ZOQPsk | NADC | PDC | PHS | TETRa | GSM
| CDPD | BLUetooth | C4FM

<numeric_value>
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:OFFSet
:BLOCk ¢

r— LENGth —>]

O\ |

dBm

10
dB
fdiv

-100

i
dBrn

Timing:

Start: -51.2 ms Scale: 5.12 ms/div

[:SENSe]:DDEMod

2-20

2-394 RSA3303A RSA3308A 3GHz 8GHz



:SENSe

[:SENSe]:DDEMod:BLOCK(?)

2-20

[:SENSe] :DDEMod:BLOCk <value>

[:SENSe] : DDEMod : BLOCk?

<value>::=<NR1> —
-M 0 M

DEMDDEM
=5

:SENSe:DDEMod:BLOCk -5
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[:SENSe]:DDEMod:CARRier:OFFSet(?)

[:SENSe]:DDEMod:CARRier:SEARch  OFF

[:SENSe] :DDEMod: CARRier:0FFSet <freg>

[:SENSe] :DDEMod: CARRier:0FFSet?

<freg>::=<NRf> —
-30 +30 MHz

DEMDDEM

10MHz

:SENSe:DDEMod:CARRier:0FFSet 10MHz

[:SENSe] : DDEMod : CARRier: SEARch

[:SENSe]:DDEMod:CARRier:SEARch(?)

[:SENSe] :DDEMod: CARRier:SEARCh { OFF | ON | 0 | 1 }

[:SENSe] : DDEMod : CARRier:SEARch?

OFF 0—
[:SENSe] :DDEMod: CARRier: OFFSet

ON 1—

DEMDDEM

:SENSe:DDEMod: CARRier:SEARch ON

[:SENSe] : DDEMod : CARRier: OFFSet
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:SENSe

[:SENSe]:DDEMod:DECode(?)

ASK FSK

[:SENSe]:DDEMod:FORMat ASK FSK GFSK

[:SENSe] :DDEMod:DECode { NRZ | MANChester | MILLer }

[:SENSe] : DDEMod : DECode?

NRZ — NRZ (Non-Return to Zero)
MANChecter — Manchester

MILLer — Miller
DEMDDEM

NRZ

:SENSe:DDEMod:DECode NRZ

[:SENSe] : DDEMod : FORMat
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[:SENSe]:DDEMod:FDEViation(?)

FSK GFSK 2

[:SENSe|:DDEMod:FORMat  FSK GFSK [:SENSe]
:DDEMod:FDEViation:AUTO  OFF
[:SENSe] :DDEMod: FDEViation <value>

[:SENSe] : DDEMod: FDEViation?

<value>::=<NRf> — FSK GFSK 2
0 /2 [Hz]

DEMDDEM

1MHz

:SENSe:DDEMod: FDEViation 1MHz

[:SENSe] : DDEMod: FDEViation:AUTO, [:SENSe] : DDEMod: FORMat

[:SENSe]:DDEMod:FDEViation:AUTO(?)

FSK GFSK 2
[:SENSe]:DDEMod:FORMat
FSK GFSK

[:SENSe] :DDEMod: FDEViation:AUTO { OFF | ON | O | 1 }

[:SENSe] :DDEMod: FDEViation:AUTO?

ON 1 —

Frequency Deviation
OFF 0 — [:SENSe]:DDEMod:FDE Viation
DEMDDEM

:SENSe:DDEMod: FDEViation:AUTO ON

[:SENSe] :DDEMod: FDEViation, [:SENSe] : DDEMod: FORMat
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:SENSe

[:SENSe]:DDEMod:FILTer:ALPHa(?)
(a/BT)
[:SENSe] :DDEMod:FILTer:ALPHa <value>
[:SENSe] :DDEMod:FILTer:ALPHa?

<value>::=<NRf> — 0.0001 1

DEMDDEM

0.5

:SENSe:DDEMod:FILTer:ALPHa 0.5
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[:SENSe]:DDEMod:FiLTer:MEASurement(?)

(Measurement Filter)

[:SENSe] :DDEMod:FILTer:MEASurement { OFF | RRCosine }

[:SENSe] :DDEMod: FILTer:MEASurement?

OFF —

RRCosine — Root Raised Cosine
DEMDDEM

Root Raised Cosine

:SENSe:DDEMod:FILTer:MEASurement RRCosine

[:SENSe]:DDEMod:FILTer:REFerence(?)

(Reference Filter)

[:SENSe] :DDEMod:FILTer:REFerence { OFF | RCOSine | GAUSsian | HSINe }

[:SENSe] : DDEMod:FILTer:REFerence?

OFF —
RCOSine — Raised Cosine
GAUSsian —

HSINe —
DEMDDEM

Raised Cosine

:SENSe:DDEMod:FILTer:REFerence RCOSine
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:SENSe

[:SENSe]:DDEMod:FORMat(?)

[:SENSe] :DDEMod:FORMat { BPSK | QPSK | PS8P | Q6P | Q32P | Q64P
| Q128P | Q256P | GMSK | GFSK | DQPSk | 0QPSk | ASK | FSK | C4FM }

[:SENSe] : DDEMod: FORMat?

2-54:

BPSK BPSK
QPSK QPSK
PS8P 8PSK
Q16P 16QAM
Q32P 32QAM
Q64P 64QAM
Q128P 128QAM
Q256P 256QAM
GMSK GMSK
GFSK GFSK
DQPSk 1/4x QPSK
OQPSk OQPSK
ASK ASK

FSK FSK

C4FM P25 (Project 25) C4FM
DEMDDEM

128QAM

:SENSe:DDEMod: FORMat Q128P
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[:SENSe]:DDEMod[:IMMediate]

[:SENSe] :DDEMod:MVIew: FORMat
:INITiate

[:SENSe] : DDEMod[ : IMMediate]

DEMDDEM

:SENSe:DDEMod: IMMediate

:INITiate, [:SENSe] : DDEMod:MVIew:FORMat

[:SENSe]:DDEMod:LENGth(?)

2-20

[:SENSe]:DDEMod:LENGth?
(1536)

[:SENSe] :DDEMod: LENGth <value>

[:SENSe] : DDEMod : LENGth?

<value>::=<NR1> —
1 [1024x=
[:SENSe] :BSIZe

[—

DEMDDEM

1000

:SENSe:DDEMod: LENGth 1000

[:SENSe] :BSIZe
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:SENSe

[:SENSe]:DDEMod:MDEPth(?)

ASK 2
[:SENSe]:DDEMod:FORMat  ASK [:SENSe]:DDEMod

:MDEPth:AUTO OFF
[:SENSe] : DDEMod :MDEPth <value>

[:SENSe] : DDEMod :MDEPth?

<value>::=<NRf> — ASK 2
0 100%
DEMDDEM
20%

:SENSe:DDEMod :MDEPth 20

[:SENSe] :DDEMod: FORMat, [:SENSe] : DDEMod :MDEPth:AUTO

[:SENSe]:DDEMod:MDEPth:AUTO(?)

ASK 2
[:SENSe]:DDEMod:FORMat  ASK

[:SENSe] :DDEMod :MDEPth:AUTO { OFF | ON | O | 1 }

[:SENSe] : DDEMod :MDEPth: AUTO?

ON 1 —

Modulation Depth
OFF 0 — [:SENSe|:DDEMod:MDEPth
DEMDDEM

:SENSe:DDEMod :MDEPth:AUTO ON

[:SENSe] : DDEMod :MDEPth, [:SENSe]:DDEMod:FORMat
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[:SENSe]:DDEMod:NLINearity:COEFficient(?)

AM/AM AM/PM
:DISPlay:DDEMod:MVIew:FORMat AMAM AMPM DAMam
DAMPm

[:SENSe] :DDEMod:NLINearity:COEFficient <number>

[:SENSe] :DDEMod:NLINearity:COEFficient?

<number>::=<NR1> —
0 15 8

DEMDDEM

15

:SENSe:DDEMod:NLINearity:COEFficient 15

:DISPTay:DDEMod:MVIew:FORMat

[:SENSe]:DDEMod:NLINearity:HDIVision(?)

CCDF PDF
:DISPlay:DDEMod:MVIew:FORMat = CCDF PDF

[:SENSe] :DDEMod:NLINearity:HDIVision <value>

[:SENSe] :DDEMod:NLINearity:HDIVision?

<value>::=<NRf> —
0.01 1dB 0.1dB

DEMDDEM

0.2

:SENSe:DDEMod:NLINearity:HDIVision 0.2

:DISPTay:DDEMod:MVIew:FORMat
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:SENSe

[:SENSe]:DDEMod:NLINearity:LSRegion[:SET](?)

AM/AM AM/PM
:DISPlay:DDEMod:MVIew:FORMat AMAM AMPM
DAMam DAMPm

[:SENSe] :DDEMod:NLINearity:LSRegion[:SET] <value>

[:SENSe] :DDEMod:NLINearity:LSRegion[:SET]?

<value>::=<NRf> —

—-100 50dB dBm.
[:SENSe|:DDEMod:NLINearity:LSRegion:UNIT  RELative dB
ABSolute dBm
DEMDDEM
—10dB dBm

:SENSe:DDEMod:NLINearity:LSRegion:SET -10

:DISPTay:DDEMod:MVIew: FORMat, [:SENSe] :DDEMod:NLINearity:LSRegion:UNIT
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[:SENSe]:DDEMod:NLINearity:LSRegion:UNIT(?)

AM/AM AM/PM
:DISPlay:DDEMod:MVIew:FORMat AMAM AMPM
DAMam DAMPm [:SENSe]:DD-

EMod:NLINearity:LSRegion[:SET]

[:SENSe] :DDEMod:NLINearity:LSRegion:UNIT { RELative | ABSolute }

[:SENSe] :DDEMod:NLINearity:LSRegion:UNIT?

RELative ( )— (dB)
()
ABSolute — (dBm)
DEMDDEM
(dB)

:SENSe:DDEMod:NLINearity:LSRegion:UNIT RELative

:DISPTay:DDEMod:MVIew:FORMat, [:SENSe] :DDEMod:NLINearity:LSRegion[:SET]
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:SENSe

[:SENSe]:DDEMod:OFFSet(?)

2-20

[:SENSe]:DDEMod:OFFSet?
)

[:SENSe] :DDEMod:OFFSet <value>

[:SENSe] :DDEMod: OFFSet?
<value>::=<NR1> —
0 1024=< -1
[:SENSe] :BSIZe

DEMDDEM

500

:SENSe:DDEMod:0FFSet 500

[:SENSe] :BSIZe
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[:SENSe]:DDEMod:PRESet(?)

[:SENSe] :DDEMod:PRESet { OFF | NADC | PDC | PHS | TETRa | GSM | CDPD
| BLUetooth | C4FM }

[:SENSe] : DDEMod : PRESet?

2-55:

OFF

Z0QPsk IEEE802.15.4/0QPSK
NADC NADC

PDC PDC

PHS PHS

TETRa TETRA

GSM GSM

CDPD CDPD

BLUetooth Bluetooth

C4FM P25 (Project 25) C4FM
DEMDDEM
PDC

:SENSe:DDEMod: PRESet PDC
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:SENSe

[:SENSe]:DDEMod:SRATe(?)

[:SENSe] :DDEMod:SRATe <value>

[:SENSe] :DDEMod : SRATe?

<value>::=<NRf> —
1 32M sps (symbol per second)

21k sps 21.0E3 21000

DEMDDEM

21k sps

:SENSe:DDEMod: SRATe 21.0E3
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[:SENSe]:EBWIDth

[:SENSe] : EBWIDth EBW

[:SENSe]
:EBWIDth
:XDB <numeric_value>

1. S/A
:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }

2. EBW
:CONFigure:SPECtrum:EBWIDth

[:SENSe] : SPECtrum:MEASurement EBWIDth
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:SENSe

[:SENSe]:EBWIDth:XDB(?)

EBW
2-21

[:SENSe] :EBWIDth:XDB <rel ampl>
[:SENSe] :EBWIDth:XDB?
<rel_ampl>::=<NRf>— EBW

2-21 —-100 —-1dB
SANORMAL, SASGRAM, SARTIME

—20dB EBW

:SENSe:EBWIDth:XDB -20

[:SENSe]:EBWIDth:XDB

—30dB

2-21 EBW
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[:SENSe]:FEED
[:SENSe] : FEED
[:SENSe]
:FEED RF | IQ | AREFerence
[:SENSe]:FEED

RF IQ

[:SENSe] :FEED { RF | IQ | AREFerence }

RF — RF
I0—1IQ 03

AREFerence —

RF

:SENSe:FEED RF
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:SENSe

[:SENSe]:FREQuency

[:SENSe] : FREQuency

[:SENSe]
:FREQuency
:BAND?
:CENTer <frequency>
:STEP <frequency>
:AUTO <boolean>
[: INCRement] <frequency>
:CHANneT <numeric_value>
:CTABle
:CATalog?
[:SELect] <table_name>
:SPAN <frequency>
:STARt <frequency>
:STOP <frequency>
| :SPAN |
e A Y A
:STARt :CENTer :STOP

[:SENSe]:FREQuency

2-22

2-413



[:SENSe]:FREQuency:BAND?

[: SENSe] : FREQuency : BAND?

2-56:
BAS DC 20MHz
RF1B 15MHz 3GHz RSAS3303A
15MHz 3.5GHz RSA3308A
RF2B 3.5 6.5GHz RSA3308A
RF3B 5 8GHz RSA3308A

:SENSe: FREQuency :BAND?

RF1B

[:SENSe]:FREQuency:CENTer(?)

[:SENSe] : FREQuency:CENTer <freg>

[:SENSe] : FREQuency:CENTer?

<freg>::=<NRf> —
2-56

800MHz

:SENSe:FREQuency:CENTer 800MHz

[:SENSe] : FREQuency : BAND
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:SENSe

[:SENSe]:FREQuency:CENTer:STEP:AUTO(?)

[:SENSe] : FREQuency:CENTer:STEP:AUTO { OFF | ON | 0 | 1 }

[:SENSe] : FREQuency:CENTer:STEP:AUTO?

OFF 0—
[:SENSe] : FREQuency:CENTer:STEP[: INCRement]

ON 1—

:SENSe:FREQuency:CENTer:STEP:AUTO ON

[:SENSe] : FREQuency:SPAN, [:SENSe] : FREQuency:STARt, [:SENSe] : FREQuency: STOP

[:SENSe]:FREQuency:CENTer:STEP[:INCRement](?)

[:SENSe] : FREQuency:CENTer:STEP: AUTO OFF

[:SENSe] : FREQuency:CENTer:STEP[: INCRement] <freg>

[:SENSe] : FREQuency:CENTer:STEP[: INCRement]?

<freg>::=<NRf> —

10kHz

:SENSe:FREQuency:CENTer:STEP: INCRement 10kHz

[:SENSe] : FREQuency:CENTer:STEP: AUTO
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[:SENSe]:FREQuency:CHANnel(?)

[:SENSe]:FREQuency:CTABIe[:SELect]

[:SENSe] : FREQuency:CHANnel <value>

[:SENSe] : FREQuency:CHANne1?

<value>::=<NR1> —

W-CDMA 10558

:SENSe: FREQuency:CHANnel 10558

[:SENSe] : FREQuency:CTABle[:SELect]

[:SENSe]:FREQuency:CTABle:CATalog?

[:SENSe] : FREQuency:CTABle:CATalog?

<string>—

[:SENSe]:FREQuency:CTABIle[:SELect]

:SENSe: FREQuency:CTABTe:CATalog?

""CDMA2000 EU PAMR400-FL","CDMA2000 EU PAMR400-RL",CDMA2000 EU
PAMR800-FL","CDMA2000 EU PAMR800-RL",...

[:SENSe] : FREQuency:CTABle[:SELect]
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:SENSe

[:SENSe]:FREQuency:CTABIe[:SELect](?)

[:SENSe] : FREQuency:CTABle[:SELect] <table>

[:SENSe] : FREQuency:CTABle[:SELect]?

<table>::=<string>—

@ __ UI.:’

None

CDMA2000 EU PAMR400-FL
CDMA2000 EU PAMRS00-FL
CDMA2000 GSM BAND 1-FL
CDMA2000 GSM BAND 2-FL
CDMA2000 IMT2000-FL
CDMA2000 JTACS BAND-FL
CDMA2000 KOREA PCS-FL

@ __ DE’

CDMA2000 EU PAMR400-RL
CDMA2000 EU PAMRS&00-RL
CDMA2000 GSM BAND 1-RL
CDMA2000 GSM BAND 2-RL
CDMAZ2000 IMT2000-RL
CDMAZ2000 JTACS BAND-RL
CDMA2000 KOREA PCS-RL

CDMAZ2000 N.A. 700MHz Cellular-FL. CDMAZ2000 N.A. 700MHz Cellular-RL

CDMAZ2000 N.A. Cellular-FL
CDMAZ2000 N.A. PCS-FL
CDMA2000 NMT450 20k-FL
CDMA2000 NMT450 25k-FL
CDMA2000 SMR800-FL
CDMAZ2000 TACS BAND-FL

DCS1800-DL DCS1800-UL
GSMS850-DL GSMS850-UL
GSM900-DL GSM900-UL
NMT450-DL NMT450-UL
PCS1900-DL PCS1900-UL
W-CDMA-DL W-CDMA-UL

W-CDMA

CDMAZ2000 N.A. Cellular-RL
CDMAZ2000 N.A. PCS-RL
CDMA2000 NMT450 20k-RL
CDMA2000 NMT450 25k-RL
CDMA2000 SMR800-RL
CDMA2000 TACS BAND-RL

*7)

:SENSe: FREQuency:CTABle:SELect "W-CDMA-DL"

:SENSe: FREQuency:CTABle:CATalog?
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[:SENSe]:FREQuency:SPAN(?)

( + )2 =

[:SENSe] : FREQuency:SPAN <freg>

[:SENSe] : FREQuency: SPAN?

<freg>::=<NRf> —

2-57:
SANORMAL, SASGRAM RF 50Hz 3GHz
50Hz 20MHz
RF 100Hz 10MHz 1-2-5 15MHz
100Hz 20MHz 1-2-5
1MHz

:SENSe:FREQuency:SPAN 1MHz

[:SENSe] : FREQuency:CENTer, [:SENSe] : FREQuency:STARt, [: SENSe] : FREQuency: STOP

2-418 RSA3303A RSA3308A 3GHz 8GHz



:SENSe

[:SENSe]:FREQuency:STARt(?)

[:SENSe] : FREQuency:STARt <freg>

[:SENSe] : FREQuency:STARt?

<freg>::=<NRf> —
2-414 2-56

SANORMAL, SASGRAM

800MHz

:SENSe:FREQuency:STARt 800MHz

[:SENSe] : FREQuency:CENTer, [:SENSe] : FREQuency:SPAN, [:SENSe] : FREQuency: STOP

[:SENSe]:FREQuency:STOP(?)

[:SENSe] : FREQuency:STOP <freg>

[:SENSe] : FREQuency:STOP?

<freg>::=<NRf> —
2-414 2-56

SANORMAL, SASGRAM

1GHz

:SENSe:FREQuency:STOP 1GHz

[:SENSe] : FREQuency:CENTer, [:SENSe] : FREQuency:SPAN, [:SENSe] : FREQuency: STARt
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[:SENSe]:0BWidth

OBW

[SENSe]
:0BWidth
:PERCent <numeric_value>

1. S/A
:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }

2. OBW
:CONFigure:SPECtrum:0BWidth

[:SENSe] : SPECtrum:MEASurement OBWidth
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:SENSe

[:SENSe]:0BWidth:PERCent(?)

OBW (%)
[:SENSe] :0BWidth:PERCent <value>
[:SENSe] :0BWidth:PERCent?

<value>::=<NRf> —
80 99.99% 99%

SANORMAL, SASGRAM, SARTIME

95%
:SENSe:0BWidth:PERCent 95

:PERCent = (Cp/Sp) x 100

Cp

Sp

[:SENSe]:0BWidth

2-23 OBW
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[:SENSe]:PULSe

[:SENSe] : PULSe

:INSTrument[:SELect]

TIMPULSE
[:SENSe]
:PULSe
:BLOCk
:CHPower
:BANDwidth| :BWIDth
:INTegration <numeric_value>
:CRESolution <numeric_value>
:EBWidth
:XDB <numeric_value>
(FFT
:COEFficient <numeric_value>
:WINDow
[:TYPE] NYQuist | BH4B
:FILTer
:BANDwidth| :BWIDth <numeric_value>
:COEFficient <numeric_value>
:MEASurement OFF | GAUSsian
:FREQuency
:0FFSet <numeric_value>
:RECovery FIRSt | USER | OFF
[:IMMediate]
:0BWidth
:PERCent <numeric_value>
:PTOFfset <numeric_value>
:THReshold <numeric_value>
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:SENSe

[:SENSe]:PULSe:BLOCK(?)

[:SENSe] :PULSe:BLOCk <value>

[:SENSe] :PULSe:BLOCk?

<value>::=<NR1> — 0
-M 0 M

TIMPULSE
=5

:SENSe:PULSe:BLOCk -5

[:SENSe]:PULSe:CHPower:BANDwidth|:BWIDth:INTegration(?)

[:SENSe] :PULSe:CHPower:BANDwidth|:BWIDth: INTegration <value>

[:SENSe] : PULSe:CHPower:BANDwidth| :BWIDth:INTegration?
<value>::=<NRf> —

> 8 [Hz]

TIMPULSE

1.5MHz

:SENSe:PULSe:CHPower:BANDwidth:INTegration 1.5MHz
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[:SENSe]:PULSe:CRESolution(?)

[:SENSe] :PULSe:CRESolution <value>

[:SENSe] :PULSe:CRESoTution?

<value>::=<NRf> —
1Hz 10Hz 100Hz 1kHz 10kHz 100kHz 1MHz

TIMPULSE

1kHz

:SENSe:PULSe:CRESolution 1kHz

[:SENSe]:PULSe:EBWidth:XDB(?)

EBW

[:SENSe] :PULSe:EBWidth:XDB <rel ampl>

[:SENSe] :PULSe:EBWidth:XDB?

<rel_ampl>::=<NRf> — EBW
-100 -1dB —30dB

TIMPULSE

—20dB EBW

:SENSe:PULSe:EBWidth:XDB -20

[:SENSe] :EBWidth:XDB
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:SENSe

[:SENSe]:PULSe:FFT:COEFficient(?)

FFT

[:SENSe] :PULSe:FFT:COEFficient <value>

[:SENSe] :PULSe:FFT:COEFficient?

<value>::=<NRf> —
0.0001 1 0.2

TIMPULSE

0.5

:SENSe:PULSe:FFT:COEFficient 0.5

[:SENSe] :PULSe:FFT:WINDow[:TYPE]

[:SENSe]:PULSe:FFT:WINDow[: TYPE](?)
FFT

[:SENSe] :PULSe:FFT:WINDow[:TYPE] { NYQuist | BH4B }

[:SENSe] :PULSe:FFT:WINDow[:TYPE]?

NYQuist —
BH4B — 4B

TIMPULSE

:SENSe:PULSe:FFT:WINDow:TYPE NYQuist
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[:SENSe]:PULSe:FILTer:BANDwidth|:BWIDth(?)

[:SENSe] :PULSe:FILTer:BANDwidth|:BWIDth <value>

[:SENSe] :PULSe:FILTer:BANDwidth|:BWIDth?

<value>::=<NRf> —
/10

TIMPULSE

1MHz

:SENSe:PULSe:FILTer:BANDwidth 1MHz

[:SENSe]:PULSe:FILTer:COEFficient(?)

[:SENSe]:PULSe:FILTer:MEASurement  GAUSsian
ao/BT

[:SENSe] :PULSe:FILTer:COEFficient <value>

[:SENSe] :PULSe:FILTer:COEFficient?

<value>::=<NRf> — o/BT
0.0001 1 0.35

TIMPULSE

a/BT 0.5

:SENSe:PULSe:FILTer:COEFficient 0.5

[:SENSe] :PULSe:FILTer:MEASurement
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:SENSe

[:SENSe]:PULSe:FILTer-MEASurement(?)

[:SENSe] :PULSe:FILTer:MEASurement { OFF | GAUSsian }

[:SENSe] :PULSe:FILTer:MEASurement?

OFF —

GAUSsian —

TIMPULSE

:SENSe:PULSe:FILTer:MEASurement GAUSsian

[:SENSe]:PULSe:FREQuency:OFFSet(?)

[:SENSe]:PULSe:FREQuency:RECovery  USER
[:SENSe]:PULSe:FREQuency:RECovery  FIRSt
USER

[:SENSe] :PULSe:FREQuency:0FFSet <value>

[:SENSe] :PULSe:FREQuency:0FFSet?

<value>::=<NRf> —
-10 +10 MHz

TIMPULSE

SMHz

:SENSe:PULSe:FREQuency:0FFSet 5MHz

[:SENSe] : PULSe:FREQuency:RECovery

2-427



[:SENSe]:PULSe:FREQuency:RECovery(?)

(Pulse-Pulse Phase) (Frequency Deviation)

[:SENSe] : PULSe:FREQuency:RECovery { FIRSt | USER | OFF }

[:SENSe] :PULSe:FREQuency:RECovery?

FIRSt —
Frequency Offset

USER — [:SENSe]:PULSe:FREQuency:OFFSet

OFF —

TIMPULSE

:SENSe:PULSe:FREQuency:RECovery FIRSt

[:SENSe] :PULSe:FREQuency:0FFSet

[:SENSe]:PULSe[:IMMediate]

:INITiate

[:SENSe] :PULSe[:IMMediate]

TIMPULSE

:SENSe:PULSe: IMMediate

:INITiate
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:SENSe

[:SENSe]:PULSe:0BWidth:PERCent(?)
OBW (%)

[:SENSe] :PULSe:0BWidth:PERCent <value>

[:SENSe] :PULSe:0BWidth:PERCent?

<value>::=<NRf> —
80 99.9% 99%

TIMPULSE

95%

:SENSe:PULSe:0BWidth:PERCent 95

[:SENSe]:PULSe:PTOFfset(?)

[:SENSe] :PULSe:PTOFfset <value>

[:SENSe] :PULSe:PTOFfset?

<value>::=<NRf> —
0 1 0

TIMPULSE

1.5ms

:SENSe:PULSe:PTOFfset 1.5m
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[:SENSe]:PULSe:THReshold(?)

[:SENSe] :PULSe:THReshold <value>

[:SENSe] :PULSe:THResho1d?

<value>::=<NRf> —
—100 0dBc —3dBc

TIMPULSE

—20dBc

:SENSe:PULSe:THReshold -20
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:SENSe

[:SENSe]:RFID 21

[:SENSe] :RFID RFID

:INSTrument[:SELect]
DEMRFID RFID

[:SENSe]
:RFID
:ACPower
:BANDwidth| :BWIDth
:ACHannel <numeric_value>
:INTegration  <numeric_value>
:CSPacing <numeric_value>
:FILTer
:COEFficient  <numeric_value>
:TYPE RECTangle | GAUSsian | NYQuist | RNYQuist
:BLOCk <numeric_value>
:Carrier
:BANDwidth| :BWIDth
:INTegration  <numeric_value>
:COUNter
[:RESolution] <numeric_value>
:0FFSet <numeric_value>
:PRATi0
[:SET] <numeric_value>
:UNIT PERCent | PCT | DB
[:IMMediate]
:LENGth <numeric_value>
:MEASurement CARRier | SPURious | ACPower | PODown
| RFENvelope | CONSte | EYE | STABle
:MODulation
:ADVanced
:FILTer RCOSine | OFF
:PREamble <boolean>
: SBANd UPPer | LOWer
:BRATe
:AUTO <boolean>
[:SET] <numeric_value>
:DECode "PIE-A" | "PIE-C" | "FMO" | "MANCHESTER"

| "MILLER" | "MILLER-2" | "MILLER-4"
| "MILLER-8" | "M-MILLER" | "NRZ" | "NRZ-L8"
| "NRZ-L4"| "NRZ-L2" | "PWM" | "BITCELL"
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2-432

RSA3303A

:FORMat

:INTerpolate
:LINK
:SERRor
[:WIDTh]
:STANdard

:TARI
:AUTO
[:SET]
[:THReshold]
:HIGHer
:LOWer

:0OFFSet
:SPurious

[:THReshold]

:EXCursion

:IGNore
:SIGNal
:SPURious

:Z00M

:FREQuency
:CENTer
:WIDTh

RSA3308A

"ASK" | "DSB-ASK" | "SSB-ASK" | "PR-ASK"
| "00K" | "SC-00K" | "SC-BPSK" | "FSK"
<numeric_value>

INTerrogator | TAG

<numeric_value>

"18000-4-1" | "18000-6-A" | "18000-6-B"

| "18000-6-C" | "14443-2-A" | "14443-2-B"

| "F-13.56MHz" | "COG1" | "C1G1" | "MANUAL"

<boolean>
<numeric_value>

<numeric_value>
<numeric_value>

<numeric_value>

<numeric_value>
<numeric_value>
<numeric_value>

<numeric_value>

<numeric_value>
<numeric_value>
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:SENSe

[:SENSe]:RFID:ACPower:BANDwidth|:BWIDth:ACHannel(?)

ACPR 2-363
[:SENSe]:ACPower:BANDwidth | :BWIDth:ACHannel
[:SENSe]:RFID:MEASurement ACPower

[:SENSe] :RFID:ACPower:BANDwidth| :BWIDth:ACHannel <value>

[:SENSe] :RFID:ACPower:BANDwidth|:BWIDth:ACHannel?
<value>::=<NRf> —

> 8 [Hz]
DEMRFID

1MHz

:SENSe:RFID:ACPower:BANDwidth:ACHannel 1MHz

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:ACPower:BANDwidth|:BWIDth:INTegration(?)

ACPR 2-363
[:SENSe]:ACPower:BANDwidth | :BWIDth:INTegration
[:SENSe]:RFID:MEASurement ACPower

[:SENSe] :RFID:ACPower:BANDwidth|:BWIDth:INTegration <value>

[:SENSe] :RFID:ACPower:BANDwidth|:BWIDth:INTegration?
<value>::=<NRf> —

=< 8 [Hz]

DEMRFID

1MHz

:SENSe:RFID:ACPower:BANDwidth:INTegration 1MHz

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:ACPower:CSPacing(?)

ACPR 2-364 [:SENSe]
:ACPower:CSPacing [:SENSe]:RFID:MEAS
urement ACPower

[:SENSe] :RFID:ACPower:CSPacing <value>

[:SENSe] :RFID:ACPower:CSPacing?

<value>::=<NRf> —

DEMRFID

1.4MHz

:SENSe:RFID:ACPower:CSPacing 1.4MHz

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:ACPower:FILTer:COEFficient(?)

ACPR

[:SENSe]:RFID:MEASurement ACPower [:SENSe]
:RFID:ACPower:FILTer:TYPE NY Quist RNYQ
uist

[:SENSe] :RFID:ACPower:FILTer:COEFficient <ratio>

[:SENSe] :RFID:ACPower:FILTer:COEFficient?
<ratio>::=<NRf> — 0 1
DEMRFID

ACPR 0.5

:SENSe:RFID:ACPower:FILTer:COEFficient 0.5

[:SENSe] :RFID:ACPower:FILTer:TYPE, [:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:ACPower:FILTer:TYPE(?)

ACPR 2-365 [:SENSe]:ACPow-
er:FILTer:TYPE [:SENSe]:RFID:MEASure-
ment ACPower

[:SENSe] :RFID:ACPower:FILTer:TYPE { RECTangle | GAUSsian | NYQuist
| RNYQuist }

[:SENSe] :RFID:ACPower:FILTer:TYPE?

RECTangle —
GAUSsian —
NYQuist —

RNYQuist —
DEMRFID

ACPR

:SENSe:RFID:ACPower:FILTer:TYPE NYQuist

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:BLOCK(?)

[:SENSe] :RFID:BLOCk <number>

[:SENSe] :RFID:BLOCk?

<number>::=<NR1> — 0
-M 0 M

DEMRFID

=5

:SENSe:RFID:BLOCk -5
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[:SENSe]:RFID:CARRier:BANDwidth|:BWIDth:INTegration(?)

RFID EIRP
[:SENSe]:RFID:MEASurement = CARRier

[:SENSe] :RFID:CARRier:BANDwidth|:BWIDth:INTegration <value>

[:SENSe] :RFID:CARRier:BANDwidth|:BWIDth:INTegration?

<value>::=<NRf> — EIRP
0 10 MHz

DEMRFID

1MHz

:SENSe:RFID:CARRier:BANDwidth: INTegration 1MHz

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:CARRier:COUNter[:RESolution](?)

RF
[:SENSe]:RFID:MEASurement CARRier

[:SENSe] :RFID:CARRier:COUNter[:RESolution] <value>

[:SENSe] :RFID:CARRier:COUNter[:RESoTution]?

<value>::=<NRf> —
(Hz) 0.001, 0.01, 0.1, 1, 10, 100, 1k, 10k, 100k, 1M

DEMRFID

1Hz

:SENSe:RFID:CARRier:COUNter[:RESolution] 1Hz

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:CARRier:OFFSet(?)

RFID EIRP
[:SENSe]:RFID:MEASurement = CARRier

[:SENSe] :RFID:CARRier:0FFSet <value>

[:SENSe] :RFID:CARRier:0FFSet?

<value>::=<NRf> — EIRP
—100 +100 dB
DEMRFID
EIRP 10dB

:SENSe:RFID:CARRier:0FFSet 10

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:CARRier:PRATio[:SET](?)

RFID OBW
[:SENSe]:RFID:MEASurement CARRier

[:SENSe] :RFID:CARRier:PRATio[:SET] <value>

[:SENSe] :RFID:CARRier:PRATio[:SET]?

<value>::=<NRf> — OBW
—100 +100 dB 0dB

DEMRFID

OBW 20dB

:SENSe:RFID:CARRier:0FFSet 20

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:CARRier:PRATio:UNIT(?)

RFID OBW
[:SENSe]:RFID:MEASurement CARRier

[:SENSe] :RFID:CARRier:PRATi0:UNIT { PERCent | PCT | DB }

[:SENSe] :RFID:CARRier:PRATi0:UNIT?

PERCent PCT — (%)

DB — dB
DEMRFID

(%)

:SENSe:RFID:CARRier:PRATi0o:UNIT PERCent

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID[:IMMediate]

RFID
[:SENSe]:RFID:MEASurement
:INITiate

[:SENSe] :RFID[:IMMediate]

DEMRFID

:SENSe:RFID:IMMediate

:INITiate, [:SENSe] :RFID:MEASurement

[:SENSe]:RFID:LENGth(?)

RFID

[:SENSe]:RFID:LENGth?
(512)

[:SENSe] :RFID:LENGth <value>

[:SENSe] :RFID:LENGth?
<value>::=<NR1> —
1 256K
[:SENSe] :BSIZe

DEMRFID

1000

:SENSe:RFID:LENGth 1000

[:SENSe] :BSIZe
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[:SENSe]:RFID:MEASurement(?)

RFID

[:SENSe] :RFID:MEASurement { CARRier | SPURious | ACPower | PODown
| RFENvelope | CONSte | EYE | STABle }

[:SENSe] :RFID:MEASurement?

2-58: RFID

CARRier
SPURious
ACPower ACPR
PODown
RFENvelope RF
CONSte
EYE
STABle

[:SENSe]:RFID:MODulation:STANdard “C0G1”  “C1G1”

DEMRFID

:SENSe:RFID:MEASurement CARRier

[:SENSe] :RFID:MODulation:STANdard
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:SENSe

[:SENSe]:RFID:MODulation:ADVanced:FILTer(?)

RFID
[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown [:SENSe]:RFID:MODulation:STANdard
“14443-2-A” “14443-2-B”

[:SENSe] :RFID:MODulation:ADVanced:FILTer { RCOSine | OFF }

[:SENSe] :RFID:MODulation:ADVanced:FILTer?

RCOSine — Raised Cosine

OFF —
DEMRFID

Raised Cosine

:SENSe:RFID:MODulation:ADVanced:FILTer RRCosine

[:SENSe] :RFID:MEASurement, [:SENSe] :RFID:MODulation:STANdard
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[:SENSe]:RFID:MODulation:ADVanced:PREamble(?)

RFID
[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown [:SENSe]:RFID:MODulation:STANdard
“14443-2—-A” “14443-2-B”

[:SENSe] :RFID:MODulation:ADVanced:PREamble { OFF | ON | O | 1 }

[:SENSe] :RFID:MODulation:ADVanced:PREamble?

ON 1—

OFF 0—

DEMRFID

:SENSe:RFID:MODulation:ADVanced:PREamble ON

[:SENSe] :RFID:MEASurement, [:SENSe] :RFID:MODulation:STANdard
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:SENSe

[:SENSe]:RFID:MODulation:ADVanced:SBANd(?)

RFID
[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown [:SENSe]:RFID:MODulation:STANdard
“14443-2-A” “14443-2-B”

[:SENSe] :RFID:MODulation:ADVanced:SBANd { UPPer | LOWer }

[:SENSe] :RFID:MODulation:ADVanced:SBANd?

UPPer —

LOWer —
DEMRFID

RFID

:SENSe:RFID:MODulation:ADVanced:SBANd UPPer

[:SENSe] :RFID:MEASurement, [:SENSe] :RFID:MODulation:STANdard
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[:SENSe]:RFID:MODulation:BRATe:AUTO(?)

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown [:SENSe]:RFID:MODulation:DECode
“PIE-A” “PIE-C”

[:SENSe] :RFID:MODulation:BRATe:AUTO { OFF | ON | O | 1 }

[:SENSe] :RFID:MODulation:BRATe:AUTO?

OFF 0 —
[:SENSe]:RFID:MODulation:BRATe[:SET]

ON 1—

DEMRFID

:SENSe:RFID:MODulation:BRATe:AUTO ON

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:MODulation:BRATe[:SET](?)

[:SENSe]:RFID:MODulation:BRATe

:AUTO  OFF
[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIle PODown [:SENSe]:RFID:MODulation:DECode
“PIE-A” “PIE-C”

[:SENSe] :RFID:MODulation:BRATe[:SET] <value>

[:SENSe] :RFID:MODulation:BRATe[:SET]?

<value>::=<NRf> —
1bps 51.2Mbps

DEMRFID

40k

:SENSe:RFID:MODulation:BRATe:SET 40k

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:MODulation:DECode(?)

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIle PODown

[:SENSe] :RFID:MODulation:DECode { "PIE-A" | "PIE-C" | "FMO" | "MANCHESTER"
| "MILLER" | "MILLER-2" | "MILLER-4" | "MILLER-8" | "M-MILLER" | "NRZ"
| "NRZ-L8" | "NRZ-L4" | "NRZ-L2" | "PWM" | "BITCELL" }

[:SENSe] :RFID:MODulation:DECode?

2-59:
“PIE-A PIE A
“PIE-C” PIE C
“FMO0” FMO
“MANCHESTER” | Manchester
“MILLER-2" Miller (M_2)
“MILLER—4" Miller (M_4)
“MILLER-8" Miller (M_8)
“M—MILLER” Mdifited Miller
“NRz” NRZ
“NRZ-L8” NRZ-L 8
“NRZ-L4” NRzZ-L 4
“NRzZ-L2” NRz-L 2
“PWM” PWM
“BITCELL
DEMRFID

FMO

:SENSe:RFID:MODulation:DECode "FMO"

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:MODulation:FORMat(?)

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown

[:SENSe] :RFID:MODulation:FORMat { "ASK" | "DSB-ASK" | "SSB-ASK" | "PR-ASK"
| "00K" | "SC-00K" | "SC-BPSK" | "FSK" }

[:SENSe] :RFID:MODulation:FORMat?

2-60:

“ASK” ASK

“DSB—-ASK” |DSB-ASK
“SSB—ASK” |SSB—-ASK
“PR—ASK” PR—ASK

“O0K” OOK

“SC-00K” OOK
“SC—BPSK” BPSK
“FSK” FSK

DEMRFID

ASK

:SENSe:RFID:MODulation:FORMat "ASK"

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:MODulation:INTerpolate(?)

MEAS SETUP Interpolation Points
[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABle PODown

[:SENSe] :RFID:MODulation:INTerpolate <valule>

[:SENSe] :RFID:MODulation:INTerpolate?

<value>::=<NRf> —
0o 7 1

DEMRFID

:SENSe:RFID:MODulation:INTerpolate 3

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:MODulation:LINK(?)

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown

[:SENSe] :RFID:MODulation:LINK { INTerrogator | TAG }

[:SENSe] :RFID:MODulation:LINK?

INTerrogator —

TAG —

DEMRFID

:SENSe:RFID:MODulation:LINK INTerrogator

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:MODulation:SERRor[:WIDTh](?)

MEAS SETUP Interpola-
tion Points

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIle PODown

[:SENSe] :RFID:MODulation:SERRor[:WIDTh] <value>

[:SENSe] :RFID:MODulation:SERRor[:WIDTh]?

<value>::=<NRf> —
1 100% 5%

DEMRFID

5%

:SENSe:RFID:MODulation:SERRor:WIDTh 5

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:MODulation:STANdard(?)

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIe PODown

[:SENSe] :RFID:MODulation:STANdard { "18000-4-1" | "18000-6-A" | "18000-6-B"
| "18000-6-C" | "14443-2-A" | "14443-2-B" | "F-13.56MHz" | "COG1" | "C1G1"
| "MANUAL" }

[:SENSe] :RFID:MODulation:STANdard?

2-61:
“18000—4—1" ISO/IEC 18000-4 Mode 1
“18000—6—A" ISO/IEC 18000-6 Type A
“18000—6—B” ISO/IEC 18000-6 Type B
“18000—-6—C” ISO/IEC 18000-6 Type C
“14443-2—-A ISO/IEC 14443-2 Type A
“14443-2—B" ISO/IEC 14443-2 Type B
“F—13.56MHz” F-13.56MHz
“CoG1” EPCglobal Gen1 Class0
“C1G1” EPCglobal Gen1 Class1
"MANUAL
DEMRFID

ISO/IEC 18000-4 Mode 1

:SENSe:RFID:MODulation:STANdard "18000-4-1"

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:MODulation: TARI:AUTO(?)

Tari

[:SENSe]:RFID:MEASurement

RFENvelope CONSte

EYE STABIe PODown [:SENSe]:RFID:MODulation:DECode

“PIE-A” “PIE-C”

[:SENSe] :RFID:MODulation:TARI:AUTO { OFF | ON | O | 1 }

[:SENSe] :RFID:MODulation:TARI:AUTO?

OFF 0 —
[:SENSe]:RFID:MODulation: TARI[:SET]

ON 1—

DEMRFID

Tari

:SENSe:RFID:MODulation:TARI:AUTO ON

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:MODulation: TARI[:SET](?)

[:SENSe]:RFID:MODulation: TARI:AU-

TO OFF Tari
[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIle PODown [:SENSe]:RFID:MODulation:DECode
“PIE-A” “PIE-C”

[:SENSe] :RFID:MODulation:TARI[:SET] <value>

[:SENSe] :RFID:MODulation:TARI[:SET]?

<value>::=<NRf> — Tari Ins 1s
DEMRFID
Tari  25us

:SENSe:RFID:MODulation:TARI:SET 25u

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:MODulation[:THReshold]:HIGHer(?)

[:SENSe]:RFID:MEASurement RFENvelope CONSte
EYE STABIle PODown

[:SENSe] :RFID:MODulation[:THReshold] :HIGHer <value>

[:SENSe] :RFID:MODulation[:THReshold] :HIGHer?

<value>::=<NRf> —
50 99% 90%

DEMRFID

90%

:SENSe:RFID:MODuTation:THReshold 90

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:MODulation[:THReshold]:LOWer(?)

[:SENSe]:RFID:MEASurement RFENvelope
CONSte EYE STABle PODown

[:SENSe] :RFID:MODulation[:THReshold] :LOWer <value>

[:SENSe] :RFID:MODulation[:THReshold] : LOWer?

<value>::=<NRf>—
1 50% 10%

DEMRFID

10%

:SENSe:RFID:MODulation:THReshold 10

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:OFFSet(?)

RFID

[:SENSe]:RFID:OFFSet?
(0)

[:SENSe] :RFID:0FFSet <value>

[:SENSe] :RFID:0FFSet?
<value>::=<NR1> —
0 1024=< -1
[:SENSe] :BSIZe

DEMRFID

500

:SENSe:RFID:0FFSet 500

[:SENSe] :BSIZe
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[:SENSe]:RFID:SPURious[:THReshold]:EXCursion(?)

2-478 [:SENSe]:SPURIious[: THReshold]:EXCursion
[:SENSe]:RFID:MEASurement  SPURious

[:SENSe] :RFID:SPURious[:THReshold] :EXCursion <value>

[:SENSe] :RFID:SPURious[:THReshold] :EXCursion?

<level>::=<NRf> —
0 30dB 3dB

DEMRFID

5dB

:SENSe:RFID:SPURious:THReshold:EXCursion 5

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:SPURious[:THReshold]:IGNore(?)

2-479 [:SENSe]:SPURious[: THReshold]:IGNore
[:SENSe]:RFID:MEASurement  SPURIious

[:SENSe] :RFID:SPURious[:THReshold] : IGNore <value>

[:SENSe] :RFID:SPURious[:THReshold] : IGNore?

<value>::=<NRf> —
0 /2 [Hz] OHz

DEMRFID

SMHz

:SENSe:RFID:SPURious:THReshold:IGNore 5MHz

[:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:RFID:SPURious[:THReshold]:SIGNal(?)

2-479 [:SENSe]:SPURious[:THReshold]:SIGNal
[:SENSe]:RFID:MEASurement  SPURious

[:SENSe] :RFID:SPURious[:THResho1d]:SIGNal <value>

[:SENSe] :RFID:SPURjous[:THResho1d] :SIGNa1?

<level>::=<NRf> —
—100 +30 dBm —20dBm

DEMRFID

—30dBm

:SENSe:RFID:SPURious:THReshold:SIGNal -30

[:SENSe] :RFID:MEASurement

[:SENSe]:RFID:SPURious[:THReshold]:SPURious(?)

2-480 [:SENSe]:SPURious[:THReshold]:SPURious
[:SENSe]:RFID:MEASurement ~ SPURious

[:SENSe] :RFID:SPURious[:THReshold] :SPURious <value>

[:SENSe] :RFID:SPURious[:THReshold] :SPURious?

<level>::=<NR1>—
—-90 —-30dBc —70dBc

DEMRFID

—50 dB

:SENSe:RFID:SPURious:THReshold:SPURious -80

[:SENSe] :RFID:MEASurement
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[:SENSe]:RFID:ZOOM:FREQuency:CENTer(?)

:DISPlay:RFID:OVIew:FORMat

[:SENSe] :RFID:Z00M: FREQuency:CENTer <value>

[:SENSe] :RFID:Z0OM: FREQuency:CENTer?

<value>::=<NRf> —

DEMRFID

1.75GHz

:SENSe:RFID:Z0OM: FREQuency:CENTer 1.75GHz

:DISPlay:RFID:0VIew:FORMat

[:SENSe]:RFID:ZOOM:FREQuency:WIDTh(?)

2-458

:DISPlay:RFID:OVIew:FORMat

[:SENSe] :RFID:Z00M: FREQuency:WIDTh <value>

[:SENSe] :RFID:Z0OM: FREQuency :WIDTh?

<value>::=<NRf> —

DEMRFID

500kHz

:SENSe:RFID:Z00M: FREQuency:WIDTh 500kHz

:DISPlay:RFID:0VIew:FORMat

RSA3303A RSA3308A 3GHz 8GHz
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:SENSe

[:SENSe]:ROSCillator

[:SENSe] :ROSCiTlator

[:SENSe]
:ROSCiTlator
:SOURce INTernal | EXTernal

[:SENSe]:ROSCillator:SOURce(?)

[:SENSe] :ROSCillator:SOURce { INTernal | EXTernal }

[:SENSe] :ROSCiTlator:SOURce?

INTernal —

EXTernal —
REF IN

:SENSe:R0SCillator:SOURce EXTernal
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[:SENSe]:SPECtrum

[:SENSe] : SPECtrum S/A
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:SENSe

[:SENSe]
:SPECtrum
:AVERage
:CLEar
:COUNt
[:STATE]
:TYPE

:BANDwidth|:BWIDth

[:RESoTution]
:AUTO

:STATe

:VIDeo
:STATe
:SWEep

[:TIMe]

:DETector
[:FUNction]

:FILTer
:COEFficient
:TYPE

:FFT
:ERESolution
:LENGth
:STARt
:WINDow

[:TYPE]

: FRAMe
:MEASurement

:Z00OM
:BLOCk
:FREQuency
:CENTer
:WIDTh
:LENGth
:0FFSet

<numeric_value>
<boolean>
RMS | MAXimum |

<numeric_value>
<boolean>
<boolean>
<numeric_value>
<boolean>

<numeric_value>

MINimum

(Option 21 )

NEGative | POSitive | PNEgative

<numeric_value>

RECTangle | GAUSsian | NYQuist | RNYQuist

<boolean>
<numeric_value>

<numeric_value>

BH3A | BH3B | BH4A | BH4B | BLACkman

| HAMMing | HANNing | PARZen | ROSEnfield
| WELCh | SLOBe | SCUBed | STO4 | FLATtop

| RECT
<numeric_value>

OFF | CHPower | ACPower | OBWidth | EBWidth
| CNRatio | CFRequency

<numeric_value>

<numeric_value>
<numeric_value>
<numeric_value>
<numeric_value>
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[:SENSe]:SPECtrum:AVERage:CLEar

[:SENSe] :SPECtrum:AVERage:CLEar

SANORMAL, SASGRAM

:SENSe:SPECtrum:AVERage:CLEar

[:SENSe]:SPECtrum:AVERage:COUN{(?)

[:SENSe] : SPECtrum:AVERage:COUNt <value>

[:SENSe] : SPECtrum:AVERage:COUNt?

<value>::=<NR1> —
1 10000 20

SANORMAL, SASGRAM

64

:SENSe:SPECtrum:AVERage:COUNt 64
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:SENSe

[:SENSe]:SPECtrum:AVERage[:STATe](?)

[:SENSe] : SPECtrum:AVERage[:STATe] { OFF | ON | 0 | 1 }

[:SENSe] :SPECtrum:AVERage[:STATe]?

OFF 0—

ON 1—

SANORMAL, SASGRAM

:SENSe:SPECtrum:AVERage:STATe ON

[:SENSe]:SPECtrum:AVERage:TYPE(?)

[:SENSe] : SPECtrum:AVERage:TYPE { RMS | MAXimum | MINimum }

[:SENSe] : SPECtrum:AVERage:TYPE?

RMS — RMS
MAXimum —

MINimum —
SANORMAL, SASGRAM

RMS

:SENSe:SPECtrum:AVERage:TYPE RMS
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[:SENSe]:SPECtrum:BANDwidth|:BWIDth[:RESolution](?)

RBW

[:SENSe] : SPECtrum:BANDwidth|:BWIDth[:RESolution] <freg>

[:SENSe] : SPECtrum:BANDwidth|:BWIDth[:RESolution]?

<freg>::=<NRf> — RBW
D D4

SANORMAL, SASGRAM

RBW  80kHz

:SENSe:SPECtrum:BANDwidth:RESoTution 80kHz

[:SENSe]:SPECtrum:BANDwidth|:BWIDth[:RESolution]:AUTO(?)

[:SENSe] : SPECtrum:BANDwidth|:BWIDth[:RESolution] :AUTO { OFF | ON
|01}

[:SENSe] : SPECtrum:BANDwidth|:BWIDth[:RESolution] :AUTO?

OFF 0—
[:SENSe] : SPECtrum:BANDwidth|:BWIDth[:RESolution]

ON 1—

SANORMAL, SASGRAM

:SENSe:SPECtrum:BANDwidth:RESoTution:AUTO ON

[:SENSe] : SPECtrum:BANDwidth|:BWIDth[:RESolution]
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:SENSe

[:SENSe]:SPECtrum:BANDwidth|:BWIDth:STATe(?)

[:SENSe] : SPECtrum:BANDwidth| :BWIDth:STATe { OFF | ON | O | 1}

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:STATe?

OFF 0—

ON 1—

SANORMAL, SASGRAM

:SENSe:SPECtrum:BANDwidth:STATe ON

[:SENSe]:SPECtrum:BANDwidth|:BWIDth:VIDeo(?) ”
:INSTrument[:SELect] DEMRFID [:SENSe]:RFID
:MEASurement SPURious

[:SENSe] : SPECtrum:BANDwidth| :BWIDth:VIDeo <value>

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:VIDeo?
<value>::=<NRf> —

0 1GHz

DEMRFID

100kHz

:SENSe:SPECtrum:BANDwidth:VIDeo 100kHz

:INSTrument[:SELect], [:SENSe] :RFID:MEASurement
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[:SENSe]:SPECtrum:BANDwidth|:BWIDth:VIDeo:STATe(?)

21

:INSTrument[:SELect] DEMRFID [:SENSe]:RFID
:MEASurement SPURious

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:VIDeo:STATe { OFF | ON | O | 1 }

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:VIDeo:STATe?

OFF 0—

ON 1—

DEMRFID

:SENSe:SPECtrum:BANDwidth:VIDeo:STATe ON

:INSTrument[:SELect], [:SENSe] :RFID:MEASurement

[:SENSe]:SPECtrum:BANDwidth|:BWIDth:VIDeo:SWEep[: TIME](?)

21

:INSTrument[:SELect] DEMRFID [:SENSe]:RFID
:MEASurement SPURious

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:VIDeo:SWEep[:TIMe] <value>

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:VIDeo:SWEep[: TIME]?

<value>::=<NRf> —
0 100s

DEMRFID

100ms

:SENSe:SPECtrum:BANDwidth:VIDeo:SWEep:TIMe 100m

:INSTrument[:SELect], [:SENSe] :RFID:MEASurement
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:SENSe

[:SENSe]:SPECtrum:DETector[:FUNCtion](?)

[:SENSe] : SPECtrum:DETector[:FUNCtion] { NEGative | POSitive | PNEgative }

[:SENSe] : SPECtrum:DETector[:FUNCtion]?

NEGative —
POSitive —

PNEgative —

SANORMAL, SASGRAM

:SENSe:SPECtrum:DETector:FUNCtion PNEgative

[:SENSe]:SPECtrum:FILTer:COEFficient(?)

RBW
RBW Nyquist Root Nyquist

[:SENSe] :SPECtrum:FILTer:COEFficient <value>

[:SENSe] : SPECtrum:FILTer:COEFficient?

<value>::=<NRf> — RBW
0 1 0.5

SANORMAL, SASGRAM

RBW 0.7

:SENSe:SPECtrum:FILTer:COEFficient 0.7

[:SENSe] :SPECtrum:FILTer:TYPE
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[:SENSe]:SPECtrum:FILTer:TYPE(?)
RBW

[:SENSe] :SPECtrum:FILTer:TYPE { RECTangle | GAUSsian | NYQuist
| RNYQuist }

[:SENSe] : SPECtrum:FILTer:TYPE?

2-62:

RECTangle
GAUSsian
NYQuist
RNYQuist

SANORMAL, SASGRAM

:SENSe:SPECtrum:FILTer:TYPE NYQuist

[:SENSe] : SPECtrum:FILTer:COEFficient
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:SENSe

[:SENSe]:SPECtrum:FFT:ERESolution(?)

(Extended Resolution)
FFT

[:SENSe] : SPECtrum: FFT:ERESolution { OFF | ON | 0 | 1 }

[:SENSe] : SPECtrum: FFT:ERESolution?

OFF 0— FFT

ON 1—

FFT [:SENSe]:SPECtrum:FFT:LENGth
SARTIME  SARTIME S/A

:SENSe:SPECtrum:FFT:ERESoTution ON

[:SENSe] : SPECtrum:FFT:LENGth
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[:SENSe]:SPECtrum:FFT:LENGth(?)

FFT
[:SENSe]:SPECtrum:BANDwidth | :.BWIDth:STATe = OFF

[:SENSe] :SPECtrum:FFT:LENGth <value>

[:SENSe] : SPECtrum:FFT:LENGth?
<value>::=<NR1> — FFT 64 65536 (2M)
SANORMAL, SASGRAM

FFT 1024

:SENSe:SPECtrum: FFT:LENGth 1024

[:SENSe] : SPECtrum:BWIDth:STATe, [:SENSe] : SPECtrum: FFT:ERESoTution

[:SENSe]:SPECtrum:FFT:STARt(?)

FFT 1024 FFT

SARTIME S/A

[:SENSe] : SPECtrum:FFT:STARt <value>

[:SENSe] : SPECtrum:FFT:STARt?

<value>::={ 64 | 128 | 256 | 512 | 1024 } —1024 FFT
SARTIME
1024 FFT 256

:SENSe:SPECtrum:FFT:STARt 256
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:SENSe

[:SENSe]:SPECtrum:FFT:WINDow[: TYPE](?)

FFT
[:SENSe]:SPECtrum:BANDwidth | :BWIDth:STATe = OFF

[:SENSe] : SPECtrum:FFT:WINDow[:TYPE] { BH3A | BH3B | BH4A | BH4B
| BLACkman | HAMMing | HANNing | PARZen | ROSenfield | WELCh
| SLOBe | SCUBed | ST4T | FLATtop | RECT }

[:SENSe] : SPECtrum: FFT:WINDow[: TYPE]?
FFT

2-63: FFT

BH3A 3A
BH3B 3B
BH4A 4A
BH4B 4B
BLACkman
HAMMing
HANNing
PARZen Parzen
ROSenfield Rosenfield
WELCh Welch
SLOBe
SCUBed Sine Cubed
ST4T Sine to 4th
FLATtop
RECT

SANORMAL, SASGRAM

:SENSe:SPECtrum:FFT:WINDow: TYPE HAMMing

[:SENSe] : SPECtrum:BANDwidth|:BWIDth:STATe
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[:SENSe]:SPECtrum:FRAMe(?)

Real Time S/A

[:SENSe] : SPECtrum: FRAMe <number>

[:SENSe] : SPECtrum: FRAMe?

<number>::=<NR1> —
—M 0 M [:SENSe]:BSIZe

SARTIME

=5

:SENSe:SPECtrum: FRAMe -5

[:SENSe] :BSIZe, [:SENSe] : SPECtrum:BLOCk
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:SENSe

[:SENSe]:SPECtrum:MEASurement(?)

S/A

[:SENSe] : SPECtrum:MEASurement { OFF | CHPower | ACPower | OBWidth
| EBWidth | CNRatio | CFRequency | SPURious }

[:SENSe] : SPECtrum:MEASurement?

2-64: S/A

OFF
CHPower
ACPower ACPR
OBWidth oBW
EBWidth EBW
CNRatio C/N

CFRequency
SPURious

SANORMAL, SASGRAM, SARTIME

:SENSe:SPECtrum:MEASurement CHPower

2-473



[:SENSe]:SPECtrum:ZOOM:BLOCK(?)

[:SENSe] : SPECtrum:Z0OM:BLOCk <value>

[:SENSe] : SPECtrum:Z0OM:BLOCk?
<value>::=<NR1> —

-M 0 M
SAZRTIME

=5

:SENSe:SPECtrum:Z00M:BLOCk -5
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:SENSe

[:SENSe]:SPECtrum:ZOOM:FREQuency:CENTer(?)

[:SENSe] : SPECtrum:Z00M: FREQuency:CENTer <value>

[:SENSe] : SPECtrum:Z00M: FREQuency:CENTer?

<value>::=<NRf> —

SAZRTIME

1.75GHz

:SENSe:SPECtrum:Z00M: FREQuency:CENTer 1.75GHz

[:SENSe]:SPECtrum:ZOOM:FREQuency:WIDTh(?)

[:SENSe] : SPECtrum:Z0OM: FREQuency:WIDTh <value>

[:SENSe] : SPECtrum:Z00M: FREQuency :WIDTh?

<value>::=<NRf> —

SAZRTIME

500kHz

:SENSe:SPECtrum:Z0OM: FREQuency:WIDTh 500kHz
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[:SENSe]:SPECtrum:ZOOM:LENGth(?)

[:SENSe] : SPECtrum:Z0OM: LENGth <value>

[:SENSe] : SPECtrum:Z00OM: LENGth?
<value>::=<NR1> —
1 [1024x= ]
[:SENSe] :BSIZe

SAZRTIME

1000

:SENSe:SPECtrum:ZOOM: LENGth 1000

[:SENSe] :BSIZe

[:SENSe]:SPECtrum:ZOOM:OFFSet(?)

2-476

[:SENSe] : SPECtrum:Z00M:0FFSet <value>

[:SENSe] : SPECtrum:Z00M:0FFSet?
<value>::=<NR1> —
0 1024 =<
[:SENSe] :BSIZe

SAZRTIME

500

:SENSe:SPECtrum:Z00M:0FFSet 500

[:SENSe] :BSIZe
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:SENSe

[:SENSe]:SPURious

[:SENSe] : SPURious

[SENSe]
:SPURious
[:THResho1d]
:EXCursion <numeric_value>
:IGNore <numeric_value>
:SIGNal <numeric_value>
:SPURious <numeric_value>
1. S/A
:INSTrument[:SELect] { SANORMAL | SASGRAM | SARTIME }
2,
u
:CONFigure:SPECtrum:SPURious
u

[:SENSe] : SPECtrum:MEASurement SPURious
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[:SENSe]:SPURious[:THReshold]:EXCursion(?)

2-24

[:SENSe] :SPURious[:THReshold] :EXCursion <level>

[:SENSe] : SPURious[:THReshold] :EXCursion?

<level>::=<NRf> —
0 30dB 3dB

SANORMAL, SASGRAM, SARTIME

5dB

:SENSe:SPURious:THReshold:EXCursion 5

:SPURIious

:EXCursion

VAIYW e

[:SENSe]:SPURious[:THReshold]

2-24
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:SENSe

[:SENSe]:SPURious[:THReshold]:IGNore(?)
2-24

[:SENSe] :SPURious[:THReshold] : IGNore <value>

[:SENSe] : SPURious[:THResho1d] : IGNore?

<value>::=<NRf> —
0 /2 [Hz]

SANORMAL, SASGRAM, SARTIME

1MHz

:SENSe:SPURious:THReshold:IGNore 1MHz

[:SENSe]:SPURious[:THReshold]:SIGNal(?)
224

[:SENSe] :SPURious[:THResho1d] :SIGNal <level>

[:SENSe] : SPURious[:THResho1d] :SIGNa1?

<level>::=<NR1> —
—100 +30 dBm

SANORMAL, SASGRAM, SARTIME

—30dBm

:SENSe:SPURious:THReshold:SIGNal -30
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[:SENSe]:SPURious[: THReshold]:SPURious(?)
224

[:SENSe] :SPURious[:THReshol1d] :SPURious <level>

[:SENSe] : SPURious[:THResho1d] : SPURious?

<level>::=<NR1> —
-90 -30dB

SANORMAL, SASGRAM, SARTIME

—50dB

:SENSe:SPURious:THReshold:SPURious -50
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:SENSe

[:SENSe]:SSOurce 21

[:SENSe] :SSOurce

:INSTrument[:SELect]
TIMSSOURCE
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2-482

[:SENSe]
:SSQurce
:BLOCk
:CARRier

:BANDwidth| :BWIDth

:INTegration
[:THResho1d]
:TRACking

[:STATe]

:CNRatio
<FFT

:LENGth
:0FFSet
: SBANd
[:THReshold]

:FVTime
:SMOothing
[:THReshold]

[:IMMediate]

:LENGth

:MEASurement

:0FFSet
:PNOIse
:MPJitter
[:THResho1d]
:RJITter
:0FFSet
:STARt
:STOP
[:THReshold]
:0FFSet
:MAXimum
:MINimum
:SPURious
:IGNore
:SFILter
[:STATe]
[:THResho1d]
:EXCursion
:SPURious

<numeric_value>

<numeric_value>
<numeric_value>

<boolean>

<numeric_value>
<numeric_value>
UPPer | LOWer

<numeric_value>

<numeric_value>

<numeric_value>

<numeric_value>
OFF | PNOise | SPURious
| RTPNoise | RTSPurious
<numeric_value>

<numeric_value>

<numeric_value>
<numeric_value>
<numeric_value>
<numeric_value>
<numeric_value>
<numeric_value>

<numeric_value>

<boolean>

<numeric_value>
<numeric_value>
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:SENSe

[:SENSe]:SSOurce:BLOCKk(?)

[:SENSe]:SSOurce:MEASurement  RTPNoise, RTSPurious,
FVTime

[:SENSe] :SSOurce:BLOCk <number>

[:SENSe] :SSOurce:BLOCk?

<number>::=<NR1> — 0
-M 0 M

TIMSSOURCE

=5

:SENSe:SSOurce:BLOCk -5

[:SENSe] : SSOurce:MEASurement

[:SENSe]:SSOurce:CARRier:BANDwidth|:BWIDth:INTegration(?)

[:SENSe]:SSOurce:MEASurement  PNOise RTPNoise
RTSPurious

[:SENSe] : SSOurce:CARRier:BANDwidth|:BWIDth:INTegration <value>

[:SENSe] : SSOurce:CARRier:BANDwidth| :BWIDth:INTegration?

<value>::=<NRf> —
/100 /2 [Hz]

TIMSSOURCE

1MHz

:SENSe:SSQurce:CARRier:BANDwidth:INTegration 1MHz

[:SENSe] :SSOurce:MEASurement
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[:SENSe]:SSOurce:CARRier[:THReshold](?)

[:SENSe]:SSOurce:MEASurement PNOise, SPURious, RTPNoise,
RTSPurious

[:SENSe] :SSOurce:CARRier[:THReshold] <value>

[:SENSe] :SSOurce:CARRier[:THResho1d]?

<value>::=<NRf> —
—100 +30dBm —20dBm

TIMSSOURCE

—10dBm

:SENSe:SSOurce:CARRier:THReshold -10

[:SENSe] :SSOurce:MEASurement
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:SENSe

[:SENSe]:SSOurce:CARRier: TRACKing[:STATe](?)

[:SENSe]:SSOurce:MEASurement ~ SPURious RTSPurious

[:SENSe] :SSOurce:CARRier:TRACking[:STATe] { OFF | ON | O | 1 }

[:SENSe] :SSOurce:CARRier: TRACking[:STATe]?

OFF 0—
ON 1 —
TIMSSOURCE

:SENSe:SSOurce:CARRier:TRACking:STATe ON

[:SENSe] : SSOurce:MEASurement

[:SENSe]:SSOurce:CNRatio:FFT:LENGth(?)

FFT

[:SENSe]:SSOurce:MEASurement ~ RTPNoise

[:SENSe] :SSOurce:CNRatio: FFT:LENGth <value>

[:SENSe] :SSOurce:CNRatio:FFT:LENGth?

<value>::=<NR1> — FFT
64 65536 20 1024

TIMSSOURCE

FFT 2048

:SENSe:SSOQurce:CNRatio:FFT:LENGth 2048
:DISPTay:SSOurce:MVIew: FORMat
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[:SENSe]:SSOurce:CNRatio:OFFSet(?)

C/N
MEAS SETUP C/N Offset Frequency

[:SENSe]:SSOurce:MEASurement ~ RTPNoise

[:SENSe] :SSOurce:CNRatio:0FFSet <value>

[:SENSe] :SSOurce:CNRatio:0FFSet?

<value>::=<NRf>— C/N

TIMSSOURCE

50kHz

:SENSe:SSOurce:CNRatio:0FFSet 50kHz

[:SENSe] :SSOurce:MEASurement

[:SENSe]:SSOurce:CNRatio:SBANd(?)

[:SENSe]:SSOurce:MEASurement  PNOise RTPNoise
RTSPurious

[:SENSe] :SSOurce:CNRatio:SBANd { UPPer | LOWer }

[:SENSe] :SSOurce:CNRatio:SBANdA?

UPPer —
LOWer —

TIMSSOURCE

:SENSe:SSOurce:CNRatio:SBANd UPPer

:DISPTay:SSOurce:MVIew:FORMat
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:SENSe

[:SENSe]:SSOurce:CNRatio[:THReshold](?)

MEAS SETUP C/N Settling Thre-
shold

[:SENSe]:SSOurce:MEASurement ~ RTPNoise

[:SENSe] :SSOurce:CNRatio[:THReshold] <value>

[:SENSe] :SSOurce:CNRatio[:THResho1d]?

<value>::=<NRf> —
=200 0 dBc/Hz

TIMSSOURCE

—20dBc/Hz

:SENSe:SSOurce:CNRatio:THReshold -20

[:SENSe] : SSOurce:MEASurement
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[:SENSe]:SSOurce:FVTime:SMOothing(?)

[:SENSe]:SSOurce:MEASurement ~ FVTime

[:SENSe] :SSOurce:FVTime:SMOothing <value>

[:SENSe] :SSOurce:FVTime:SMOothing?

<value>::=<NRf> —
1 2

TIMSSOURCE

10

:SENSe] : SSOurce:FVTime:SMOothing 10

[:SENSe] :SSOurce:MEASurement

[:SENSe]:SSOurce:FVTime[: THReshold](?)

MEAS SETUP Freq Settling Threshold

[:SENSe]:SSOurce:MEASurement ~ FVTime

[:SENSe] :SSOurce:FVTime[:THReshold] <value>

[:SENSe] :SSOurce:FVTime[:THReshol1d]?

<value>::=<NRf> —
/100 /2 [Hz]

TIMSSOURCE

300kHz

:SENSe:SSOurce:FVTime:THReshold 300kHz

[:SENSe] :SSOurce:MEASurement

2-488 RSA3303A RSA3308A 3GHz 8GHz



:SENSe

[:SENSe]:SSOurce[:IMMediate]

[:SENSe]:SSOurce:MEASurement

[:SENSe] :SSOurce[:IMMediate]

TIMSSOURCE

:SENSe:SSOurce: IMMediate

[:SENSe] : SSOurce:MEASurement
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[:SENSe]:SSOurce:LENGth(?)

[:SENSe]:SSOurce:MEASurement ~ RTPNoise, RTSPurious,
FVTime

[:SENSe]:SSOurce:LENGth?
(1024)

[:SENSe] :SSOurce:LENGth <value>

[:SENSe] :SSOurce: LENGth?

<value>::=<NR1> —

2-65
2-65:
02 1 [1024>=< | [8192—-512=7680]
02
256MB 1 65,534,976 1024 (=64000) — 1024
1 512,000 500 =< 1024
[:SENSe] :BSIZe
TIMSSOURCE
1000

:SENSe:SSOurce:LENGth 1000

[:SENSe] :BSIZe, [:SENSe] :SSOurce:MEASurement
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:SENSe

[:SENSe]:SSOurce:MEASurement(?)

[:SENSe] : SSOurce:MEASurement { OFF | PNOise | SPURious | RTPNoise
| RTSPurious | FVTime }

[:SENSe] : SSOurce:MEASurement?

2-66: S/A

OFF
PNOise
SPURious
RTPNoise
RTSPurious
FVTime

TIMSSOURCE

:SENSe:SSOurce:MEASurement PNQOise
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[:SENSe]:SSOurce:OFFSet(?)

2-492

[:SENSe]:SSOurce:MEASurement
FVTime

RTPNoise, RTSPurious,

[:SENSe]:SSOurce:OFFSet?
©)

[:SENSe] :SSOurce:0FFSet <value>

[:SENSe] :SSOurce:0FFSet?
<value>::=<NR1> —
0 1024 -1
[:SENSe] :BSIZe

TIMSSOURCE

500

:SENSe:SSOurce:0FFSet 500

[:SENSe] :BSIZe, [:SENSe] :SSOurce:MEASurement
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:SENSe

[:SENSe]:SSOurce:PNOise:MPJitter[:-THReshold](?)

(Periodic Jitter)
MEAS SETUP Max Pj Threshold
[:SENSe]:SSOurce:MEASurement  PNOise RTPNoise

[:SENSe] :SSOurce:PNOise:MPJitter[:THReshold] <value>

[:SENSe] :SSOurce:PNOise:MPJitter[:THResho1d]?

<value>::=<NRf> —
1 50dB 10dB

TIMSSOURCE

20dB

:SENSe:SSOurce:PNOise:MPJitter:THReshold 20

[:SENSe] :SSOurce:MEASurement
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[:SENSe]:SSOurce:PNOise:RJITter:OFFSet:STARt(?)

MEAS SETUP Rj Start
Offset Frequency

[:SENSe]:SSOurce:MEASurement  PNOise RTPNoise

[:SENSe] :SSOurce:PNOise:RJITter:0FFSet:STARt <value>

[:SENSe] :SSOurce:PNOise:RJITter:0FFSet:STARt?

<value>::=<NRf>—

10Hz

[:SENSe]:SSOurce:PNOise:RJITter:OFFSet:STOP

TIMSSOURCE

10kHz

:SENSe:SSOurce:PNOise:RJITter:0FFSet:STARt 10kHz

[:SENSe] :SSOurce:MEASurement, [:SENSe] :SSOurce:PNOise:RJITter:0FFSet:STOP

2-494 RSA3303A RSA3308A 3GHz 8GHz



:SENSe

[:SENSe]:SSOurce:PNOise:RJITter:OFFSet:STOP(?)

MEAS SETUP Rj Stop
Offset Frequency

[:SENSe]:SSOurce:MEASurement ~ PNOise RTPNoise

[:SENSe] :SSOurce:PNOise:RJITter:0FFSet:STOP <value>

[:SENSe] :SSOurce:PNOise:RJITter:0FFSet:STOP?

<value>::=<NRf>—

100MHz
[:SENSe]:SSOurce:PNOise:RJITter:OFFSet:STARt
TIMSSOURCE

1MHz

:SENSe:SSOurce:PNOise:RIITter:0FFSet:STOP 1MHz

[:SENSe] :SSOurce:MEASurement , [:SENSe] :SSOurce:PNOise:RJITter:0FFSet:STARt
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[:SENSe]:SSOurce:PNOise:RJITter[:THReshold](?)

2-496

MEAS SETUP
tling Threshold

[:SENSe]:SSOurce:MEASurement ~ RTPNoise

[:SENSe] :SSOurce:PNOise:RJITter[:THReshold] <value>

[:SENSe] :SSOurce:PNOise:RJITter[:THReshold]?

<value>::=<NRf> —
0 1s 0Os

TIMSSOURCE

0.2ps

:SENSe:SSQurce:PNOise:RJITter: THReshold 0.2ps

[:SENSe] :SSOurce:MEASurement

RSA3303A RSA3308A 3GHz 8GHz
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:SENSe

[:SENSe]:SSOurce:PNOise:OFFSet:MAXimum(?)

MEAS SETUP
Maximum Offset Frequency

[:SENSe]:SSOurce:MEASurement  PNOise

[:SENSe] :SSOurce:PNOise:0FFSet :MAXimum <value>

[:SENSe] :SSOurce:PNOise:0FFSet :MAXimum?

<value>::=<NRf>—

100Hz 1kHz 10kHz 100kHz 1MHz 10MHz 100MHz
100MHz

TIMSSOURCE

1MHz

:SENSe:SSOurce:PNOise:0FFSet :MAXimum 1MHz

[:SENSe] : SSOurce:MEASurement, [:SENSe] :SSOurce:PNOise:0FFSet :MINimum
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[:SENSe]:SSOurce:PNOise:OFFSet:MINimum(?)

2-498

MEAS SETUP
Minimum Offset Frequency

[:SENSe]:SSOurce:MEASurement ~ PNOise

[:SENSe] :SSOurce:PNOise:0FFSet:MINimum <value>

[:SENSe] :SSOurce:PNOise:0FFSet :MINimum?

<value>::=<NRf>—

10Hz 100Hz 1kHz 10kHz 100kHz 1MHz 10MHz
10Hz

TIMSSOURCE

10kHz

:SENSe:SSOurce:PNOise:0FFSet :MINimum 10kHz

[:SENSe] :SSOurce:MEASurement , [:SENSe] :SSOurce:PNOise:0FFSet :MAXimum
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:SENSe

[:SENSe]:SSOurce:SPURious:IGNore(?)

[:SENSe]:SPURIious[:THReshold]:IGNore
2-479

[:SENSe]:SSOurce:MEASurement ~ SPURious RTSPuri-
ous

[:SENSe] :SSOurce:SPURious:IGNore <value>

[:SENSe] :SSOurce:SPURious:IGNore?

<value>::=<NRf> —
0 /2 [Hz]

TIMSSOURCE

1MHz

:SENSe:SSOurce:SPURious:IGNore 1MHz

[:SENSe] : SSOurce:MEASurement , [:SENSe] :SPURious[:THReshold] : IGNore
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[:SENSe]:SSOurce:SPURious:SFILter[:STATe](?)

[:SENSe]:SSOurce:MEASurement ~ SPURious RTSPuri-
ous

[:SENSe] :SSOurce:SPURious:SFILter[:STATe] { OFF | ON | O | 1}

[:SENSe] :SSOurce:SPURious:SFILter[:STATe]?

OFF 0—
ON 1 —
TIMSSOURCE

:SENSe:SSOurce:SPURious:SFILter:STATe ON

[:SENSe] :SSOurce:MEASurement
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:SENSe

[:SENSe]:SSOurce:SPURious[:THReshold]:EXCursion(?)

[:SENSe]:SPURious[:THReshold]:EXCursion
2-478

[:SENSe]:SSOurce:MEASurement ~ SPURious RTSPuri-
ous

[:SENSe] :SSOurce:SPURious[:THReshold] :EXCursion <level>

[:SENSe] :SSOurce:SPURious[:THReshold] :EXCursion?

<level>::=<NRf> —
0 30dB 3dB

TIMSSOURCE

5dB

:SENSe:SSOurce:SPURious:THReshold:EXCursion 5

[:SENSe] : SSOurce:MEASurement, [:SENSe] : SPURious[:THReshold] :EXCursion
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[:SENSe]:SSOurce:SPURious[:THReshold]:SPURious(?)

2-502

[:SENSe]:SPURious[:THReshold]:SPURious
2-478

[:SENSe]:SSOurce:MEASurement ~ SPURious
ous

[:SENSe] :SSOurce:SPURious [: THResho1d] :SPURious <level>

[:SENSe] :SSOurce:SPURious[: THReshold] : SPURious?

<level>::=<NR1> —
-90 -30dB

TIMSSOURCE

—50 dB

:SENSe:SPURious:THReshold:SPURious =50

RTSPuri-

[:SENSe] :SSOurce:MEASurement, [:SENSe] :SPURious[:THReshold] :SPURious

RSA3303A RSA3308A 3GHz 8GHz



:SENSe

[:SENSe]:TRANSsient

[:SENSe] : TRANsient

1Q
:INSTrument[:SELect]
TIMTRAN
[:SENSe]
:TRANsient
:BLOCk <numeric_value>
[:IMMediate]
:ITEM IQVTime | PVTime | FVTime
:LENGth <numeric_value>
:0FFSet <numeric_value>
:OFFSet
:BLOCk ¢
<— :LENGth —
N
dBm
10
dB
fdiv
-100
dBrn
Timing:
Start: -51.2 ms Scale: 5.12 ms/div
[:SENSe]: TRANsient
2-25

2-503



[:SENSe]: TRANsient:BLOCK(?)

[:S